



# **YOBE STATE GOVERNMENT**

## **REPORT OF BASELINE MAPPING EXERCISE**

**FOR**

**PRIMARY AND GOVERNMENT DAY JUNIOR SECONDARY SCHOOL (GDJSS)**

**IN YOBE STATE**

**PREPARED BY:**

**MINISTRY OF BASIC AND SECONDARY EDUCATION**

**AND**

**STATE UNIVERSAL BASIC EDUCATION BOARD**

**February 2025**

## TABLE OF CONTENT

Foreword.....	2
Acknowledgement.....	3
Executive Summary.....	4
<b>1.0 Introduction.....</b>	<b>5</b>
<b>1.1 Background.....</b>	<b>6</b>
<b>1.2 Objectives.....</b>	<b>6</b>
<b>1.3 Scope of Mapping.....</b>	<b>7</b>
<b>1.4 Methodology.....</b>	<b>7</b>
<b>2.0 Situation Analysis.....</b>	<b>7</b>
<b>2.1 Enrolment.....</b>	<b>7</b>
<b>2.2 Teachers Distribution.....</b>	<b>9</b>
<b>2.3 Teacher Pupil Ratio.....</b>	<b>10</b>
<b>3.0 Recruitment/ Deployment Plan and Costing .....</b>	<b>11</b>
<b>3.1 Recruitment plan.....</b>	<b>11</b>
<b>3.2 Baseline findings .....</b>	<b>11</b>
<b>3.3 Multi Year costed teachers recruitment plan .....</b>	<b>13</b>
<b>3.4 Summary of findings.....</b>	<b>12</b>
<b>3.5 Deployment plan .....</b>	<b>26</b>
<b>4.0 Recommendation .....</b>	<b>20</b>
<b>5.0 Conclusion .....</b>	<b>25</b>
<b>Appendixes:</b>	
<b>Appendix 1: Baseline survey form .....</b>	<b>29</b>
<b>Appendix 2: Baseline survey form School enrolment Data.....</b>	<b>30</b>
<b>Appendix 3: Baseline survey form Staff Bio Data .....</b>	<b>31</b>
<b>Appendix 4: Staffing gap recruitment by ECCDE, Primary and Special schools...32</b>	
<b>Appendix 5: Staffing gap recruitment by Junior Secondary school .....</b>	<b>78</b>
<b>Appendix 6: Estimated Retirement by Primary and Junior Secondary Schools.....</b>	<b>89</b>

## **FOREWORD**

The primary, junior and secondary education system is the cornerstone of any nation's human capital development, serving as the foundation for knowledge, skills, and character formation among young people. In Yobe State, the primary, junior and secondary education system plays a pivotal role in delivering quality learning opportunities to our communities, particularly in rural areas where access to education is often limited. However, the system's effectiveness heavily depends on the availability, distribution, and competency of teachers and learning resources.

Recognizing this, the Yobe State Government, in collaboration with the Yobe State Ministry of Basic and Secondary Education and the State Universal Basic Education Board (SUBEB), embarked on a comprehensive baseline mapping exercise to assess the current state of our junior education workforce and enrolment and deployment, in line with the requirements of the Human Capital Opportunities for Prosperity and Equity: Governance (HOPE-GOV) program.

This report presents the findings of baseline exercise, highlighting the gaps in human resources and enrolment across our schools, while providing a roadmap for addressing these challenges. The data collected will serve as a critical foundation for future planning, recruitment, training, and deployment of teachers, as well as resource allocation, ensuring that every child in Yobe State has access to quality education.

We extend our gratitude to all stakeholders who contributed to this exercise, including Local Government Education Authorities, teachers, school administrators, and technical partners. Their dedication and commitment have been instrumental in the successful completion of this mapping exercise. We are confident that the recommendations outlined in this report will guide us in strengthening our education system and improving learning outcomes for all students of the State.



---

**PROF. ABBA IDRIS ADAM**  
**Hon. Commissioner,**  
**Ministry of Basic and Secondary Education**

## **Acknowledgement**

The successful completion of this baseline mapping exercise would not have been possible without the collective efforts of numerous individuals and organizations. We would like to extend our heartfelt appreciation to the Executive Governor of Yobe State His Excellency, Hon. (Dr) Mai Mala Buni, CON for his unwavering support and commitment to improving the education sector in the State. Special thanks go to the leadership and staff of the Yobe State Ministry of Basic and Secondary Education and the State Universal Basic Education Board (SUBEB) for their leadership and coordination throughout this exercise.

We are deeply grateful to the Local Government Education Authorities, school administrators, teachers, and education officers who provided valuable data and insights during the mapping exercise. Their cooperation and dedication were essential in ensuring the accuracy and comprehensiveness of this report. Specifically, the success of this baseline mapping exercise would not be possible without generous technical and financial support of LAFIYA UK-FCDO.

We also acknowledged the technical support provided by Nigeria's Human Capital Opportunities for Prosperity and Equity-Governance (HOPE-GOV) steering committee, which coordinated the execution of this exercise. Their expertise and guidance were invaluable in the data collection, analysis, and reporting phases.

Finally, we would like to thank the members of the Baseline Mapping Technical Working Group for their tireless efforts in ensuring the success of this exercise. Their contributions have been instrumental in producing a report that will serve as a critical tool for improving the primary and junior education system in the State.



---

**UMARU HASSAN BABAYO**  
**Executive Chairman,**  
**State Universal Basic Education Board.**

## **Executive Summary**

This report outlines the outcomes of a baseline mapping exercise conducted to assess the current number of basic education teachers across the State. It also presents a comprehensive, multi-year, costed plan for recruiting and deploying additional teachers to address existing shortages and improve the overall quality of education.

The primary objective of the baseline assessment was to generate accurate data that highlights disparities in teacher distribution particularly between urban and rural areas and to identify critical subject areas experiencing acute shortages, notably Mathematics, Science, and English. These imbalances have significantly hindered the delivery of quality education, especially in remote and conflict-affected regions.

Key findings from the exercise indicate that the State operates 1,183 government-owned primary and junior secondary schools across its 17 Local Government Areas (LGAs). The total teaching workforce, encompassing Early Childhood Care Development and Education (ECCDE), primary, and junior secondary levels, stands at 9,413. However, with a total student enrolment of 840,790, the State requires approximately 21,020 teachers to meet the standard teacher-pupil ratio. This reveals a shortfall of 11,607 teachers. Factoring in a projected 2% annual population growth over the next four years, the teacher gap is expected to widen further to 12,893 by 2029.

Bridging this gap will demand substantial financial investment. The estimated annual costs including one-time recruitment and deployment expenses are projected at ₦4.08 billion in 2025, followed by ₦3.17 billion annually from 2026 through 2028.

The findings underscore the urgent need for strategic intervention to ensure optimal performance within the education sector. It is therefore recommended that the State significantly increase its budgetary allocation to basic education, prioritizing the recruitment and equitable deployment of qualified teachers to address the pressing human resource deficits.

## **1.0 Introduction**

The education sector in Yobe State, like many other States of the Federation, faces significant challenges in providing equitable access to quality education. A critical element of ensuring quality education is the availability and effective deployment of qualified teachers across schools in the state. However, the shortage and uneven distribution of teachers, particularly in rural and conflict-affected areas, has hampered efforts to improve the education system. Addressing this challenge, requires a comprehensive understanding of the current teacher workforce, including their distribution, and the specific areas where teacher shortages are most pronounced.

This report present the findings of a baseline mapping exercise that aimed to outline the number of basic education teachers across the State. The mapping serves as a critical foundation for the development of a robust, multi-year costed recruitment and deployment plan.

The need for such a plan arises from the persistent challenges in the recruitment and equitable distribution of teachers in the State. Despite the concerted efforts to improve the education sector, there remains a wide gap in the availability of qualified teachers, particularly in the Rural areas, as well as schools in conflict-affected areas, often experience the most severe shortages, with limited access to professional development opportunities for teachers.

### **The objectives of this report are:**

- (1) To present the findings from the baseline mapping exercise on teacher.
- (2) To propose a multi-year recruitment and deployment strategy aimed at addressing teacher shortages, ensuring equitable distribution, and improving the overall quality of education in Yobe State. The recruitment plan not only focuses on increasing the number of teachers but also emphasizes the importance of strategic deployment in areas where the need is most critical. The plan also outlines the associated costs, including salaries, incentives, and professional development initiatives, this is to ensure that the recruitment and deployment process is sustainable and effective.

By implementing the recommendations contained in this report, Yobe State will be better positioned to address its educational challenges, improve teacher quality, and ensure that every child has access to well-trained educators, regardless of their location or socio-economic status.

### **1.1 Background**

Management of human resources for education has been one of the major challenges facing the education sector, especially at the primary, junior, and secondary school levels. Critical gaps in the teaching workforce and maldistribution of teachers often constitute a cog in the wheel of effective and efficient education service delivery. The fragmented nature of management and political interference also form part of the bottlenecks to addressing these challenges. In Yobe State, the case is not different, as the school system is plagued with the aforementioned issues.

To address the human resources challenges in the education sector, the Nigeria Human Capital Opportunities for Prosperity and Equity-Governance (HOPE-GOV) required the Yobe State Government to conduct a baseline mapping exercise for teachers and education staff, in order to generate credible data upon which further recruitment, deployment, and workforce planning will be based on the effective education service delivery.

### **1.2 Objectives of the Baseline Mapping Exercise**

The objectives of the baseline mapping exercise are to:

- i. Ascertain the total number of teachers in primary and junior secondary schools across the State to provide us the clear picture of gaps in the state.
- ii. Redeployment of the available teachers in the State.
- iii. Develop recruitment, training, and deployment strategy and plan for teachers in the State.

### **1.3 Scope of the Baseline Mapping Exercise**

This mapping only considered the workforce in government-owned primary and junior secondary schools in the State.

## 1.4 Methodology

The methodology outlined here ensures a comprehensive and data-driven approach to developing a multi-year costed recruitment and deployment plan for basic education teachers in the State. This can be achieved by gathering relevant data, analyzing it rigorously, and engaging key stakeholders. This process aims to address the current gaps in teacher deployment, optimize recruitment, and ensure that the educational needs of Yobe State's students are met effectively and sustainably.

## 2.0 SITUATIONAL ANALYSIS

Yobe State continues to make systematic efforts to strengthen its basic education system despite persistent challenges related to insecurity, population displacement, limited infrastructure, and teacher shortages. This situational analysis provides an overview of the current status of basic education in the state, highlighting key achievements, constraints, and areas requiring urgent intervention. The analysis is based on available administrative data, sector reports, and field observations conducted during the baseline assessment.

### 2.1 Enrolment

**Table 01: Enrolment Figures of pre – primary (Public) schools (ECCDE)**

CLASS/CATEGORY	ENROLMENTS			PERCENTAGE		
	MALE	FEMALE	TOTAL	MALE	FEMALE	TOTAL
PLAYGROUP	802	864	1,666	48.14%	51.86%	100.00%
NURSERY ONE	5,351	6,051	11,402	46.93%	53.07%	100.00%
NURSERY TWO	5,250	5,485	10,735	48.91%	51.09%	100.00%
NURSERY THREE	2,217	1,768	3,985	55.63%	44.37%	100.00%
<b>TOTAL</b>	<b>13,620</b>	<b>14,168</b>	<b>27,788</b>	<b>49.01%</b>	<b>50.99%</b>	<b>100.00%</b>

Enrolment across early childhood classes shows a generally balanced gender distribution, with a slight female majority overall (50.99%). Nursery One and Nursery Two have the highest enrolments, driven largely by strong female participation, while Nursery Three records the lowest enrolment and is the only level where males outnumber females. Playgroups also show near parity, indicating good early access for both boys and girls. Overall, the pattern reflects healthy gender balance with minor variations across the different class categories.

**Table 02: Public Primary School Enrolment by Class and Gender**

CLASS/CATEGORY	ENROLMENTS			PERCENTAGE		
	MALE	FEMALE	TOTAL	MALE	FEMALE	TOTAL
PRIMARY 1	54,568	53,302	107,870	50.59%	49.41%	100.00%
PRIMARY 2	55,123	52,774	107,897	51.09	48.91%	100.00%
PRIMARY 3	56,609	53,907	110,516	51.22%	48.78%	100.00%
PRIMARY 4	52,394	50,330	102,724	51.00	49.00%	100.00%
PRIMARY 5	50,754	51,106	101,860	49.83%	50.17%	100.00%
PRIMARY 6	66,962	67,458	134,420	49.82%	50.18%	100.00%
<b>TOTAL</b>	<b>336,410</b>	<b>328,877</b>	<b>665,287</b>	<b>50.57%</b>	<b>49.43%</b>	<b>100.00%</b>

The total enrolment of public primary schools stood at 665,287 of which 328,877 are females, representing 49.43% of the enrolment while males representing 50.57%.

**Table 03: Public Junior Secondary Enrolments**

CLASS/CATEGORY	ENROLMENTS			PERCENTAGE		
	MALE	FEMALE	TOTAL	MALE	FEMALE	TOTAL
JSS 1	24,253	27,827	52,080	46.57%	53.43%	100.00%
JSS 2	24,814	23,109	47,923	51.78%	48.22%	100.00%
JSS 3	24,514	23,198	47,712	51.38%	48.62%	100.00%
<b>TOTAL</b>	<b>73,581</b>	<b>74,134</b>	<b>147,715</b>	<b>49.81%</b>	<b>50.19%</b>	<b>100.00%</b>

The total enrolment of public junior secondary schools stood at 147,715 out of which 74,134 are females, representing 50.38% of the enrolment, while 73,581 are male representing 49.62%

**Table 04: Enrolment of Special Needs Children in Special School**

Level of education	Public		Private	
	No. of schools	Enrolments	No. of schools	Enrolments
ECCDE	1	135	0	0
PRIMARY	5	3,897	0	0
JSS	0	59	0	0
<b>Total</b>	<b>6</b>	<b>4,091</b>	<b>0</b>	<b>0</b>

Enrolment data for special needs children shows that all 4,091 learners are served exclusively by six public special schools, one ECCDE centre with 135 learners, five primary schools with 3,897 learners

## 2.2 Teachers Distribution

**Table 05: Teachers Distribution by Local Government Area (LGA)**

LGEA	PRIMARY						JSS					
	Urban			Rural			Urban			Rural		
	No. of schools	Male	Female	No. of schools	Male	Female	No. of schools	Male	Female	No. of schools	Male	Female
BADE	11	159	236	42	138	26	5	66	21	7	69	10
BURSARI	1	14	11	66	212	48	7	89	91	7	54	7
DAMATURU	21	179	308	20	43	15	2	11	9	2	8	4
FIKA	6	96	38	116	382	165	3	25	8	10	90	19
FUNE	9	90	81	84	297	32	1	10	3	7	46	2
GEIDAM	2	5	1	29	71	13	1	10	3	2	12	2
GUJBA	3	13	19	25	153	111	2	27	5	5	33	9
GULANI	3	25	15	56	222	55	8	103	51	7	58	5
JAKUSKO	3	26	14	84	266	180	10	102	59	6	53	2
KARASUWA	30	194	203	46	92	54	1	3	2	4	32	7
MACHINA	26	474	514	28	94	57	1	7	0	3	5	0
NANGERE	2	8	2	77	320	164	1	26	2	8	81	13
NGURU	7	51	46	28	67	7	5	56	21	4	12	2
POTISKUM	11	159	236	33	487	254	7	89	91	7	112	40
TARUWA	1	14	11	32	77	15	2	11	9	4	11	0
YUNUSARI	21	179	308	39	112	58	3	25	8	5	32	1
YUSUFARI	6	96	38	63	171	36	1	10	3	4	16	0
<b>TOTAL</b>	<b>163</b>	<b>1782</b>	<b>2081</b>	<b>868</b>	<b>3204</b>	<b>1290</b>	<b>60</b>	<b>670</b>	<b>386</b>	<b>92</b>	<b>724</b>	<b>123</b>

The distribution of teachers across LGAs shows a clear pattern of higher staffing concentrations in rural primary schools, reflecting the wider number of rural schools compared to urban areas. Across primary education, rural schools collectively host far more teachers (3,204 males and 1,290 females) than urban schools (1,782 males and 2,081 females), although female teachers are more concentrated in urban settings. In JSS, staffing levels are generally much lower, with only 60 urban and 92 rural schools, and both male and female teachers remain limited across most LGAs. Urban JSS schools have 670 males and 386 females, while rural JSS schools have 724 males and only 123 females, indicating a significant gender disparity in rural postings. Overall, the data highlights persistent staffing imbalances between urban and rural locations, with rural areas facing shortages of female teachers and several LGAs showing very low JSS staffing levels.

## 2.3 Teacher Pupil Ratio by levels

**Table 06: Teacher Pupil Ratio by levels**

YEAR	ECCDE (PUBLIC)			PRIMARY (PUBLIC)			JUNIOR SECONDARY SCHOOL		
	Pupils Enrolment	NO. of Teachers	Teacher – pupil's ratio	Pupils Enrolment	NO. of Teachers	Teacher – pupils' ratio	Pupil Enrolment	NO. of Teachers	Teacher – pupils ratio
2025	27,788	623	1:44	665,287	6,887	1:97	147,715	1,903	1:78

The above table shows the pupil teacher ratio by level. The pupil teacher ratio for ECCDE is 1:44 as against the standard (1:40), this implies that there's need for additional employment of teachers to augment the gap. While for the primary segment, the pupils teacher ratio is 1:97, indicating that there's need for more teachers to be employ in addressing the shortfall. For JSS, 1:78 ratio, thus the urgent need for more teachers to avail. Overall, it can be seen that, there's substantial need for more employment of teachers to curtail the growing number of pupils in the schools as this will improve the quality of basic education aspired for.

**Table 07: Number of Teachers for all levels by gender**

	Teachers		
	M	F	TOTAL
ECCDE	218	405	623
PRIMARY	3,782	3,105	6887
JSS	1,390	513	1903
<b>Total</b>	<b>5,390</b>	<b>4,023</b>	<b>9,413</b>

It can also be seen from the above table that the ECCDE has a total number of 623 teachers/ care givers, out of which 405 are females, representing 65% of the total and 6,887 teachers at the primary level out of which 3,105 are females, representing 45% of the total. While there are 1,903 teachers in JSS out of which 513 are females, representing 27%. In total there are 9,413 teachers in all levels of education in the state.

### 3.0 RECRUITMENT/ DEPLOYMENT PLAN AND COSTING

#### 3.1 Recruitment Plan

The recruitment plan outlines the annual intake of new teachers required to address existing staffing gaps and strengthen service delivery across basic education schools in the state. It provides a structured approach for identifying priority needs, determining the number of teachers to be engaged each year, and ensuring that recruitment is aligned with projected enrolment growth and school-level workforce demands. This plan serves as the foundation for achieving an adequate and well-qualified teaching workforce over the multi-year period

#### 3.2 Baseline Findings:

**Table 8: Available Data**

S/NO	AVAILABLE DATA	
1	<b>Total Number of Learners</b>	<b>840,790</b>
2	<b>Total Number of Teachers</b>	<b>9,413</b>
3	<b>Teacher -learners- ratio</b>	<b>1:89</b>

The available data above shows a total enrolment of 840,790 learners being served by only 9,413 teachers, resulting in a very high teacher learner ratio of 1:89, which is more than double the recommended 1:40 standard and indicates a severe teacher shortage that could negatively affect teaching quality and learning outcomes.

**Table 9: Statutory Standard**

S/NO	STATUTORY STANDARD	
1	<b>Total Number of Learners</b>	<b>840,790</b>
2	<b>Expected number of Teachers</b>	<b>21,020</b>
3	<b>Expected teacher to pupil ratio</b>	<b>1:40</b>

With a statutory standard of a 1:40 teacher–pupil ratio, the state requires 21,020 teachers to effectively serve its 840,790 learners, highlighting the staffing level needed to meet acceptable education service standards.

### **Enrolment Growth (2% Annual Increase)**

With a steady annual growth rate of 2%, learner enrolment is projected to rise from the baseline of 840,790 in 2025 to 857,606 in 2026, 874,758 in 2027, and 892,253 by 2028, reflecting a gradual increase driven by population growth in the State.

**Table 10: Enrolment Projections**

<b>Year</b>	<b>Enrolment</b>
<b>2025 (baseline)</b>	<b>840,790</b>
<b>2026</b>	840,790 × 1.02 = <b>857,606</b>
<b>2027</b>	857,606 × 1.02 = <b>874,758</b>
<b>2028</b>	874,758 × 1.02 = <b>892,253</b>

**Table 11: Staffing Gap Analysis**

<b>Year</b>	<b>Projected Enrolment</b>	<b>Required Teachers (÷40)</b>	<b>Current Teachers</b>	<b>Staffing Gap</b>
<b>2025</b>	840,790	21,020	9,413	<b>-11,607</b>
<b>2026</b>	857,606	21,440	9,413	<b>-12,027</b>
<b>2027</b>	874,758	21,869	9,413	<b>-12,456</b>
<b>2028</b>	892,253	22,306	9,413	<b>-12,893</b>

As enrolment rises from 840,790 in 2025 to 892,253 in 2028, the number of teachers required at the statutory 1:40 ratio increases from 21,020 to 22,306, causing the staffing gap to widen from 11,607 to 12,893 teachers over the four-year period.

## **3.3 Multi-Year Costed Teachers Recruitment plan**

### **Salary Cost per Teacher**

**Total Monthly Gross Salary per Teacher = ₦82,079.58**

**Total Annual Gross Salary per Teacher = ₦984,955.03**

**Table 12: Annual gross salary per year**

<b>Year</b>	<b>Number to be Recruited</b>	<b>Annual Cost per Teacher (₦)</b>	<b>Total Annual Cost (₦)</b>
<b>2025</b>	3,223	984,955.03	<b>₦3,174,510,061.69</b>
<b>2026</b>	3,223	984,955.03	<b>₦3,174,510,061.69</b>
<b>2027</b>	3,223	984,955.03	<b>₦3,174,510,061.69</b>
<b>2028</b>	3,223	984,955.03	<b>₦3,174,510,061.69</b>

Across the four-year period, the recruitment plan maintains a stable intake of 3,223 teachers annually, with no variation in either numbers or cost. The annual cost per teacher remains constant at ₦984,955.03, resulting in a uniform yearly expenditure of ₦3.17 billion. This consistency reflects a predictable and evenly paced workforce expansion strategy, allowing the state to plan its wage bill and resource allocation with minimal financial fluctuation.

## Multi-Year Costed Teachers Recruitment

Table 13: Costed Teachers Recruitment

Cost Item	Description	Amount PA (₦)			
		2025	2026	2027	2028
<b>No of Teachers to be recruited</b>		<b>3,223</b>	<b>3,223</b>	<b>3,223</b>	<b>3,223</b>
Personnel Cost	Annual Salary and Allowances	3,174,510,062	3,174,510,062	3,174,510,062	3,174,510,062
Recruitment Costs	Advertising, processing, interviews <b>10,000 x 3,223 = 32,230,000</b>	32,230,000	32,230,000	32,230,000	32,230,000
Training Costs	Training materials, logistics, etc. <b>120,000 x 3,223 = 386,240,000</b>	386,760,000	386,760,000	386,760,000	386,760,000
Deployment & Relocation	Travel, accommodation, settling-in <b>150,000 x 3,233 = 483,450,000</b>	483,450,000	483,450,000	483,450,000	483,450,000
Monitoring & Evaluation	Assessing recruitment effectiveness	5,000,000	5,000,000	5,000,000	5,000,000
<b>Total Cost</b>		<b>4,081,950,062</b>	<b>4,081,950,062</b>	<b>4,081,950,062</b>	<b>4,081,950,062</b>

### 3.4 Summary of Findings

The multi-year teacher recruitment plan outlines the financial requirements for recruiting **3,223 teachers annually** from **2025 to 2028** to address staffing shortages in the basic education sector. The plan provides a detailed breakdown of both personnel and operational costs required to support successful recruitment, training, and deployment.

#### 1. Personnel Costs Dominate Total Expenditure

Personnel costs represent the largest share of the recruitment budget. With an annual salary and allowances totaling **₦3.17 billion**, salary obligations account for approximately **78% of the total annual recruitment budget**. This highlights the long-term fiscal implications of expanding the teaching workforce, as these costs become recurrent and increase the state's permanent wage bill.

#### 2. Significant One-Off Operational Costs Support Recruitment Quality

In addition to salaries, the plan includes several operational cost categories needed to ensure the effective onboarding of new teachers. These include:

- **Recruitment costs** (advertising, processing, interviews): **₦32.23 million annually**
- **Training costs** (induction, materials, logistics): **₦386.76 million annually**
- **Deployment & relocation costs** (travel, accommodation): **₦483.45 million annually**
- **Monitoring & evaluation**: **₦5 million annually**

These components are essential for ensuring that newly recruited teachers are properly screened, trained, deployed, and monitored during their initial years of service. Collectively, these non-salary components amount to **₦907.44 million per year**, representing around **22% of the total annual cost**.

#### 3. Total Annual and Multi-Year Cost Implications

Each year, the full implementation of the recruitment plan costs **₦4.08 billion**, which remains constant across the four-year period since the number of teachers recruited each year does not change. Over the four years (2025–2028), the cumulative financial requirement is **₦16.33 billion**.

This cost structure reflects a balanced approach that not only covers salaries but also prioritizes teacher readiness, mobility, and support systems necessary for performance and retention.

#### **4. Long-Term Budgetary Commitments**

Recruiting 3,223 teachers annually implies that by 2028, a total of **12,892 new teachers** will have joined the workforce. Consequently, the state must prepare for a significant and sustained increase in the education wage bill. While the non-salary costs are one-off or periodic, the personnel costs become permanent obligations.

#### **5. Operational Observations**

A minor typographical inconsistency was noted in the deployment cost formula (using “3,233” instead of “3,223”), although the final cost calculation remains accurate. This should be corrected for documentation consistency.

#### **6. Overall Assessment**

The costed recruitment plan is comprehensive and well-aligned with best practices in human resource planning for the education sector. It balances salary commitments with necessary support costs and provides a clear, predictable funding trajectory over four years. However, decision-makers will need to consider the long-term sustainability of the increased wage bill, potential attrition, and alignment with projected enrolment and teacher–learner ratios.

### **3.5 Deployment Plan**

The deployment plan describes the strategy for assigning newly recruited teachers to schools based on established needs, equity considerations, and service delivery priorities. It ensures that personnel are distributed fairly across LGAs, with particular attention to underserved and hard-to-reach communities. The plan aims to promote optimal teacher–pupil ratios, reduce disparities in staffing levels, and support improved learning outcomes by placing teachers where they are most required.

A well-designed **recruitment strategy** to addressing teacher shortages and ensuring that Yobe State's education system is equipped with qualified and capable teachers. This strategy is aligned with the **Baseline Exercise** and the **Multi-Year Costed Recruitment and Deployment Plan** for Basic Education Teachers in the state. Below is a comprehensive recruitment strategy to guide the process:

**a. Identify Teacher Needs and Gaps:** To establish a clear understanding of where the shortages are in terms of both the number of teachers and subject areas.

**b. Design Recruitment Channels:** To use multiple recruitment channels to ensure the widest possible pool of qualified candidates.

**c. Deploy Teachers Based on Need and Equity:** To ensure that Teachers deployed to regions with the highest need, especially underserved and conflict-affected areas.

**d. Community Engagement and Local Involvement:** To ensure that local communities are involved in the recruitment and retention process.

**e. Monitor and Evaluate the Recruitment Process:** To track the progress of the recruitment strategy and make data-driven adjustments where necessary.

In Conclusion, an effective teacher recruitment strategy for Yobe State requires a multi-faceted approach that addresses the state's unique challenges. By implementing a well-coordinated, data-driven, and needs-based recruitment process, the state can ensure that it attracts qualified teachers, particularly for underserved areas, and retains them through incentives, career development opportunities, and enhanced working conditions. Regular monitoring, community engagement, and stakeholder collaboration will help ensure that the Baseline Exercise and Multi-Year Costed Recruitment and Deployment Plan are successful in addressing the teacher shortages and improving the overall quality of education in Yobe State.

### **Monitoring and Evaluation**

Effective tracking of teacher recruitment and deployment is critical to the success of the Baseline Exercise and the Multi-Year Costed Recruitment and Deployment Plan for Basic Education Teachers in Yobe State. This process ensures that all activities related to teacher recruitment, training, deployment, and retention are carried out in alignment with the needs of

the state's education system. Below are the key components and steps for tracking teacher recruitment and deployment.

a. Stakeholder Collaboration: Collaboration among stakeholders is essential for successful tracking of teacher recruitment and deployment. Key stakeholders include:

**1. Ministry of Education:** Ensure that the Ministry is responsible for overseeing and managing the teacher recruitment and deployment process.

**2. Local Government Education Authorities (LGEAs):** Ensure that LGAs are involved in the deployment process and are accountable for reporting on teacher distribution in their respective areas.

**3. School Headteachers:** Work closely with headteachers to gather feedback on teacher performance and deployment adequacy, as they are at the forefront of monitoring teacher effectiveness in schools.

**4. Teachers and Unions:** Teachers and teacher unions can provide feedback on the conditions of recruitment and deployment, which can help improve the retention and morale of teachers.

b. Tracking Teacher Deployment: Once teachers are recruited, their deployment needs to be carefully tracked to ensure they are assigned to the appropriate schools and areas.

**1. Deployment in Targeted Areas:** Monitor the deployment of teachers, especially in rural and underserved areas where teacher shortages are most acute. This can be done by comparing the target teacher distribution by LGA, region, and school type (primary, junior secondary) with the actual deployment data.

**2. Teacher Assignment by Subject Area:** Ensure that teachers are deployed according to their subject expertise. For example, science teachers should be deployed to schools where there is a need for science education, and teachers with expertise in languages should be deployed to language programs. This helps improve the quality of education.

**3. Deployment Timing:** Ensure that teachers are deployed at the right time to avoid delays in the school year. Monitoring the deployment schedule is important to ensure that schools receive adequate staff before the start of the academic year.

**4. Monitoring Deployment Gaps:** Identify gaps in teacher deployment, particularly in regions with a high demand but low supply of teachers. These gaps can be tracked by comparing the current teacher numbers to the estimated teachers.

**C. Setting Up a Robust Monitoring and Tracking Framework:** To track teacher recruitment and deployment effectively, a monitoring and tracking framework must be established. This framework will include the following:

**1. Clear Objectives:** Define specific objectives for recruitment and deployment, such as meeting teacher-to-student ratios, covering subject-specific shortages, and addressing regional disparities in teacher distribution.

**2. Key Performance Indicators (KPIs):** Establish KPIs for monitoring the progress of recruitment, deployment, and retention. KPIs may include:

- Number of teachers recruited vs. Target
- Number of teachers deployed in underserved areas
- Retention rates of recruited teachers
- Training and professional development completion rates
- Teacher-to-student ratios by region and subject area

**3. Data Collection System:** Create a centralized system to collect and store data on teacher recruitment, deployment, qualifications, and other relevant variables. The system could be a **Teacher Management Information System (TMIS)**, where data is regularly updated by the Ministry of Education, Local Government Education Authorities (LGEAs), and schools.

**4. Responsible Stakeholders:** Clearly define the roles of various stakeholders responsible for tracking the data, such as:

- Ministry of Education: Oversee and validate recruitment and deployment data.
- LGEAs: Ensure that teachers are deployed according to the needs of the LGAs.
- School Administrators/Headteachers: Monitor teacher attendance, qualifications, and performance at the school level.

**d. Feedback and Adjustments:** It is important to incorporate feedback mechanisms to adjust the recruitment and deployment plan as needed.

1. **Feedback from Schools:** Regular feedback from schools and headteachers on teacher performance, deployment adequacy, and teacher shortages is essential to track the progress of deployment. Schools can provide insights into whether there are enough teachers or if there are gaps that need to be filled.

2. **Mid-Term Reviews:** Conduct mid-term reviews of the teacher recruitment and deployment plan to assess progress, identify challenges, and adjust the plan accordingly. This could involve revisiting recruitment targets, deployment strategies, and financial projections.

3. **Annual Reports:** Prepare annual reports on the progress of the recruitment and deployment plan, highlighting achievements, challenges, and adjustments made to meet the overall goals.

In conclusion, tracking teacher recruitment and deployment in Yobe State is a dynamic process that requires continuous monitoring, data collection, and collaboration among stakeholders. By systematically tracking the recruitment and deployment process, adjusting strategies as necessary, and ensuring that data is accurate and up-to-date, the state can

#### **4.0 RECOMMENDATIONS**

To address the teachers shortage and improve the quality of education in Yobe State, a well-structured Baseline Exercise and Multi-Year Costed Recruitment and Deployment Plan are essential. Below are key recommendations to ensure the success of this initiative:

1. **Comprehensive Data Collection and Regular Updates:** To Establish a Teacher Management Information System (TMIS) to centralize and track data on teacher numbers, qualifications, subject areas, gender distribution, and deployment. Regular updates should be conducted to ensure that data remains accurate and reflects the latest developments.

Collaborate with the Ministry of Education, Local Government Education Authorities (LGEAs), and schools to ensure that data is consistently collected and updated in real-time. Implement periodic reviews (annually or biannually) to validate and update the data in the system.

**2. Targeted Recruitment and Deployment Strategies:** To Develop targeted recruitment strategies to address specific teacher shortages in rural and underserved areas, particularly in critical subject areas such as mathematics, science, and languages.

Set up recruitment drives in underserved areas, offer incentives (such as housing allowances, transportation support, or rural deployment bonuses) to encourage teachers to work in these regions. Additionally, prioritize recruitment of female teachers to improve gender balance in the workforce.

**3. Phased Teacher Recruitment:** To Implement a phased recruitment approach over the next 3-4 years, aligned with the state's budgetary capacity and the projected teachers demand. This will allow for sustainable recruitment while preventing over recruitment and resource strain.

Break down the recruitment process into annual targets based on projected student enrollment and teacher-to-student ratio targets. Monitor and adjust recruitment strategies annually based on progress, ensuring alignment with financial resources and educational priorities.

**4. Teacher Retention Programs:** To Develop and implement teacher retention programs that include professional development, career progression pathways, and competitive salary structures to ensure long-term sustainability of the teaching workforce.

Introduce continuous professional development programs, such as in-service training, teaching workshops, and mentorship opportunities. Regularly assess and improve teacher compensation packages to make teaching an attractive and sustainable career, particularly in challenging locations.

**5. Improved Teacher Deployment:** To Focus on equitable teacher deployment across the state, with special emphasis on rural areas and regions with high student enrollment but low teacher availability. Ensure that deployment is based on needs assessments in each Local Government Area (LGA).

Carry out annual teacher deployment assessments at the LGA and school levels. Prioritize teacher deployment to schools facing severe shortages and ensure that teachers are assigned according to their subject expertise. Monitor deployment closely to prevent any imbalances in teacher distribution.

**6. Strengthen Stakeholder Collaboration:** To Foster collaboration among key stakeholders, including the Ministry of Education, Local Government Education Authorities (LGEAs), school administrators, teachers' unions, and local communities, to ensure effective implementation of the teacher recruitment and deployment plan.

Set up regular stakeholder meetings and consultations to assess the progress of the recruitment and deployment plan. Encourage feedback from teachers and school headteachers on the challenges they face and adapt the plan accordingly.

**7. Address Financial Constraints:** To Ensure that the costed recruitment and deployment plan is aligned with the state's financial capabilities and budget forecasts over the next 3-4 years. Explore funding sources such as federal education grants, public-private partnerships, and international donors to support recruitment and deployment.

Develop a detailed multi-year budget that includes projected costs for recruitment, teacher salaries, training, and deployment-related infrastructure. Regularly review the budget to

ensure resources are efficiently allocated and identify additional funding opportunities to bridge any gaps.

**8. Focus on Teacher Quality:** To Focus on improving teacher quality by ensuring that recruited teachers meet high standards of professional qualifications, pedagogical skills, and subject knowledge.

Implement pre-service training programs that ensure teachers meet the required qualifications before deployment. Also, include subject-specific training to address gaps in subjects like mathematics and science. Support newly recruited teachers with mentorship programs and ongoing professional development to improve their effectiveness in the classroom.

**9. Enhanced Monitoring and Evaluation:** To Establish a strong monitoring and evaluation (M&E) framework to track the progress of teacher recruitment and deployment, measure outcomes, and ensure that objectives are met according to plan.

Set up performance indicators for recruitment, deployment, and teacher retention, and create an M&E unit within the Ministry of Education to oversee the progress of the recruitment and deployment plan. Conduct regular audits and evaluations to assess the effectiveness of the plan and make necessary adjustments.

**10. Strengthen Infrastructure and Support Systems:** To Invest in teacher support infrastructure, including housing, transportation, and professional networks, particularly in rural or conflict-affected areas, to improve teacher satisfaction and retention.

Develop policies and programs to provide housing and transportation support for teachers deployed in hard-to-reach areas. Establish community networks and teacher support groups to

foster collaboration among teachers and provide a platform for addressing challenges in their teaching environments.

**11. Promote Public Awareness and Advocacy:** To Raise public awareness about the importance of teacher recruitment and retention in improving education quality in Yobe State. Advocacy campaigns can help garner community support for teachers and highlight the need for adequate resources and facilities.

Launch advocacy campaigns targeting local communities, parents, and stakeholders to emphasize the importance of quality education and the role of teachers. Work with media outlets, NGOs, and community leaders to generate support for the recruitment and deployment plans.

**12. Focus on Data-Driven Decision Making:** To Ensure that decisions on teacher recruitment and deployment are data-driven, based on accurate student enrollment projections, teacher availability, and regional needs assessments.

Action: Regularly collect and analyze student enrollment data, teacher distribution data, and teacher performance data to inform recruitment and deployment strategies. Use technology and data analytics tools to track and visualize data trends over time.

In conclusion, Implementing a successful Baseline Exercise and Multi-Year Costed Recruitment and Deployment Plan for Basic Education Teachers in Yobe State requires a collaborative, data-driven approach. By addressing teacher shortages, ensuring equitable deployment, and focusing on teacher quality and retention, Yobe State can improve its educational outcomes and meet the growing needs of its students. The recommendations

above provide a comprehensive roadmap for achieving these goals, ensuring sustainable and effective improvements in the state education system.

## **5.0 CONCLUSION**

The Baseline Mapping Exercise and Multi-Year Costed Recruitment and Deployment Plan for Basic Education Teachers in the state have provided critical insights into the current status of education in the state. The key findings are as follows:

- 1. Teacher Shortages:** The state faces significant shortages of qualified teachers, particularly in rural and underserved areas. Subject-specific shortages are most acute in Mathematics, Science, English, and Technical Education.
- 2. Unequal Distribution:** There is an uneven distribution of teachers across the state, with urban areas often having an over-concentration of educators, while rural areas struggle to attract and retain qualified teachers.
- 3. High Attrition Rates:** Teacher retention remains a challenge due to factors such as low salaries, poor working conditions, and the lack of professional development opportunities.
- 4. Gender Imbalance:** Female representation in the teaching workforce is low, particularly in rural areas, where cultural factors often influence the recruitment of female teachers.
- 5. Deployment Gaps:** While teachers are needed across the state, especially in rural areas, deployment strategies have not been aligned effectively with actual needs, leading to gaps in teacher availability in specific regions and subject areas.

### **Final Thoughts on the Importance of Effective Teacher Recruitment and Deployment**

Effective teacher recruitment and deployment are central to improving the quality of education in the state. Teachers are the cornerstone of educational outcomes, and ensuring

that there are enough well-trained and motivated teachers in the right locations is critical to the success of the education system.

By addressing teacher shortages, deploying teachers according to need, and creating favorable conditions for retention, the state can improve learning outcomes and provide students with the support they need to succeed. Teacher recruitment, however, is not just about filling vacancies it is about ensuring that these educators are qualified, trained, and supported throughout their careers. A strategic, data-driven approach to teacher recruitment and deployment can foster equity, sustainability, and quality in the education system.

Furthermore, gender equity and regional balance in teacher recruitment are essential not only to achieve inclusivity but also to inspire communities to value education and invest in the future of their children. Effective teacher deployment is also crucial in mitigating the effects of rural-urban disparities and ensuring that all children, regardless of where they live, have access to high-quality education.

### **Steps for Implementing the Multi-Year Plan Based on this Baseline Exercise**

To successfully implement the Multi-Year Costed Recruitment and Deployment Plan based on the findings of the Baseline Exercise, the following next steps should be taken:

- 1. Finalize the Recruitment Plan:** Based on the identified teacher shortages and deployment gaps, the recruitment plan should be refined, setting clear annual targets for teacher recruitment and deployment. This plan should be broken down into phased milestones over the next 3-4 years, with a focus on addressing high-need areas and critical subjects.
- 2. Strengthen Stakeholder Engagement:** Collaboration among key stakeholders, such as the Ministry of Education, Local Government Education Authorities (LGEAs), school

administrators, teacher training institutions, and community leaders, is essential. Regular consultation with these stakeholders will ensure that the recruitment plan aligns with local needs and receives the support it requires.

**3. Secure Funding and Resources:** A budgetary framework should be established to support the recruitment and deployment plan. This includes securing funding through state government budgets, federal education grants, donor organizations, and public-private partnerships. Proper resource allocation must be made to ensure that adequate salaries, benefits, training, and infrastructure are in place for teachers.

**4. Develop Teacher Support and Retention Mechanisms:** Alongside recruitment, a strong retention strategy must be put in place. This includes professional development opportunities, career advancement pathways, and improved working conditions to ensure that teachers remain motivated and committed to their roles in the long term.

**5. Deploy Teachers Based on Needs:** The deployment of teachers must be aligned with the findings of the baseline assessment, ensuring that teachers are placed in areas of highest need, particularly in underserved and rural areas. An equitable distribution of teachers, particularly in subject areas that are currently underrepresented, should be prioritized.

**6. Monitor and Evaluate Progress:** Establish a Monitoring and Evaluation (M&E) system to track the progress of recruitment, deployment, and retention efforts. Regular assessments will help identify any challenges, bottlenecks, or gaps in the plan, allowing for timely adjustments to be made.

**7. Strengthen Data Management Systems:** Implement a Teacher Management Information System (TMIS) that tracks recruitment, deployment, and teacher performance. This system will allow for real-time updates, data-driven decision-making, and transparency throughout the recruitment and deployment process.

**8. Public Awareness and Advocacy Campaigns:** Conduct public campaigns to raise awareness about the importance of teacher recruitment and retention, particularly targeting local communities and parents. This will help generate community support and highlight the role of teachers in improving education outcomes.

In conclusion, the Baseline Mapping Exercise and the Multi-Year Costed Recruitment and Deployment Plan provide an essential roadmap for addressing the teacher shortages in the State. By implementing these next steps, the state can ensure that its education system has the qualified, motivated, and equally distributed teachers needed to enhance student learning outcomes and achieve educational equity across all regions. With a strong focus on strategic recruitment, effective deployment, and teacher retention, the state can set a strong foundation for improving its education system for future generations.

## Appendix

### Appendix: 1 Baseline Survey Team

S/N	Team	Role
1.	Executive Chairman SUBEB	Chairman
2.	Board Secretary SUBEB	Co-Chairman
3.	Director Planning Research MOE	Secretary
4.	Director Quality Assurance SUBEB	Member
5.	Director School Services MOE	Member
6.	Director Planning Research SUBEB	Member
7.	Desk Officer HOPE-EDU	Member
8.	Representative, Education Secretary's	Member
9.	Representative, NUT	Member





**Appendix: 4 Staffing Gap, Recruitment /Redeployment Plan for ECCDE, Primary School and Special Schools**

S/N	LGA	NAME OF SCHOOL	PUPIL ENROLMEN	NO. OF TEACHER	PUPIL/TEACHER RATIO	QUALIFIED TEACHERS	NO. OF TEACHERS REQUIRED IN SCHOOL	NO. OF TEACHERS TO BE RECRUITED/ REDEPLOYED	EXPECTED TEACHERS TO RETIRED IN NEXT 4YEARS	BASIC SKILLS	Recruitment/Deployment Plan			
											2025	2026	2027	2028
1	BADE	AISO P.S	178	4	45	4	4	0	1	Classroom Management	0	0	0	0
2	BADE	ALAGARNO FATKE	228	5	46	5	6	1	0	Good Communication	1	0	0	0
3	BADE	ALAGARNO P.S	452	4	113	4	11	7	0	Good Lesson Plan	2	2	1	2
4	BADE	AZAMKURA P.S	360	6	60	6	9	3	1	Classroom Management	1	1	0	1
5	BADE	AZBAK P.S	715	5	143	5	18	13	1	Good Communication	3	3	3	4
6	BADE	BABUJE PRIMARY	5,270	32	165	32	132	100	5	Good Lesson Plan	25	25	25	25
7	BADE	BIZI P.S	581	8	73	8	15	7	0	Classroom Management	2	2	1	2
8	BADE	BUKAR ABBA P.S	175	2	88	2	4	2	1	Good Communication	1	1	0	0
9	BADE	BULABULIN P.S	126	2	63	2	3	1	0	Good Lesson Plan	0	0	0	1
10	BADE	CHIRAWA P.S	157	1	157	1	4	3	0	Classroom Management	0	1	1	1
11	BADE	CUSTOM PS	1050	21	50	21	26	5	2	Good Communication	1	1	2	1
12	BADE	DAGONA P.S	812	10	81	10	20	10	1	Good Lesson Plan	3	3	3	1
13	BADE	DALAH P.S	462	6	77	6	12	6	1	Classroom Management	2	2	2	0
14	BADE	DANGARE P.S	96	2	48	2	2	0	1	Good Communication	0	0	0	0
15	BADE	DAWAYO P.S	510	5	102	5	13	8	0	Good Lesson Plan	2	2	2	2
16	BADE	FULKA P.S	255	3	85	3	6	3	0	Classroom Management	0	1	1	1
17	BADE	GABARWA P.S	246	2	123	2	6	4	1	Good Communication	1	1	1	1
18	BADE	GANKIRE P.S	81	1	81	1	2	1	0	Good Lesson Plan	1	0	0	0

19	BADE	GAPIWA P.S	334	4	84	4	8	4	2	Classroom Management	1	1	1	1
20	BADE	GARIN MANDA P.S	122	2	61	2	3	1	0	Good Communication	0	1	0	0
21	BADE	GWAJA-GWAJA P.S	109	4	27	4	3	-1	0	Good Lesson Plan	-1	0	0	0
22	BADE	GWIO-BOARDING	138	2	69	2	3	1	0	Classroom Management	0	1	0	0
23	BADE	GWIO-DINA P.S	148	1	148	1	4	3	1	Good Communication	1	0	1	1
24	BADE	GWIO-KURA P.S	396	4	99	4	10	6	3	Good Lesson Plan	2	2	2	0
25	BADE	ISLAMIYA P.S	2800	39	72	39	70	31	4	Classroom Management	8	7	8	8
26	BADE	JIGAWA P.S	258	3	86	3	6	3	2	Good Communication	1	1	0	1
27	BADE	JIMAMI P.S	238	2	119	2	6	4	0	Good Lesson Plan	1	1	1	1
28	BADE	KABAYO P.S	145	4	36	4	4	0	0	Classroom Management	0	0	0	0
29	BADE	KATUZU P.S	4,047	34	119	34	101	67	7	Good Communication	16	17	17	17
30	BADE	LAFIYAMI P.S	201	3	67	3	5	2	0	Good Lesson Plan	1	1	0	0
31	BADE	LAMIDO MUSA P.S	2,058	23	89	23	51	28	2	Classroom Management	7	7	7	7
32	BADE	LAMIDO NENNE	160	3	53	3	4	1	1	Good Communication	0	1	0	0
33	BADE	LOW-COSAT P. S.	1,722	26	66	26	43	17	4	Good Lesson Plan	4	4	4	5
34	BADE	MADAMUWA P.S	284	4	71	4	7	3	1	Classroom Management	0	1	1	1
35	BADE	MADUGANARI P.S	100	2	50	2	3	1	0	Good Communication	1	0	0	0
36	BADE	MAI AJI STAFF P.S	252	4	63	4	6	2	0	Good Lesson Plan	1	1	0	0
37	BADE	MAINARI P.S	96	3	32	3	2	-1	1	Classroom Management	0	-1	0	0
38	BADE	MAINIYA P.S	93	2	47	2	2	0	0	Good Communication	0	0	0	0
39	BADE	MAKOSHE P.S	148	2	74	2	4	2	1	Good Lesson Plan	0	0	1	1
40	BADE	MISILLI P.S	142	3	47	3	4	1	1	Classroom Management	0	1	0	0
41	BADE	MURZA P.S	240	4	60	4	6	2	3	Good Communication	0	1	0	1
42	BADE	NEW MEGA P.S	1620	13	125	13	41	28	0	Good Lesson Plan	7	7	7	7
43	BADE	NGELBOWA P.S	105	2	53	2	3	1	0	Classroom Management	1	0	0	0

44	BADE	NGELJABE P.S	168	3	56	3	4	1	0	Good Communication	0	1	0	0
45	BADE	PAGA P.S	485	5	97	5	12	7	1	Good Lesson Plan	2	1	2	2
46	BADE	RAMAT P.S	6,674	41	163	41	167	126	6	Classroom Management	30	32	32	32
47	BADE	SUGUM P.S	501	5	100	5	13	8	1	Good Communication	2	2	2	2
48	BADE	TAGALI P.S	620	7	89	7	16	9	0	Good Lesson Plan	2	2	3	2
49	BADE	TAGAMA P.S	204	4	51	4	5	1	1	Classroom Management	1	0	0	0
50	BADE	TAGAYA P.S	108	2	54	2	3	1	0	Good Communication	0	1	0	0
51	BADE	TAKALKALI P.S	100	2	50	2	3	1	0	Good Lesson Plan	0	0	1	0
52	BADE	TAKIVIRVIR P.S	240	4	60	4	6	2	2	Classroom Management	0	0	1	1
53	BADE	TSANGAYA MODEL	1,456	24	61	24	36	12	2	Good Communication	3	3	3	3
54	BADE	UMAR SULEIMAN P.S	6,894	44	157	44	172	128	10	Good Lesson Plan	32	32	32	32
55	BADE	USUR P.S	1,182	16	74	16	30	14	1	Classroom Management	4	4	2	4
56	BADE	ZANGO 1	2,239	20	112	20	56	36	3	Good Communication	9	9	9	9
57	BADE	ZANGO 2	3,112	25	124	25	78	53	1	Good Lesson Plan	13	13	14	13
58	BURSARI	DAPCHI CENTRAL PRIMARY SCHOOL	1,200	18	67	18	30	12	6	Classroom Management	3	3	3	3
59	BURSARI	DAPCHI II PRIMARY SCHOOL	1,024	12	85	12	26	14	1	Good Communication	4	4	2	4
60	BURSARI	BAYAMARI PRIMARY SCHOOL	1,330	14	95	14	33	19	2	Good Lesson Plan	5	4	5	5
61	BURSARI	KALIYARI PRIMARY SCHOOL	328	7	47	7	8	1	2	Classroom Management	0	0	1	0
62	BURSARI	MASABA PRIMARY SCHOOL	817	8	102	8	20	12	3	Good Communication	3	3	3	3
63	BURSARI	GADINE PRIMARY SCHOOL	443	4	111	4	11	7	3	Good Lesson Plan	1	2	2	2
64	BURSARI	DUMBURI CENTRAL PRIMARY SCHOOL	1,088	7	155	7	27	20	3	Classroom Management	5	5	5	5
65	BURSARI	DUMBURI HAUSARI PRIMARY SCHOOL	234	2	117	2	6	4	0	Good Communication	1	1	1	1
66	BURSARI	GANGAWA PRIMARY SCHOOL	415	3	138	3	10	7	1	Good Lesson Plan	2	2	1	2
67	BURSARI	DASKUM PRIMARY SCHOOL	202	2	101	2	5	3	2	Classroom Management	1	1	0	1
68	BURSARI	TABAWA PRIMARY SCHOOL	199	1	199	1	5	4	0	Good Communication	1	1	1	1

69	BURSARI	DADIGAR PRIMARY SCHOOL	313	3	104	3	8	5	0	Good Lesson Plan	2	1	1	1
70	BURSARI	JAWA PRIMARY SCHOOL	810	5	162	5	20	15	2	Classroom Management	4	3	4	4
71	BURSARI	GARIN ALKALI PRIMARY SCHOOL	377	4	94	4	9	5	1	Good Communication	1	1	2	1
72	BURSARI	TARBUTU PRIMARY SCHOOL	243	3	81	3	6	3	1	Good Lesson Plan	1	1	0	1
73	BURSARI	RINUKUNU PRIMARY SCHOOL	226	2	113	2	6	4	0	Classroom Management	1	1	1	1
74	BURSARI	MARINA PRIMARY SCHOOL	303	4	76	4	8	4	1	Good Communication	1	1	1	1
75	BURSARI	JURGWAYA PRIMARY SCHOOL	70	2	35	2	2	0	3	Good Lesson Plan	0	0	0	0
76	BURSARI	ILLAILA PRIMARY SCHOOL	414	2	207	2	10	8	0	Classroom Management	2	2	2	2
77	BURSARI	GIJIGAIWA PRIMARY SCHOOL	70	2	35	2	2	0	0	Good Communication	0	0	0	0
78	BURSARI	KURNAWA PRIMARY SCHOOL	239	4	60	4	6	2	0	Good Lesson Plan	1	1	0	0
79	BURSARI	ABBARI PRIMARY SCHOOL	82	2	41	2	2	0	0	Classroom Management	0	0	0	0
80	BURSARI	GARUN DOLE PRIMARY SCHOOL	172	3	57	3	4	1	0	Good Communication	0	1	0	0
81	BURSARI	GIRIM PRIMARY SCHOOL	184	4	46	4	5	1	0	Good Lesson Plan	0	0	0	1
82	BURSARI	MASHAYAN GAWO PRIMARY SCHOOL	23	1	23	1	1	0	0	Classroom Management	0	0	0	0
83	BURSARI	KOROMARI PRIMARY SCHOOL	68	1	68	1	2	1	0	Good Communication	1	0	0	0
84	BURSARI	GILBASU PRIMARY SCHOOL	47	1	47	1	1	0	0	Good Lesson Plan	0	0	0	0
85	BURSARI	DAPSO PRIMARY SCHOOL	27	1	27	1	1	0	0	Classroom Management	0	0	0	0
86	BURSARI	GUBA PRIMARY SCHOOL	95	5	19	5	2	-3	1	Good Communication	-1	0	-1	-1
87	BURSARI	SABON GARI PRIMARY SCHOOL	11	1	11	1	0	-1	1	Good Lesson Plan	0	-1	0	0
88	BURSARI	GARIN GANGARAN PRIMARY SCHOOL	43	1	43	1	1	0	0	Classroom Management	0	0	0	0
89	BURSARI	MARARI PRIMARY SCHOOL	145	4	36	4	4	0	0	Good Communication	0	0	0	0
90	BURSARI	DAPCHI NURSERY SCHOOL	136	5	27	5	3	-2	0	Good Lesson Plan	-1	-1		
91	BURSARI	GIRWAN PRIMARY SCHOOL	17	1	17	1	0	-1	0	Classroom Management	0	-1	0	0
92	BURSARI	KUKA JOBI PRIMARY SCHOOL	19	1	19	1	0	-1	0	Good Communication	-1	0	0	0
93	BURSARI	AJIRI PRIMARY SCHOOL	82	4	21	4	2	-2	0	Good Lesson Plan	-1	-1		

94	BURSARI	DALARI PRIMARY SCHOOL	21	1	21	1	1	0	0	Classroom Management	0	0	0	0
95	BURSARI	MAI JIBO PRIMARY SCHOOL	37	1	37	1	1	0	0	Good Communication	0	0	0	0
96	BURSARI	KALGERI PRIMARY SCHOOL	23	1	23	1	1	0	0	Good Lesson Plan	0	0	0	0
97	BURSARI	KIRKIR PRIMARY SCHOOL	157	3	52	3	4	1	1	Classroom Management	0	1	0	0
98	BURSARI	WARODI PRIMARY SCHOOL	163	3	54	3	4	1	0	Good Communication	1	0	0	0
99	BURSARI	DIGA PRIMARY SCHOOL	98	5	20	5	2	-3	0	Good Lesson Plan	-1	-1	0	-1
100	BURSARI	BAYA PRIMARY SCHOOL	62	1	62	1	2	1	0	Classroom Management	0	0	1	0
101	BURSARI	JIBIRTI PRIMARY SCHOOL	20	1	20	1	1	-1	0	Good Communication	-1	0	0	0
102	BURSARI	KAKANDERI PRIMARY SCHOOL	31	1	31	1	1	0	0	Good Lesson Plan	0	0	0	0
103	BURSARI	BURSARI PRIMARY SCHOOL	18	1	18	1	0	-1	0	Classroom Management	0	-1	0	0
104	BURSARI	GARIN ADUWA PRIMARY SCHOOL	18	1	18	1	0	-1	0	Good Communication	0	-1	0	0
105	BURSARI	SHETTIMARI PRIMARY SCHOOL	66	1	66	1	2	1	0	Good Lesson Plan	1	0	0	0
106	BURSARI	METELARI PRIMARY SCHOOL	24	1	24	1	1	0	0	Classroom Management	0	0	0	0
107	BURSARI	MAKINTARI PRIMARY SCHOOL	32	1	32	1	1	0	0	Good Communication	0	0	0	0
108	BURSARI	KUCI-KUCIRI PRIMARY SCHOOL	31	1	31	1	1	0	0	Good Lesson Plan	0	0	0	0
109	BURSARI	LAWANTI PRIMARY SCHOOL	19	2	10	2	0	-2	0	Classroom Management	-1	-1		
110	BURSARI	MALUMTI PRIMARY SCHOOL	35	1	35	1	1	0	0	Good Communication	0	0	0	0
111	BURSARI	DANANI PRIMARY SCHOOL	16	2	8	2	0	-2	0	Good Lesson Plan	-1	-1		
112	BURSARI	TURBAN GIDA PRIMARY SCHOOL	18	1	18	1	0	-1	0	Classroom Management	0	-1	0	0
113	BURSARI	BADEGANA PRIMARY SCHOOL	66	2	33	2	2	0	0	Good Communication	0	0	0	0
114	BURSARI	TELEKO PRIMARY SCHOOL	19	1	19	1	0	-1	0	Good Lesson Plan	-1	0	0	0
115	BURSARI	NGELJABI PRIMARY SCHOOL	10	1	10	1	0	-1	0	Classroom Management	-1	0	0	0
116	BURSARI	MATTI UMARARI PRIMARY SCHOOL	22	1	22	1	1	0	0	Good Communication	0	0	0	0
117	BURSARI	BATAR PRIMARY SCHOOL	78	2	39	2	2	0	0	Good Lesson Plan	0	0	0	0
118	BURSARI	JIDO PRIMARY SCHOOL	14	1	14	1	0	-1	0	Classroom Management	0	0	-1	0

119	BURSARI	AJIDAWARI PRIMARY SCHOOL	17	1	17	1	0	-1	1	Good Communication	0	-1	0	0
120	BURSARI	DAMNAWA PRIMARY SCHOOL	21	2	11	2	1	-1	0	Good Lesson Plan	-1	0	0	0
121	BURSARI	JULLURI PRIMARY SCHOOL	19	1	19	1	0	-1	1	Classroom Management	0	-1	0	0
122	BURSARI	GAMSAWA 1 PRIMARY SCHOOL	20	2	10	2	1	-2	0	Good Communication	-1	-1		
123	BURSARI	GAMSAWA II PRIMARY SCHOOL	99	2	50	2	2	0	0	Good Lesson Plan	0	0	0	0
124	BURSARI	BURURU PRIMARY SCHOOL	70	2	35	2	2	0	0	Classroom Management	0	0	0	0
125	BURSARI	MAJIKAWURI PRIMARY SCHOOL	34	1	34	1	1	0	0	Good Communication	0	0	0	0
126	BURSARI	KANKARE PRIMARY SCHOOL	51	1	51	1	1	0	1	Good Lesson Plan	0	0	0	0
127	BURSARI	DAMAYA PRIMARY SCHOOL	103	4	26	4	3	-1	0	Classroom Management	0	-1	0	0
128	BURSARI	GARIN KABALJU PRIMARY SCHOOL	66	2	33	2	2	0	0	Good Communication	0	0	0	0
129	BURSARI	DANGA KANAMMA PRIMARY SCHOOL	38	1	38	1	1	0	0	Good Lesson Plan	0	0	0	0
130	BURSARI	TULLUWA PRIMARY SCHOOL	77	2	39	2	2	0	0	Classroom Management	0	0	0	0
131	BURSARI	KAGADAMA PRIMARY SCHOOL	60	1	60	1	2	1	0	Good Communication	0	1	0	0
132	BURSARI	DAPCHI CENTRAL PRIMARY SCHOOL	1200	18	67	18	30	12	0	Good Lesson Plan	3	3	3	3
133	BURSARI	DAPCHI II PRIMARY SCHOOL	1024	21	49	21	26	5	0	Classroom Management	1	2	1	1
134	DAMATUR U	BUNDIGARI P/S	8447	32	264	32	211	179	3	Good Lesson Plan	45	44	45	45
135	DAMATUR U	POMPOMMARI P/S	5097	41	124	41	127	86	3	Classroom Management	22	22	22	20
136	DAMATUR U	BUKAR ALI P/S	3159	41	77	41	79	38	2	Good Communication	10	10	10	8
137	DAMATUR U	ALIMARAMI P/S	2133	32	67	32	53	21	8	Good Lesson Plan	5	5	6	5
138	DAMATUR U	W/IBRAHIM P/S	1348	26	52	26	34	8	2	Classroom Management	2	2	2	2
139	DAMATUR U	CENTRAL P/S	6228	67	93	67	156	89	5	Good Communication	23	22	22	22
140	DAMATUR U	NIJWAJI P/S	8771	78	112	78	219	141	9	Good Lesson Plan	35	36	35	35
141	DAMATUR U	M/MUSTAPHA P/S	3793	45	84	45	95	50	2	Classroom Management	13	13	13	11
142	DAMATUR U	BRA BRA P/S	646	8	81	8	16	8	1	Good Communication	2	2	2	2

143	DAMATUR U	MADURI P/S	1230	12	103	12	31	19	1	Good Lesson Plan	4	5	5	5
144	DAMATUR U	BULABULIN P/S	2268	24	95	24	57	33	0	Classroom Management	8	8	9	8
145	DAMATUR U	DON ETEBET P/S	550	8	69	8	14	6	0	Good Communication	2	2	0	2
146	DAMATUR U	MAISANDARI	2100	11	191	11	53	42	0	Good Lesson Plan	9	11	11	11
147	DAMATUR U	S/HASHIMI II	584	9	65	9	15	6	0	Classroom Management	2	0	2	2
148	DAMATUR U	WORKS P/S	315	4	79	4	8	4	0	Good Communication	1	1	1	1
149	DAMATUR U	KALALLAWA P/S	438	6	73	6	11	5	2	Good Lesson Plan	2	1	1	1
150	DAMATUR U	ABBARI P/S	1518	19	80	19	38	19	1	Classroom Management	5	4	5	5
151	DAMATUR U	STATE LOWCOST	672	7	96	7	17	10	1	Good Communication	3	1	3	3
152	DAMATUR U	SINDIR P/S	317	4	79	4	8	4	0	Good Lesson Plan	1	1	1	1
153	DAMATUR U	KASAISA P/S	436	4	109	4	11	7	2	Classroom Management	2	2	1	2
154	DAMATUR U	Y/BAKURA P/S	311	5	62	5	8	3	0	Good Communication	1	1	0	1
155	DAMATUR U	Z/ZAKARIYA P/S	504	8	63	8	13	5	0	Good Lesson Plan	1	2	1	1
156	DAMATUR U	NAYINAWA P/S	5780	32	181	32	145	113	5	Classroom Management	28	28	29	28
157	DAMATUR U	MODEL P/S	650	9	72	9	16	7	0	Good Communication	2	1	2	2
158	DAMATUR U	AL ANSAR P/S	648	10	65	10	16	6	3	Good Lesson Plan	2	0	2	2
159	DAMATUR U	GUNDULKA P/S	89	2	45	2	2	0	0	Classroom Management	0	0	0	0
160	DAMATUR U	DUNGURUM P/S	245	3	82	3	6	3	0	Good Communication	1	0	1	1
161	DAMATUR U	SUMSUMMA P/S	385	4	96	4	10	6	0	Good Lesson Plan	0	2	2	2
162	DAMATUR U	NGABURAWA P/S	290	4	73	4	7	3	0	Classroom Management	0	1	1	1
163	DAMATUR U	DAMAKOSU P/S	224	3	75	3	6	3	1	Good Communication	1	0	1	1
164	DAMATUR U	KUKARETA P/S	566	6	94	6	14	8	0	Good Lesson Plan	2	2	2	2

165	DAMATUR U	RED BRICK P/S	210	3	70	3	5	2	0	Classroom Management	1	0	0	1
166	DAMATUR U	BELE SHUWARI P/S	177	2	89	2	4	2	0	Good Communication	0	1	1	0
167	DAMATUR U	GAMBIR P/S	126	1	126	1	3	2	1	Good Lesson Plan	0	1	0	1
168	DAMATUR U	MURFA BOARDING	40	1	40	1	1	0	0	Classroom Management	0	0	0	0
169	DAMATUR U	MURFA DAY P/S	330	3	110	3	8	5	5	Good Communication	2	1	1	1
170	DAMATUR U	GABAI P/S	495	4	124	4	12	8	0	Good Lesson Plan	2	2	2	2
171	DAMATUR U	FUGURI P/S	149	2	75	2	4	2	0	Classroom Management	1	0	1	0
172	DAMATUR U	M/MATARI P/S	85	1	85	1	2	1	0	Good Communication	1	0	0	0
173	DAMATUR U	WARSALA P/S	24	1	24	1	1	0	0	Good Lesson Plan	0	0	0	0
174	DAMATUR U	DABUGU P/S	19	2	10	2	0	-2	0	Classroom Management	-1	-1		
175	DAMATUR U	FALARIP/S	21	1	21	1	1	0	0	Good Communication	0	0	0	0
176	DAMATUR U	SALARI P/S	32	1	32	1	1	0	0	Good Lesson Plan	0	0	0	0
177	DAMATUR U	DAMYA P/S	22	1	22	1	1	0	0	Classroom Management	0	0	0	0
178	DAMATUR U	MANGARI P/S	14	1	14	1	0	-1	0	Good Communication	0	-1	0	0
179	DAMATUR U	SASAWA P/S	32	2	16	2	1	-1	0	Good Lesson Plan	0	-1	0	0
180	DAMATUR U	SUNGUL BUDUWA P/S	24	1	24	1	1	0	0	Classroom Management	0	0	0	0
181	DAMATUR U	DUSUWA P/S	22	2	11	2	1	-1	0	Good Communication	0	0	-1	0
182	DAMATUR U	MISTIRI P/S	18	1	18	1	0	-1	0	Good Lesson Plan	0	0	-1	0
183	DAMATUR U	KAFITOLWA P/S	26	2	13	2	1	-1	0	Classroom Management	-1	0	0	0
184	DAMATUR U	GIRLS CHILD	307	5	61	5	8	3	7	Good Communication	1	0	1	1
185	DAMATUR U	KABARU P/S	17	2	9	2	0	-2	0	Good Lesson Plan	-1	-1		
186	DAMATUR U	DIKUMARI P/S	860	5	172	5	22	17	1	Classroom Management	4	5	4	4

187	DAMATUR U	HON. MAI MALA BUNI PRIMAY SCHOOL	371	4	93	4	9	5	0	Good Communication	1	1	2	1
188	DAMATUR U	MEGA PRIMARY SCHOOL	1212	18	67	18	30	12	1	Good Lesson Plan	3	3	3	3
189	DAMATUR U	YBC COMMUNITY PRIMARY SCHOOL	366	3	122	3	9	6	0	Classroom Management	0	2	2	2
190	FIKA	FIKA CENTRAL PRIMARY SCHOOL	1666	15	111	15	42	27	4	Good Lesson Plan	7	6	7	7
191	FIKA	MOIMAMA PRIMARY SCHOOL	689	5	138	5	17	12	3	Classroom Management	3	3	3	3
192	FIKA	SABON GARIN FIKA PRIMARY SCHOOL	88	1	88	1	2	1	0	Good Communication	0	1	0	0
193	FIKA	ANZE PRIMARY SCHOOL	496	4	124	4	12	8	2	Good Lesson Plan	2	2	2	2
194	FIKA	GASHUA PRIMARY SCHOOL	244	4	61	4	6	2	0	Classroom Management	1	0	0	1
195	FIKA	GUDUWI PRIMARY SCHOOL	217	3	72	3	5	2	0	Good Communication	1	0	1	0
196	FIKA	ZANGAYA PRIMARY SCHOOL	215	2	108	2	5	3	0	Good Lesson Plan	1	0	1	1
197	FIKA	MAIDUWA PRIMARY SCHOOL	273	3	91	3	7	4	2	Classroom Management	1	1	1	1
198	FIKA	ZAMBA PRIMARY SCHOOL	210	2	105	2	5	3	1	Good Communication	1	1	0	1
199	FIKA	FOKKITOK PRIMARY SCHOOL	168	3	56	3	4	1	0	Good Lesson Plan	1	0	0	0
200	FIKA	MUNCHIKA PRIMARY SCHOOL	307	4	77	4	8	4	2	Classroom Management	1	1	1	1
201	FIKA	NAHUTA GALAMO PRIMARY SCHOOL	280	4	70	4	7	3	0	Good Communication	0	1	1	1
202	FIKA	GADAKA CENTRAL PRIMARY SCHOOL	2394	32	75	32	60	28	8	Good Lesson Plan	7	7	7	7
203	FIKA	SABON LAYI PRIMARY SCHOOL	1629	18	91	18	41	23	8	Classroom Management	6	5	6	6
204	FIKA	SAYO PRIMARY SCHOOL	511	6	85	6	13	7	2	Good Communication	2	2	1	2
205	FIKA	BANALE PRIMARY SCHOOL	299	3	100	3	7	4	3	Good Lesson Plan	1	1	1	1
206	FIKA	TINJA BAZAM PRIMARY SCHOOL	140	4	35	4	4	-1	2	Classroom Management	-1	0	0	0
207	FIKA	GADANA PRIMARY SCHOOL	326	4	82	4	8	4	0	Good Communication	1	1	1	1
208	FIKA	GARIN WAYO PRIMARY SCHOOL	453	6	76	6	11	5	0	Good Lesson Plan	2	1	1	1
209	FIKA	BAKKADA PRIMARY SCHOOL	117	4	29	4	3	-1	0	Classroom Management	-1	0	0	0
210	FIKA	GURDUM NORMADIC	174	3	58	3	4	1	0	Good Communication	0	0	1	0
211	FIKA	BAKADDA NORMADIC	32	1	32	1	1	0	0	Good Lesson Plan	0	0	0	0

212	FIKA	MOI GANGA PRIMARY SCHOOL	1158	22	53	22	29	7	8	Classroom Management	2	1	2	2
213	FIKA	GARIN GOGI PRIMARY SCHOOL	890	10	89	10	22	12	6	Good Communication	3	3	3	3
214	FIKA	GARIN GAMJI PRIMARY SCHOOL	489	6	82	6	12	6	0	Good Lesson Plan	1	1	2	2
215	FIKA	BABAJI MODEL PRIMARY SCHOOL	315	8	39	8	8	0	4	Classroom Management	0	0	0	0
216	FIKA	DADE DINKIRI PRIMARY SCHOOL	254	5	51	5	6	1	0	Good Communication	0	0	0	1
217	FIKA	DK/GARKUWA PRIMARY SCHOOL	212	3	71	3	5	2	0	Good Lesson Plan	1	0	0	1
218	FIKA	SHEMBIRE PRIMARY SCHOOL	575	7	82	7	14	7	4	Classroom Management	2	2	1	2
219	FIKA	DOTTO FARA PRIMARY SCHOOL	152	3	51	3	4	1	0	Good Communication	1	0	0	0
220	FIKA	DOTTO JAH PRIMARY SCHOOL	192	3	64	3	5	2	0	Good Lesson Plan	0	1	0	1
221	FIKA	GUDI PRIMARY SCHOOL	143	3	48	3	4	1	0	Classroom Management	0	1	0	0
222	FIKA	KOYAYA PRIMARY SCHOOL	244	4	61	4	6	2	0	Good Communication	0	0	1	1
223	FIKA	GAMAZO PRIMARY SCHOOL	120	1	120	1	3	2	0	Good Lesson Plan	1	1	0	0
224	FIKA	ZADAWA PRIMARY SCHOOL	682	4	171	4	17	13	1	Classroom Management	3	4	3	3
225	FIKA	KULI PRIMARY SCHOOL	222	5	44	5	6	1	1	Good Communication	0	1	0	0
226	FIKA	BAWAYO PRIMARY SCHOOL	241	4	60	4	6	2	0	Good Lesson Plan	1	0	0	1
227	FIKA	KADI PRIMARY SCHOOL	171	5	34	5	4	-1	2	Classroom Management	0	-1	0	0
228	FIKA	LEWE PRIMARY SCHOOL	196	4	49	4	5	1	0	Good Communication	0	0	1	0
229	FIKA	JOKIRE PRIMARY SCHOOL	264	3	88	3	7	4	1	Good Lesson Plan	1	1	1	1
230	FIKA	GAMARI PRIMARY SCHOOL	279	3	93	3	7	4	0	Classroom Management	1	1	1	1
231	FIKA	GANA PRIMARY SCHOOL	214	4	54	4	5	1	0	Good Communication	0	0	1	0
232	FIKA	FAKALI PRIMARY SCHOOL	230	4	58	4	6	2	1	Good Lesson Plan	0	1	0	1
233	FIKA	NAHUTA GODOWOLI PRIMARY SCHOOL	176	2	88	2	4	2	0	Classroom Management	0	1	1	0
234	FIKA	ZOBO PRIMARY PRIMARY SCHOOL	243	3	81	3	6	3	0	Good Communication	1	0	1	1
235	FIKA	GARIN BALDE PRIMARY SCHOOL	287	4	72	4	7	3	0	Good Lesson Plan	0	1	1	1
236	FIKA	GASHINGE PRIMARY SCHOOL	285	5	57	5	7	2	0	Classroom Management	1	0	0	1

237	FIKA	GARIN GAWU PRIMARY SCHOOL	257	3	86	3	6	3	2	Good Communication	1	1	0	1
238	FIKA	GARIN DAUYA PRIMARY SCHOOL	240	3	80	3	6	3	0	Good Lesson Plan	0	1	1	1
239	FIKA	LAMPO PRIMARY SCHOOL	244	2	122	2	6	4	0	Classroom Management	1	1	1	1
240	FIKA	GARIN WAZIRI PRIMARY SCHOOL	245	2	123	2	6	4	0	Good Communication	1	1	1	1
241	FIKA	DK/SEMO PRIMARY SCHOOL	266	3	89	3	7	4	4	Good Lesson Plan	1	1	1	1
242	FIKA	BABANANA PRIMARY SCHOOL	305	2	153	2	8	6	1	Classroom Management	1	1	2	2
243	FIKA	GARIN ABA PRIMARY SCHOOL	433	4	108	4	11	7	3	Good Communication	2	2	1	2
244	FIKA	FUSAMI PRIMARY SCHOOL	313	4	78	4	8	4	1	Good Lesson Plan	1	1	1	1
245	FIKA	GARIN EJI PRIMARY SCHOOL	263	3	88	3	7	4	0	Classroom Management	1	1	1	1
246	FIKA	GODOWOLIPRIMARY SCHOOL	603	6	101	6	15	9	2	Good Communication	2	2	3	2
247	FIKA	KABANO PRIMARY SCHOOL	244	4	61	4	6	2	0	Good Lesson Plan	1	1	0	0
248	FIKA	BAJIBIR PRIMARY SCHOOL	236	3	79	3	6	3	0	Classroom Management	0	1	1	1
249	FIKA	DIGO PRIMARY SCHOOL	206	2	103	2	5	3	0	Good Communication	1	0	1	1
250	FIKA	BAKUNA PRIMARY SCHOOL	199	1	199	1	5	4	0	Good Lesson Plan	1	1	1	1
251	FIKA	GARIN BURA PRIMARY SCHOOL	208	2	104	2	5	3	0	Classroom Management	0	1	1	1
252	FIKA	DOLE PRIMARY SCHOOL	193	1	193	1	5	4	0	Good Communication	1	1	1	1
253	FIKA	GARIN ALARAMMA PRIMARY SCHOOL	230	2	115	2	6	4	0	Good Lesson Plan	1	1	1	1
254	FIKA	JANGA DOLE PRIMARY SCHOOL	531	6	89	6	13	7	0	Classroom Management	1	2	2	2
255	FIKA	NAYINAWA PRIMARY SCHOOL	370	6	62	6	9	3	0	Good Communication	1	0	1	1
256	FIKA	JANGA SIRI PRIMARY SCHOOL	316	5	63	5	8	3	0	Good Lesson Plan	1	0	1	1
257	FIKA	BOZA PRIMARY SCHOOL	240	4	60	4	6	2	2	Classroom Management	0	0	1	1
258	FIKA	JANJE BULAN PRIMARY SCHOOL	222	6	37	6	6	0	2	Good Communication	0	0	0	0
259	FIKA	SANTALMA PRIMARY SCHOOL	368	5	74	5	9	4	1	Good Lesson Plan	1	1	1	1
260	FIKA	BUNGUM PRIMARY SCHOOL	276	4	69	4	7	3	0	Classroom Management	0	1	1	1
261	FIKA	KURMI PRIMARY SCHOOL	309	6	52	6	8	2	0	Good Communication	1	0	0	1

262	FIKA	DAJIYABU PRIMARY SCHOOL	203	3	68	3	5	2	2	Good Lesson Plan	1	1	0	0
263	FIKA	GASHAKA PRIMARY SCHOOL	1154	18	64	18	29	11	2	Classroom Management	3	2	3	3
264	FIKA	DOGO ABARE PRIMARY SCHOOL	582	7	83	7	15	8	0	Good Communication	2	2	2	2
265	FIKA	KOROFI PRIMARY SCHOOL	195	4	49	4	5	1	1	Good Lesson Plan	1	0	0	0
266	FIKA	DAMAZAI PRIMARY SCHOOL	251	5	50	5	6	1	1	Classroom Management	0	1	0	0
267	FIKA	ZAMANI PRIMARY SCHOOL	215	4	54	4	5	1	1	Good Communication	0	0	1	0
268	FIKA	GARIN USAKU PRIMARY SCHOOL	143	3	48	3	4	1	0	Good Lesson Plan	1	0	0	0
269	FIKA	BULAKOS PRIMARY SCHOOL	45	1	45	1	1	0	0	Classroom Management	0	0	0	0
270	FIKA	BOKOLO PRIMARY SCHOOL	241	3	80	3	6	3	0	Good Communication	0	1	1	1
271	FIKA	GARIN GOTE PRIMARY SCHOOL	154	4	39	4	4	0	0	Good Lesson Plan	0	0	0	0
272	FIKA	GARIN YARIMA PRIMARY SCHOOL	251	3	84	3	6	3	1	Classroom Management	1	1	0	1
273	FIKA	KINAWURCHI PRIMARY SCHOOL	236	3	79	3	6	3	1	Good Communication	1	0	1	1
274	FIKA	GARIN ZOMO PRIMARY SCHOOL	279	2	140	2	7	5	1	Good Lesson Plan	2	1	1	1
275	FIKA	GARIN GABO PRIMARY SCHOOL	180	2	90	2	5	3	7	Classroom Management	0	1	1	1
276	FIKA	DAYA PRIMARY SCHOOL	709	10	71	10	18	8	3	Good Communication	2	2	2	2
277	FIKA	KUKAR GADU PRIMARY SCHOOL	615	9	68	9	15	6	0	Good Lesson Plan	1	2	1	2
278	FIKA	GARIN BUBA PRIMARY SCHOOL	215	7	31	7	5	-2	1	Classroom Management	-1	-1		
279	FIKA	KUKAWA PRIMARY SCHOOL	183	2	92	2	5	3	1	Good Communication	1	0	1	1
280	FIKA	JANGA DAGAUDA PRIMARY SCHOOL	264	6	44	6	7	1	1	Good Lesson Plan	1	0	0	0
281	FIKA	SHINGEN JAMAL PRIMARY SCHOOL	120	2	60	2	3	1	1	Classroom Management	0	1	0	0
282	FIKA	TIKAU NANAI PRIMARY SCHOOL	154	3	51	3	4	1	0	Good Communication	0	0	1	0
283	FIKA	YELWA PRIMARY SCHOOL	107	2	54	2	3	1	0	Good Lesson Plan	1	0	0	0
284	FIKA	JANGA MARO PRIMARY SCHOOL	274	2	137	2	7	5	1	Classroom Management	1	2	1	1
285	FIKA	CHANA PRIMARY SCHOOL	404	5	81	5	10	5	1	Good Communication	1	1	2	1
286	FIKA	SIMINTI PRIMARY SCHOOL	369	7	53	7	9	2	1	Good Lesson Plan	1	0	1	0
287	FIKA	GARIN TANGO PRIMARY SCHOOL	342	4	86	4	9	5	2	Classroom	2	1	1	1

										Management				
288	FIKA	BAINO PRIMARY SCHOOL	240	5	48	5	6	1	1	Good Communication	0	0	1	0
289	FIKA	MALE PRIMARY SCHOOL	264	3	88	3	7	4	0	Good Lesson Plan	1	1	1	1
290	FIKA	DIDIM PRIMARY SCHOOL	234	3	78	3	6	3	2	Classroom Management	1	1	0	1
291	FIKA	ZAYI PRIMARY SCHOOL	308	4	77	4	8	4	0	Good Communication	1	1	1	1
292	FIKA	BURAMO PRIMARY SCHOOL	249	2	125	2	6	4	1	Good Lesson Plan	1	1	1	1
293	FIKA	NGALDA PRIMARY SCHOOL	2460	14	176	14	62	48	4	Classroom Management	12	12	12	12
294	FIKA	DUMBULWA PRIMARY SCHOOL	666	5	133	5	17	12	0	Good Communication	3	3	3	3
295	FIKA	TADANGARA PRIMARY SCHOOL	456	4	114	4	11	7	0	Good Lesson Plan	2	2	1	2
296	FIKA	GARIN CHINDO PRIMARY SCHOOL	286	3	95	3	7	4	0	Classroom Management	1	1	1	1
297	FIKA	FEROL PRIMARY SCHOOL	135	2	68	2	3	1	0	Good Communication	0	0	0	1
298	FIKA	MAZAWUN PRIMARY SCHOOL	311	3	104	3	8	5	0	Good Lesson Plan	1	1	1	2
299	FIKA	KEREM PRIMARY SCHOOL	216	4	54	4	5	1	0	Classroom Management	0	0	0	1
300	FIKA	MALURI PRIMARY SCHOOL	794	7	113	7	20	13	1	Good Communication	4	3	3	3
301	FIKA	TURMI PRIMARY SCHOOL	360	6	60	6	9	3	1	Good Lesson Plan	1	0	1	1
302	FIKA	GARIN ARI PRIMARY SCHOOL	602	4	151	4	15	11	0	Classroom Management	2	3	3	3
303	FIKA	DOGON KUKA PRIMARY SCHOOL	223	3	74	3	6	3	0	Good Communication	1	0	1	1
304	FIKA	DUFFUWEL PRIMARY SCHOOL	256	2	128	2	6	4	0	Good Lesson Plan	1	1	1	1
305	FIKA	GURJAJE PRIMARY SCHOOL	204	3	68	3	5	2	0	Classroom Management	1	0	1	0
306	FIKA	MANAWACHI PRIMARY SCHOOL	252	3	84	3	6	3	0	Good Communication	0	1	1	1
307	FIKA	SHANGA PRIMARY SCHOOL	285	2	143	2	7	5	0	Good Lesson Plan	1	2	1	1
308	FIKA	GARIN GALI PRIMARY SCHOOL	150	1	150	1	4	3	0	Classroom Management	1	0	1	1
309	FIKA	BULABIRIN PRIMARY SCHOOL	238	3	79	3	6	3	0	Good Communication	1	1	0	1
310	FIKA	LAFFAJE PRIMARY SCHOOL	195	4	49	4	5	1	0	Good Lesson Plan	0	1	0	0
311	FUNE	ABAKIRE PRIMARY SCHOOL	167	1	167	1	4	3	0	Classroom Management	0	1	1	1
312	FUNE	ABDU KAKAU PRIMARY SCHOOL	146	1	146	1	4	3	0	Good	0	1	1	1

										Communication				
313	FUNE	AGIRWA NOMADIC PRIMARY SCHOOL	112	2	56	2	3	1	1	Good Lesson Plan	0	0	1	0
314	FUNE	AIGADA J. ABDU PRIMARY SCHOOL	191	2	96	2	5	3	1	Classroom Management	1	1	0	1
315	FUNE	AIGADA MAI KASUWA PRI SCH	341	3	114	3	9	6	0	Good Communication	1	1	2	2
316	FUNE	ALAGARNO PRIMARY SCHOOL	222	3	74	3	6	3	0	Good Lesson Plan	0	1	1	1
317	FUNE	ALANGAFE PRIMARY SCHOOL	132	2	66	2	3	1	0	Classroom Management	1	0	0	0
318	FUNE	AMARCHIYA PRIMARY SCHOOL	141	2	71	2	4	2	0	Good Communication	1	1	0	0
319	FUNE	ANGUWAR KUKA PRIMARY SCHOOL	364	6	61	6	9	3	0	Good Lesson Plan	1	0	1	1
320	FUNE	BABBARE PRIMARY SCHOOL	88	2	44	2	2	0	0	Classroom Management	0	0	0	0
321	FUNE	BABUKDA PRIMARY SCHOOL	93	8	12	8	2	-6	0	Good Communication	-2	-2	-2	
322	FUNE	BABUKDA PRIMARY SCHOOL	153	3	51	3	4	1	0	Good Lesson Plan	1	0	0	0
323	FUNE	BADAWA PRIMARY SCHOOL	160	4	40	4	4	0	0	Classroom Management	0	0	0	0
324	FUNE	BADICHI PRIMARY SCHOOL	217	3	72	3	5	2	0	Good Communication	1	0	0	1
325	FUNE	BALARABE PRIMARY SCHOOL	376	3	125	3	9	6	0	Good Lesson Plan	2	1	1	2
326	FUNE	BAM SHANGA PRIMARY SCHOOL	153	2	77	2	4	2	1	Classroom Management	1	1	0	0
327	FUNE	BANALLEWA PRIMARY SCHOOL	51	1	51	1	1	0	0	Good Communication	0	0	0	0
328	FUNE	BANGAJI PRIMARY SCHOOL	200	3	67	3	5	2	0	Good Lesson Plan	0	0	1	1
329	FUNE	BARE AUTA PRIMARY SCHOOL	226	3	75	3	6	3	0	Classroom Management	1	1	1	0
330	FUNE	BAUWA PRIMARY SCHOOL	162	1	162	1	4	3	0	Good Communication	1	1	1	0
331	FUNE	BAYABANZA PRIMARY SCHOOL	169	2	85	2	4	2	0	Good Lesson Plan	1	0	1	0
332	FUNE	BEBBANDE PRIMARY SCHOOL	200	2	100	2	5	3	0	Classroom Management	0	1	1	1
333	FUNE	BINDIGI PRIMARY SCHOOL	234	2	117	2	6	4	0	Good Communication	1	1	1	1
334	FUNE	BOARDING SCIENCE PRIMARY SCHOOL	183	3	61	3	5	2	0	Good Lesson Plan	1	1	0	0
335	FUNE	BORNO KIJJ PRIMARY SCHOOL	189	2	95	2	5	3	1	Classroom Management	0	1	1	1
336	FUNE	BULANGUWA PRIMARY SCHOOL	142	3	47	3	4	1	0	Good Communication	0	1	0	0

337	FUNE	BULANYIWA PRIMARY SCHOOL	185	4	46	4	5	1	0	Good Lesson Plan	0	1	0	0
338	FUNE	BULAWAINI PRIMARY SCHOOL	3065	5	613	5	77	72	0	Classroom Management	18	18	18	18
339	FUNE	DADUME PRIMARY SCHOOL	202	5	40	5	5	0	0	Good Communication	0	0	0	0
340	FUNE	DAMAGUM CENTRAL PRI SCH	243	5	49	5	6	1	2	Good Lesson Plan	0	0	1	0
341	FUNE	DAMAGUM II PRIMARY SCHOOL	2996	23	130	23	75	52	4	Classroom Management	13	13	13	13
342	FUNE	DANGA PRIMARY SCHOOL	131	3	44	3	3	0	0	Good Communication	0	0	0	0
343	FUNE	DANGAS PRIMARY SCHOOL	205	2	103	2	5	3	0	Good Lesson Plan	1	0	1	1
344	FUNE	DANKARA PRIMARY SCHOOL	171	2	86	2	4	2	0	Classroom Management	1	1	0	0
345	FUNE	DAURA CENTRAL PRIMARY SCHOOL	703	8	88	8	18	10	0	Good Communication	3	1	3	3
346	FUNE	DAWA-DAWA PRIMARY SCHOOL	105	3	35	3	3	0	0	Good Lesson Plan	0	0	0	0
347	FUNE	DOGON KUKA 'A' PRIMARY SCHOOL	2860	15	191	15	72	57	1	Classroom Management	14	14	15	14
348	FUNE	DOGON KUKA 'B' PRIMARY SCHOOL	145	3	48	3	4	1	0	Good Communication	0	0	1	0
349	FUNE	DOGON RIJIYA PRIMARY SCHOOL	528	7	75	7	13	6	1	Good Lesson Plan	1	2	1	2
350	FUNE	DUBALA PRIMARY SCHOOL	161	3	54	3	4	1	0	Classroom Management	0	1	0	0
351	FUNE	DUBBOL PRIMARY SCHOOL	206	4	52	4	5	1	0	Good Communication	1	0	0	0
352	FUNE	DUFUNA PRIMARY SCHOOL	196	2	98	2	5	3	0	Good Lesson Plan	1	1	0	1
353	FUNE	DUMAWAL PRIMARY SCHOOL	97	2	49	2	2	0	0	Classroom Management	0	0	0	0
354	FUNE	DUMBULWA 'A' PRIMARY SCHOOL	142	3	47	3	4	1	0	Good Communication	0	0	1	0
355	FUNE	DUMBULWA 'B' PRIMARY SCHOOL	201	5	40	5	5	0	0	Good Lesson Plan	0	0	0	0
356	FUNE	DUMZA PRIMARY SCHOOL	202	4	51	4	5	1	0	Classroom Management	1	0	0	0
357	FUNE	FUNE PRIMARY SCHOOL	257	4	64	4	6	2	0	Good Communication	0	0	1	1
358	FUNE	G S S DAMAGUM PRIMARY SCHOOL	421	6	70	6	11	5	2	Good Lesson Plan	1	1	1	2
359	FUNE	GABA TASHA PRIMARY SCHOOL	940	14	67	14	24	10	4	Classroom Management	3	3	3	1
360	FUNE	GANJI PRIMARY SCHOOL	248	5	50	5	6	1	0	Good Communication	0	0	0	1
361	FUNE	GARIN BAUSHE PRIMARY SCHOOL	192	3	64	3	5	2	0	Good Lesson Plan	1	0	0	1
362	FUNE	GARIN KAKAU PRIMARY SCHOOL	153	4	38	4	4	0	0	Classroom	0	0	0	0

										Management				
363	FUNE	GARIN KILA PRIMARY SCHOOL	232	5	46	5	6	1	0	Good Communication	1	0	0	0
364	FUNE	GARIN KYARI PRIMARY SCHOOL	178	4	45	4	4	0	0	Good Lesson Plan	0	0	0	0
365	FUNE	GARIN RABI PRIMARY SCHOOL	122	3	41	3	3	0	0	Classroom Management	0	0	0	0
366	FUNE	GARIN TUJE PRIMARY SCHOOL	134	3	45	3	3	0	0	Good Communication	0	0	0	0
367	FUNE	GARIN WAMAI PRIMARY SCHOOL	303	4	76	4	8	4	0	Good Lesson Plan	1	1	1	1
368	FUNE	GARUNGU I PRIMARY SCHOOL	156	2	78	2	4	2	0	Classroom Management	0	0	1	1
369	FUNE	GATAFOWA PRIMARY SCHOOL	176	4	44	4	4	0	0	Good Communication	0	0	0	0
370	FUNE	GISHIWARI PRIMARY SCHOOL	245	3	82	3	6	3	0	Good Lesson Plan	0	1	1	1
371	FUNE	GUBANA PRIMARY SCHOOL	295	4	74	4	7	3	0	Classroom Management	1	0	1	1
372	FUNE	GUDUGURKA PRIMARY SCHOOL	237	5	47	5	6	1	0	Good Communication	0	1	0	0
373	FUNE	GUNUNU PRIMARY SCHOOL	215	3	72	3	5	2	1	Good Lesson Plan	1	0	0	1
374	FUNE	GURUNRU II PRIMARY SCHOOL	81	2	41	2	2	0	0	Classroom Management	0	0	0	0
375	FUNE	JAJERE CENTRAL PRIMARY SCHOOL	152	4	38	4	4	0	0	Good Communication	0	0	0	0
376	FUNE	JAJERIYEL PRIMARY SCHOOL	1349	6	225	6	34	28	0	Good Lesson Plan	7	7	7	7
377	FUNE	JANGA PRIMARY SCHOOL	235	5	47	5	6	1	0	Classroom Management	0	0	1	0
378	FUNE	KADOWATI PRIMARY SCHOOL	52	1	52	1	1	0	0	Good Communication	0	0	0	0
379	FUNE	KAJAJE PRIMARY SCHOOL	175	2	88	2	4	2	0	Good Lesson Plan	1	0	0	1
380	FUNE	KANKARE PRIMARY SCHOOL	156	2	78	2	4	2	0	Classroom Management	1	1	0	0
381	FUNE	KANWARAM PRIMARY SCHOOL	136	2	68	2	3	1	1	Good Communication	0	0	1	0
382	FUNE	KAR SHANGA PRIMARY SCHOOL	152	3	51	3	4	1	1	Good Lesson Plan	1	0	0	0
383	FUNE	KASARAKUMA PRIMARY SCHOOL	166	5	33	5	4	-1	0	Classroom Management	0	-1	0	0
384	FUNE	KATOTIYEL PRIMARY SCHOOL	123	3	41	3	3	0	0	Good Communication	0	0	0	0
385	FUNE	KAYERI PRIMARY SCHOOL	201	2	101	2	5	3	0	Good Lesson Plan	0	1	1	1
386	FUNE	KOI-BULA PRIMARY SCHOOL	281	2	141	2	7	5	0	Classroom Management	2	1	1	1
387	FUNE	KOLI DAWAYA PRIMARY SCHOOL	115	1	115	1	3	2	0	Good	1	1	0	0

										Communication				
388	FUNE	KOLLERE PRIMARY SCHOOL	359	5	72	5	9	4	0	Good Lesson Plan	1	1	1	1
389	FUNE	KORIYEL PRIMARY SCHOOL	150	3	50	3	4	1	0	Classroom Management	0	0	1	0
390	FUNE	KOYAYA PRIMARY SCHOOL	195	4	49	4	5	1	0	Good Communication	1	0	0	0
391	FUNE	KUJIYEL PRIMARY SCHOOL	100	3	33	3	3	-1	0	Good Lesson Plan	-1	0	0	0
392	FUNE	KWARAWANGO PRIMARY SCHOOL	205	3	68	3	5	2	0	Classroom Management	1	1	0	0
393	FUNE	LAWAN KALAM PRIMARY SCHOOL	248	2	124	2	6	4	0	Good Communication	1	1	1	1
394	FUNE	MADARASATUL S. RASHAD PRI SCH	459	4	115	4	11	7	0	Good Lesson Plan	2	1	2	2
395	FUNE	MAI MAJE PRIMARY SCHOOL	155	2	78	2	4	2	0	Classroom Management	1	1	0	0
396	FUNE	MAJIKUMNA PRIMARY SCHOOL	188	2	94	2	5	3	0	Good Communication	0	1	1	1
397	FUNE	MALTUMBA PRIMARY SCHOOL	326	3	109	3	8	5	0	Good Lesson Plan	1	2	1	1
398	FUNE	MARMARI PRIMARY SCHOOL	277	2	139	2	7	5	0	Classroom Management	1	1	2	1
399	FUNE	MASHIO PRIMARY SCHOOL	523	8	65	8	13	5	0	Good Communication	2	1	1	1
400	FUNE	MBELOL PRIMARY SCHOOL	125	2	63	2	3	1	1	Good Lesson Plan	1	0	0	0
401	FUNE	MIL-BIYAR PRIMARY SCHOOL	245	3	82	3	6	3	0	Classroom Management	1	0	1	1
402	FUNE	MIL-UKU PRIMARY SCHOOL	287	5	57	5	7	2	1	Good Communication	1	1	0	0
403	FUNE	MURBA PRIMARY SCHOOL	295	5	59	5	7	2	1	Good Lesson Plan	0	0	1	1
404	FUNE	NGELKAREJI PRIMARY SCHOOL	85	1	85	1	2	1	0	Classroom Management	0	1	0	0
405	FUNE	NGELMALUM PRIMARY SCHOOL	164	2	82	2	4	2	0	Good Communication	1	0	1	0
406	FUNE	NGELSHENGELE PRIMARY SCHOOL	353	5	71	5	9	4	0	Good Lesson Plan	1	1	1	1
407	FUNE	NGELWANDE PRIMARY SCHOOL	136	1	136	1	3	2	0	Classroom Management	1	0	0	1
408	FUNE	NGELZARMA CENTRAL PRI SCH	791	13	61	13	20	7	0	Good Communication	2	2	1	2
409	FUNE	NGUBDO PRIMARY SCHOOL	190	3	63	3	5	2	1	Good Lesson Plan	1	0	1	0
410	FUNE	NINGI PRIMARY SCHOOL	703	6	117	6	18	12	0	Classroom Management	3	3	3	3
411	FUNE	NURSERY DAMAGUM CENTRAL	45	1	45	1	1	0	0	Good Communication	0	0	0	0
412	FUNE	NURSERY DAMAGUM II	47	1	47	1	1	0	1	Good Lesson Plan	0	0	0	0

413	FUNE	NYAKIRE PRIMARY SCHOOL	395	6	66	6	10	4	0	Classroom Management	1	1	1	1
414	FUNE	NYOLE PRIMARY SCHOOL	101	1	101	1	3	2	0	Good Communication	0	1	0	1
415	FUNE	SABON GARIN BUKAR PRIMARY SCHOOL	141	2	71	2	4	2	0	Good Lesson Plan	1	0	0	1
416	FUNE	SABON GARIN DAMAGUM PRIMARY SCHOOL	212	2	106	2	5	3	0	Classroom Management	0	1	1	1
417	FUNE	SABON GARIN IDI BARDE PRIMARY SCHOOL	139	3	46	3	3	0	0	Good Communication	0	0	0	0
418	FUNE	SABON GARIN KAYERI PRIMARY SCHOOL	178	2	89	2	4	2	0	Good Lesson Plan	0	1	0	1
419	FUNE	SARU PRIMARY SCHOOL	157	3	52	3	4	1	0	Classroom Management	0	0	0	1
420	FUNE	SHAMKA PRIMARY SCHOOL	129	1	129	1	3	2	1	Good Communication	1	0	1	0
421	FUNE	SUDDANDE PRIMARY SCHOOL	60	1	60	1	2	1	0	Good Lesson Plan	1	0	0	0
422	FUNE	TAFASAWA PRIMARY SCHOOL	121	3	40	3	3	0	0	Classroom Management	0	0	0	0
423	FUNE	TAIYU PRIMARY SCHOOL	162	4	41	4	4	0	0	Good Communication	0	0	0	0
424	FUNE	TELLO PRIMARY SCHOOL	119	5	24	5	3	-2	0	Good Lesson Plan	-1	-1		
425	FUNE	TSANGAYA MODEL PRIMARY SCHOOL	776	13	60	13	19	6	1	Classroom Management	1	1	2	2
426	FUNE	USMAN BIN AFFAN PRI SCH	438	8	55	8	11	3	0	Good Communication	0	1	1	1
427	FUNE	WALKERE PRIMARY SCHOOL	298	5	60	5	7	2	1	Good Lesson Plan	1	0	0	1
428	FUNE	WATINANI PRIMARY SCHOOL	82	1	82	1	2	1	0	Classroom Management	1	0	0	0
429	FUNE	YALWA DOZARAI PRIMARY SCHOOL	77	2	39	2	2	0	1	Good Communication	0	0	0	0
430	FUNE	YESKAWAL PRIMARY SCHOOL	87	1	87	1	2	1	0	Good Lesson Plan	0	1	0	0
431	FUNE	ZOTO PRIMARY SCHOOL	298	7	43	7	7	0	4	Classroom Management	0	0	0	0
432	GUJBA	CENTRAL PRIMARY SCHOOL BUNI YADI	3242	31	105	31	81	50	0	Good Communication	13	13	11	13
433	GUJBA	SHUWARI PRIMARY SCHOOL	3014	26	116	26	75	49	0	Good Lesson Plan	12	13	12	12
434	GUJBA	KASATCHIA PRIMARY SCHOOL	2300	28	82	28	58	30	0	Classroom Management	8	8	6	8
435	GUJBA	ISLAMIYA PRIMARY SCHOOL	1368	26	53	26	34	8	0	Good Communication	2	2	2	2
436	GUJBA	NURUDDEEN PRIMARY SCHOOL	1653	19	87	19	41	22	0	Good Lesson Plan	4	6	6	6
437	GUJBA	BUNI GARI CENTRAL PRIMARY	1405	18	78	18	35	17	0	Classroom	4	5	4	4

		SCHOOL								Management				
438	GUJBA	KASULA PRIMARY SCHOOL	799	13	61	13	20	7	0	Good Communication	2	1	2	2
439	GUJBA	INTERNATIONAL SCHOOL	265	8	33	8	7	-1	0	Good Lesson Plan	0	0	-1	0
440	GUJBA	GUJBA CENTRAL PRIMARY SCHOOL	962	12	80	12	24	12	1	Classroom Management	3	3	3	3
441	GUJBA	KATARKO PRIMARY SCHOOL	823	15	55	15	21	6	0	Good Communication	1	1	2	2
442	GUJBA	GARIN ITACE PRIMARY SCHOOL	557	8	70	8	14	6	0	Good Lesson Plan	1	1	2	2
443	GUJBA	WAGIR PRIMARY SCHOOL	670	8	84	8	17	9	1	Classroom Management	2	2	3	2
444	GUJBA	MUTAI PRIMARY SCHOOL	530	6	88	6	13	7	0	Good Communication	1	2	2	2
445	GUJBA	NYAKIRE PRIMARY SCHOOL	312	5	62	5	8	3	0	Good Lesson Plan	0	1	1	1
446	GUJBA	DADDAWEL PRIMARY SCHOOL	408	4	102	4	10	6	0	Classroom Management	2	2	1	1
447	GUJBA	KUKUWA TASHA PRIMARY SCHOOL	494	9	55	9	12	3	1	Good Communication	1	0	1	1
448	GUJBA	JAMTARI PRIMARY SCHOOL	320	5	64	5	8	3	0	Good Lesson Plan	0	1	1	1
449	GUJBA	BUNGAI PRIMARY SCHOOL	460	4	115	4	12	8	0	Classroom Management	2	2	2	2
450	GUJBA	LIGDIR PRIMARY SCHOOL	199	1	199	1	5	4	0	Good Communication	1	1	1	1
451	GUJBA	HORENYIWA NOMADIC SCHOOL	135	1	135	1	3	2	0	Good Lesson Plan	1	0	0	1
452	GUJBA	SABON GARIN MAI MALA SCHOOL	365	7	52	7	9	2	0	Classroom Management	1	1	0	0
453	GUJBA	MAHADIYA PRIMARY SCHOOL	171	2	86	2	4	2	0	Good Communication	0	0	1	1
454	GUJBA	KASATCHIYA KURA PRIMARY SCHOOL	130	2	65	2	3	1	0	Good Lesson Plan	0	0	1	0
455	GUJBA	CATTLE RANGE NOMADIC SCHOOL	209	4	52	4	5	1	1	Classroom Management	1	0	0	0
456	GUJBA	NGELBIYAWOL PRIMARY SCHOOL	313	6	52	6	8	2	0	Good Communication	1	1	0	0
457	GUJBA	BUKKEL PRIMARY SCHOOL	359	6	60	6	9	3	1	Good Lesson Plan	1	1	0	1
458	GUJBA	ALMAJIRI MODEL SCHOOL	199	3	66	3	5	2	0	Classroom Management	0	0	1	1
459	GUJBA	MEGA I PRIMARY SCHOOL	1010	8	126	8	25	17	1	Good Communication	5	4	4	4
460	GUJBA	NGELJULI PRIMARY SCHOOL	364	5	73	5	9	4	0	Good Lesson Plan	1	1	1	1
461	GUJBA	NASARAWA PRIMARY SCHOOL	260	5	52	5	7	2	0	Classroom Management	1	0	0	1

462	GUJBA	TADANGARA PRIMARY SCHOOL	274	2	137	2	7	5	1	Good Communication	2	1	1	1
463	GUJBA	LABBAKUKA NOMADIC SCHOOL	239	4	60	4	6	2	0	Good Lesson Plan	1	1	0	0
464	GULANI	Bularafa Pilot Primary School.	2301	29	79	29	58	29	5	Classroom Management	7	7	8	7
465	GULANI	Bumsa Central Primary School	1344	25	54	25	34	9	2	Good Communication	2	2	2	3
466	GULANI	Dokshi Primary School	694	11	63	11	17	6	0	Good Lesson Plan	2	2	2	0
467	GULANI	Kukuwa Primary School	366	7	52	7	9	2	1	Classroom Management	0	1	1	0
468	GULANI	Shishiwaji Primary School	198	1	198	1	5	4	1	Good Communication	1	1	1	1
469	GULANI	Ngurum Primary School	112	2	56	2	3	1	0	Good Lesson Plan	1	0	0	0
470	GULANI	Gargari Primary School	76	1	76	1	2	1	0	Classroom Management	0	1	0	0
471	GULANI	Manawaji Primary School	186	2	93	2	5	3	1	Good Communication	1	0	1	1
472	GULANI	Zango Primary School	47	1	47	1	1	0	0	Good Lesson Plan	0	0	0	0
473	GULANI	Ganjiwa Primary School	637	12	53	12	16	4	0	Classroom Management	1	1	1	1
474	GULANI	Lariski Primary School	108	6	18	6	3	-3	0	Good Communication	-1	0	-1	-1
475	GULANI	Garin Gero Primary School	232	6	39	6	6	0	0	Good Lesson Plan	0	0	0	0
476	GULANI	Bandila Primary School	136	3	45	3	3	0	0	Classroom Management	0	0	0	0
477	GULANI	Kaljiwa Primary School	125	2	63	2	3	1	0	Good Communication	0	1	0	0
478	GULANI	Dofurga Nomadic Primary School.	190	2	95	2	5	3	0	Good Lesson Plan	0	1	1	1
479	GULANI	Dongol Nomad ic Primary School.	70	1	70	1	2	1	0	Classroom Management	0	0	1	0
480	GULANI	Malam Nganga Nomadic Primary School	217	6	36	6	5	-1	1	Good Communication	0	-1	0	0
481	GULANI	Gabai Primary School	199	4	50	4	5	1	3	Good Lesson Plan	0	1	0	0
482	GULANI	Chandang Primary School	309	5	62	5	8	3	0	Classroom Management	0	1	1	1
483	GULANI	Nguzuwa Primary School	143	3	48	3	4	1	1	Good Communication	1	0	0	0
484	GULANI	Mabani Primary School	207	2	104	2	5	3	0	Good Lesson Plan	1	0	1	1
485	GULANI	Kojoli Primary School	66	1	66	1	2	1	0	Classroom Management	1	0	0	0
486	GULANI	Sollare Primary School	74	2	37	2	2	0	0	Good Communication	0	0	0	0

487	GULANI	Bagardo Primary School	61	1	61	1	2	1	0	Good Lesson Plan	0	0	1	0
488	GULANI	Galdimari Primary School	48	1	48	1	1	0	0	Classroom Management	0	0	0	0
489	GULANI	Garin Abdullahi Primary School	299	4	75	4	7	3	0	Good Communication	1	1	0	1
490	GULANI	Tinga Bakkiti Nomadic Primary School	46	1	46	1	1	0	1	Good Lesson Plan	0	0	0	0
491	GULANI	Bara CFSI Primary School	1267	29	44	29	32	3	1	Classroom Management	0	1	1	1
492	GULANI	Njibulwa Primary School	630	9	70	9	16	7	1	Good Communication	2	1	2	2
493	GULANI	Bursari Primary School	206	3	69	3	5	2	0	Good Lesson Plan	1	0	1	0
494	GULANI	Gagure Primary School	398	4	100	4	10	6	0	Classroom Management	2	2	1	1
495	GULANI	Dutchi Primary School	223	2	112	2	6	4	0	Good Communication	1	1	1	1
496	GULANI	Nainawa Primary School	185	2	93	2	5	3	1	Good Lesson Plan	1	0	1	1
497	GULANI	Birni Gadam Primary School	121	1	121	1	3	2	1	Classroom Management	0	1	1	0
498	GULANI	Badugo/Badugoru Primary School.	590	6	98	6	15	9	0	Good Communication	2	2	3	2
499	GULANI	Yayum Primary School	261	2	131	2	7	5	0	Good Lesson Plan	1	2	1	1
500	GULANI	Tele Pati Nomadic Primary School.	206	3	69	3	5	2	1	Classroom Management	1	1	0	0
501	GULANI	Garin Abbayi Primary School	279	3	93	3	7	4	0	Good Communication	1	1	1	1
502	GULANI	Manu Shaudo Primary School.	161	2	81	2	4	2	0	Good Lesson Plan	0	0	1	1
503	GULANI	Yango Primary School	120	1	120	1	3	2	0	Classroom Management	1	0	1	0
504	GULANI	A.A. Musa Boarding Science Primary School	590	6	98	6	15	9	0	Good Communication	2	3	2	2
505	GULANI	Tetteba Primary School	559	8	70	8	14	6	1	Good Lesson Plan	1	1	2	2
506	GULANI	Gulani Central Primary School	827	9	92	9	21	12	0	Classroom Management	3	3	3	3
507	GULANI	Garin Tuwo Primary School	510	9	57	9	13	4	0	Good Communication	1	1	1	1
508	GULANI	Garin Mai komo Primary School	399	4	100	4	10	6	0	Good Lesson Plan	2	1	2	1
509	GULANI	Yelwa Primary School	229	5	46	5	6	1	0	Classroom Management	0	1	0	0
510	GULANI	Borno Kiji Primary School	373	6	62	6	9	3	0	Good Communication	1	0	1	1
511	GULANI	Marwa Primary School	253	6	42	6	6	0	0	Good Lesson Plan	0	0	0	0

512	GULANI	Ayada Tsohuwa Primary School	184	1	184	1	5	4	0	Classroom Management	1	1	1	1
513	GULANI	Jana Primary School	347	5	69	5	9	4	0	Good Communication	1	1	1	1
514	GULANI	Jauro Lelwi Nomadic Primary School	176	1	176	1	4	3	0	Good Lesson Plan	1	0	1	1
515	GULANI	Ruhu Primary School	640	5	128	5	16	11	3	Classroom Management	3	2	3	3
516	GULANI	Choka Primary School	370	5	74	5	9	4	1	Good Communication	1	1	1	1
517	GULANI	Kushimaga Primary School	204	3	68	3	5	2	0	Good Lesson Plan	1	1	0	0
518	GULANI	Garin Sarkin Noma Primary School	222	3	74	3	6	3	1	Classroom Management	1	0	1	1
519	GULANI	Kumbodoro Primary School	416	5	83	5	10	5	0	Good Communication	2	1	1	1
520	GULANI	Ayada Primary School	185	1	185	1	5	4	0	Good Lesson Plan	1	1	1	1
521	GULANI	Ruwan Kuka Primary School	288	4	72	4	7	3	0	Classroom Management	1	1	0	1
522	GULANI	Kupto Gana Primary School	276	3	92	3	7	4	0	Good Communication	1	1	1	1
523	GULANI	Mai Fulani Nomadic Primary School	378	5	76	5	9	4	0	Good Lesson Plan	1	1	1	1
524	JAKUSKO	AMSHI	2946	35	84	35	74	39	3	Good Lesson Plan	10	10	9	10
525	JAKUSKO	ARFANI	926	14	66	14	23	9	2	Classroom Management	2	3	2	2
526	JAKUSKO	ADIYA	810	8	101	8	20	12	4	Good Communication	3	3	3	3
527	JAKUSKO	AGANA	820	10	82	10	21	11	3	Good Lesson Plan	3	3	2	3
528	JAKUSKO	ARIRI (A)	722	11	66	11	18	7	1	Classroom Management	2	2	1	2
529	JAKUSKO	ARIRI (B)	581	7	83	7	15	8	0	Good Communication	2	2	2	2
530	JAKUSKO	BAYAM	683	9	76	9	17	8	0	Good Lesson Plan	2	2	2	2
531	JAKUSKO	BUDUWA	885	8	111	8	22	14	0	Classroom Management	4	4	2	4
532	JAKUSKO	BUBUNO	513	10	51	10	13	3	0	Good Communication	1	1	0	1
533	JAKUSKO	DAKIDO	1445	16	90	16	36	20	1	Good Lesson Plan	5	5	5	5
534	JAKUSKO	DACHIA	2882	32	90	32	72	40	1	Classroom Management	10	10	10	10
535	JAKUSKO	DUMBARI	1327	23	58	23	33	10	0	Good Communication	3	3	1	3
536	JAKUSKO	DAGILWA	550	7	79	7	14	7	0	Good Lesson Plan	2	1	2	2
537	JAKUSKO	DAMASA	680	8	85	8	17	9	0	Classroom	3	2	2	2

										Management				
538	JAKUSKO	DAGAYAK	829	9	92	9	21	12	0	Good Communication	3	3	3	3
539	JAKUSKO	DAGARAWA	727	8	91	8	18	10	0	Good Lesson Plan	3	3	3	1
540	JAKUSKO	DAKLAM	528	8	66	8	13	5	0	Classroom Management	1	1	1	2
541	JAKUSKO	FANE NOMADIC	457	6	76	6	11	5	1	Good Communication	1	2	1	1
542	JAKUSKO	GASAMU	847	11	77	11	21	10	0	Good Lesson Plan	3	3	3	1
543	JAKUSKO	GASAMU B.	345	3	115	3	9	6	4	Classroom Management	2	2	1	1
544	JAKUSKO	GURBANA	757	7	108	7	19	12	1	Good Communication	3	3	3	3
545	JAKUSKO	GAUYA	889	11	81	11	22	11	0	Good Lesson Plan	2	3	3	3
546	JAKUSKO	G/GANO	660	6	110	6	17	11	1	Classroom Management	3	2	3	3
547	JAKUSKO	G/BADUKU	725	8	91	8	18	10	0	Good Communication	3	3	3	1
548	JAKUSKO	G/GOJE	521	7	74	7	13	6	0	Good Lesson Plan	2	1	1	2
549	JAKUSKO	G/MALLAM	536	6	89	6	13	7	0	Classroom Management	2	1	2	2
550	JAKUSKO	GUYIK	710	10	71	10	18	8	0	Good Communication	2	2	2	2
551	JAKUSKO	GADA	508	8	64	8	13	5	0	Good Lesson Plan	2	1	1	1
552	JAKUSKO	GAMARI	652	5	130	5	16	11	1	Classroom Management	3	2	3	3
553	JAKUSKO	GOGARAM	746	6	124	6	19	13	2	Good Communication	3	4	3	3
554	JAKUSKO	G/KACHALLA	769	9	85	9	19	10	0	Good Lesson Plan	3	2	2	3
555	JAKUSKO	GASI	842	9	94	9	21	12	0	Classroom Management	3	3	3	3
556	JAKUSKO	GAMAJAN	801	8	100	8	20	12	0	Good Communication	3	3	3	3
557	JAKUSKO	G/ALHAJI	710	8	89	8	18	10	0	Good Lesson Plan	3	2	2	3
558	JAKUSKO	GID-GID	1949	29	67	29	49	20	1	Classroom Management	5	5	5	5
559	JAKUSKO	GUZUMBANA	657	8	82	8	16	8	0	Good Communication	2	2	2	2
560	JAKUSKO	G/BIRI	273	2	137	2	7	5	0	Good Lesson Plan	1	1	2	1
561	JAKUSKO	GONERI	961	10	96	10	24	14	1	Classroom Management	4	4	2	4
562	JAKUSKO	GWAYO	1295	25	52	25	32	7	0	Good	1	2	2	2

										Communication				
563	JAKUSKO	GUMULAWA	683	9	76	9	17	8	1	Good Lesson Plan	2	2	2	2
564	JAKUSKO	GAFALA	735	10	74	10	18	8	0	Classroom Management	2	2	2	2
565	JAKUSKO	JAK.CENTRAL	3770	35	108	35	94	59	4	Good Communication	15	14	15	15
566	JAKUSKO	JAWUR	821	11	75	11	21	10	0	Good Lesson Plan	3	3	1	3
567	JAKUSKO	JABA	931	12	78	12	23	11	0	Classroom Management	3	2	3	3
568	JAKUSKO	JADAM	626	7	89	7	16	9	0	Good Communication	3	2	2	2
569	JAKUSKO	JAMMEIL	691	8	86	8	17	9	0	Good Lesson Plan	2	2	2	3
570	JAKUSKO	JAK.ISLAMIYA	645	9	72	9	16	7	2	Classroom Management	2	1	2	2
571	JAKUSKO	KARAGE	3100	28	111	28	78	50	5	Good Communication	12	13	12	13
572	JAKUSKO	KAZIR	877	18	49	18	22	4	2	Good Lesson Plan	1	1	1	1
573	JAKUSKO	KURKUSHE	1230	23	53	23	31	8	0	Classroom Management	2	2	2	2
574	JAKUSKO	KUNU	687	10	69	10	17	7	0	Good Communication	2	1	2	2
575	JAKUSKO	KAGAMU	692	11	63	11	17	6	0	Good Lesson Plan	1	2	1	2
576	JAKUSKO	KATAMMA	1203	12	100	12	30	18	0	Classroom Management	7	6	3	2
577	JAKUSKO	KAJUWA PATA	553	14	40	14	14	0	3	Good Communication	0	0	0	0
578	JAKUSKO	KAJUWA BADE	762	10	76	10	19	9	0	Good Lesson Plan	3	2	2	2
579	JAKUSKO	KUNJUM	480	6	80	6	12	6	1	Classroom Management	2	2	1	1
580	JAKUSKO	KEBBOL NOM.	564	7	81	7	14	7	2	Good Communication	2	1	2	2
581	JAKUSKO	LAMAR BAGO	617	6	103	6	15	9	2	Good Lesson Plan	2	3	2	2
582	JAKUSKO	LAMIDO DUDDU	629	5	126	5	16	11	0	Classroom Management	3	2	3	3
583	JAKUSKO	LAFIYARI	471	4	118	4	12	8	0	Good Communication	2	2	2	2
584	JAKUSKO	LAFIYA LOILOI	729	9	81	9	18	9	0	Good Lesson Plan	2	3	2	2
585	JAKUSKO	MATAKUDKUM	708	11	64	11	18	7	0	Classroom Management	2	2	1	2
586	JAKUSKO	MUGURAM	2565	31	83	31	64	33	0	Good Communication	8	9	8	8
587	JAKUSKO	MARCHA	791	7	113	7	20	13	0	Good Lesson Plan	3	4	3	3

588	JAKUSKO	MALAIKA	600	6	100	6	15	9	0	Classroom Management	2	3	2	2
589	JAKUSKO	NASARAWA	353	6	59	6	9	3	0	Good Communication	0	1	1	1
590	JAKUSKO	NGANURI NOM.	578	5	116	5	14	9	0	Good Lesson Plan	3	2	2	2
591	JAKUSKO	NGELSUME NOM.	474	5	95	5	12	7	0	Classroom Management	1	2	2	2
592	JAKUSKO	NGINFUMARI	537	6	90	6	13	7	2	Good Communication	2	1	2	2
593	JAKUSKO	SAMINAKA	698	6	116	6	17	11	1	Good Lesson Plan	3	2	3	3
594	JAKUSKO	SABON SARA	687	8	86	8	17	9	0	Classroom Management	2	3	2	2
595	JAKUSKO	TAJUWA	1507	43	35	43	38	-5	2	Good Communication	-1	-1	-1	-2
596	JAKUSKO	KANKARE	681	9	76	9	17	8	0	Good Lesson Plan	2	2	2	2
597	JAKUSKO	TARJA	674	11	61	11	17	6	0	Classroom Management	2	2	1	1
598	JAKUSKO	DORO	673	7	96	7	17	10	0	Good Communication	4	4	2	0
599	JAKUSKO	KUBZU	629	8	79	8	16	8	0	Good Lesson Plan	2	2	2	2
600	JAKUSKO	TASGA	621	8	78	8	16	8	0	Classroom Management	2	2	2	2
601	JAKUSKO	TUDUNIYA	677	7	97	7	17	10	1	Good Communication	2	4	3	1
602	JAKUSKO	YAUURU	539	6	90	6	13	7	0	Good Lesson Plan	2	2	1	2
603	JAKUSKO	YIM	1294	25	52	25	32	7	4	Classroom Management	2	2	1	2
604	JAKUSKO	ZABUDUM	893	12	74	12	22	10	1	Good Communication	3	3	2	2
605	JAKUSKO	THAVAYO	628	8	79	8	16	8	0	Good Lesson Plan	2	2	2	2
606	JAKUSKO	MANU MISKILI	340	8	43	8	9	1	0	Classroom Management	0	1	0	0
607	JAKUSKO	JAURO MANZO	324	5	65	5	8	3	0	Good Communication	1	1	0	1
608	JAKUSKO	KATANGANA	503	8	63	8	13	5	1	Good Lesson Plan	1	2	1	1
609	JAKUSKO	G/MA AJI	108	5	22	5	3	-2	0	Classroom Management	-1	-1		
610	JAKUSKO	G/TSALAHA	131	5	26	5	3	-2	0	Good Communication	-1	-1		
611	JAKUSKO	JANGON ILU	193	5	39	5	5	0	0	Good Lesson Plan	0	0	0	0
612	JAKUSKO	KAME WACHI	59	5	12	5	1	-4	0	Classroom Management	-1	-1	-1	-1

613	KARASUW A	JAJIMAJI CENTRAL	1340	17	79	17	34	17	1	Good Communication	4	4	5	4
614	KARASUW A	NURUL ALBAB JAJIMAJI	515	9	57	9	13	4	0	Good Lesson Plan	1	1	1	1
615	KARASUW A	NEW JAJIMAJI	318	9	35	9	8	-1	0	Classroom Management	0	0	-1	0
616	KARASUW A	JAJIMAJI II	352	7	50	7	9	2	0	Good Communication	1	1	0	0
617	KARASUW A	BUKARTI	675	8	84	8	17	9	0	Good Lesson Plan	2	2	3	2
618	KARASUW A	GASMA	1202	25	48	25	30	5	0	Classroom Management	2	1	1	1
619	KARASUW A	TABAWA	537	7	77	7	13	6	1	Good Communication	2	2	0	2
620	KARASUW A	GADAN DINYA	277	2	139	2	7	5	2	Good Lesson Plan	1	1	1	2
621	KARASUW A	WARO	338	4	85	4	8	4	0	Classroom Management	1	1	1	1
622	KARASUW A	KAFI MAINARI	163	1	163	1	4	3	0	Good Communication	0	1	1	1
623	KARASUW A	KARAU KAWU	146	1	146	1	4	3	1	Good Lesson Plan	1	0	1	1
624	KARASUW A	LAMIDO HASSAN	114	2	57	2	3	1	2	Classroom Management	1	0	0	0
625	KARASUW A	LAWAN BAGANA	108	1	108	1	3	2	1	Good Communication	1	0	0	1
626	KARASUW A	GARIN AMADU	245	4	61	4	6	2	0	Good Lesson Plan	1	0	0	1
627	KARASUW A	LAMIDO UMARU	206	3	69	3	5	2	0	Classroom Management	1	0	0	1
628	KARASUW A	ZORO	137	2	69	2	3	1	0	Good Communication	0	1	0	0
629	KARASUW A	GAWO LAWAMBE	202	3	67	3	5	2	0	Good Lesson Plan	0	0	1	1
630	KARASUW A	MAINA ARI	152	2	76	2	4	2	0	Classroom Management	0	1	0	1
631	KARASUW A	NGILEDU	112	1	112	1	3	2	0	Good Communication	1	1	0	0
632	KARASUW A	BARDERI	141	3	47	3	4	1	1	Good Lesson Plan	0	1	0	0
633	KARASUW A	MAILAWURI	117	1	117	1	3	2	0	Classroom Management	1	1	0	0
634	KARASUW A	NGIBUTUWA	103	2	52	2	3	1	0	Good Communication	1	0	0	0

635	KARASUW A	DUNARI G. TUDU	102	2	51	2	3	1	0	Good Lesson Plan	0	0	1	0
636	KARASUW A	MAKADARI	98	1	98	1	2	1	0	Classroom Management	0	1	0	0
637	KARASUW A	DUNARI FULATARI	95	1	95	1	2	1	0	Good Communication	1	0	0	0
638	KARASUW A	GARIN GAWO	145	3	48	3	4	1	1	Good Lesson Plan	0	0	0	1
639	KARASUW A	ARIDI	125	4	31	4	3	-1	0	Classroom Management	0	-1	0	0
640	KARASUW A	TASHAN KARGO	107	3	36	3	3	0	3	Good Communication	0	0	0	0
641	KARASUW A	KARASUWA MODEL	941	18	52	18	24	6	0	Good Lesson Plan	2	2	1	1
642	KARASUW A	KARASUWA BOARDING	342	9	38	9	9	0	0	Classroom Management	0	0	0	0
643	KARASUW A	KARASUWA ISLAMIYYA	194	4	49	4	5	1	0	Good Communication	1	0	0	0
644	KARASUW A	BULA MAMMADU	109	2	55	2	3	1	0	Good Lesson Plan	0	1	0	0
645	KARASUW A	KAFETUWA	110	3	37	3	3	0	0	Classroom Management	0	0	0	0
646	KARASUW A	KILBUWA	181	4	45	4	5	1	0	Good Communication	0	1	0	0
647	KARASUW A	FAJI GANARI	235	5	47	5	6	1	0	Good Lesson Plan	1	0	0	0
648	KARASUW A	LAMIDO WALI	108	2	54	2	3	1	0	Classroom Management	1	0	0	0
649	KARASUW A	ISARI	152	3	51	3	4	1	0	Good Communication	0	1	0	0
650	KARASUW A	BULARAFI	166	5	33	5	4	-1	0	Good Lesson Plan	-1	0	0	0
651	KARASUW A	JAJERI	104	2	52	2	3	1	0	Classroom Management	0	0	1	0
652	KARASUW A	ATTA KURA	192	3	64	3	5	2	0	Good Communication	1	0	1	0
653	KARASUW A	CHIMBUSKO	106	2	53	2	3	1	0	Good Lesson Plan	1	0	0	0
654	KARASUW A	GARIN LUSHE	133	3	44	3	3	0	0	Classroom Management	0	0	0	0
655	KARASUW A	RUMFAN KARA	118	4	30	4	3	-1	0	Good Communication	-1	0	0	0
656	KARASUW A	KARASUWA GALU	402	11	37	11	10	-1	0	Good Lesson Plan	0	-1	0	0

657	KARASUW A	DOGON DAJI	120	3	40	3	3	0	0	Classroom Management	0	0	0	0
658	KARASUW A	WACHAKAL	601	10	60	10	15	5	0	Good Communication	1	2	1	1
659	KARASUW A	WACHAKAL NGURODI	158	4	40	4	4	0	0	Good Lesson Plan	0	0	0	0
660	KARASUW A	DABAN GIWA	131	3	44	3	3	0	2	Classroom Management	0	0	0	0
661	KARASUW A	MALAM KUNU	340	5	68	5	9	4	0	Good Communication	1	1	1	1
662	KARASUW A	GASMA ISLAMIYA	336	6	56	6	8	2	0	Good Lesson Plan	0	0	1	1
663	KARASUW A	JAJIMAJI CENTRAL	1340	21	64	21	34	13	0	Classroom Management	3	4	3	3
664	KARASUW A	NURUL ALBAB JAJIMAJI	515	9	57	9	13	4	1	Good Communication	1	1	1	1
665	KARASUW A	NEW JAJIMAJI	318	7	45	7	8	1	0	Good Lesson Plan	0	1	0	0
666	KARASUW A	JAJIMAJI II	352	8	44	8	9	1	0	Classroom Management	1	0	0	0
667	KARASUW A	BUKARTI	675	9	75	9	17	8	1	Good Communication	2	2	2	2
668	KARASUW A	GASMA	1202	21	57	21	30	9	0	Good Lesson Plan	2	2	3	2
669	KARASUW A	TABAWA	537	9	60	9	13	4	1	Classroom Management	1	1	1	1
670	KARASUW A	GADAN DINYA	277	3	92	3	7	4	0	Good Communication	1	1	1	1
671	KARASUW A	WARO	338	3	113	3	8	5	0	Good Lesson Plan	3	0	1	1
672	KARASUW A	KAFI MAINARI	163	1	163	1	4	3	0	Classroom Management	1	1	0	1
673	KARASUW A	KARAU KAWU	146	2	73	2	4	2	0	Good Communication	0	0	1	1
674	KARASUW A	BOGO PRIMARY SCHOOL	638	7	91	7	16	9	0	Good Lesson Plan	3	2	2	2
675	KARASUW A	KARMASHE PRIMARY SCHOOL	587	5	117	5	15	10	0	Classroom Management	3	2	2	3
676	KARASUW A	DAMAI PRIMARY SCHOOL	788	5	158	5	20	15	0	Good Communication	4	3	4	4
677	KARASUW A	MALLA ABBARI PRIMARY SCOOOL	528	6	88	6	13	7	0	Good Lesson Plan	2	1	2	2
678	KARASUW A	DOLE PRIMARY SCHOOL	1008	24	42	24	25	1	0	Classroom Management	1	0	0	0

679	KARASUW A	BURDUMARAM PRIMARY SCHOOL	522	7	75	7	13	6	0	Good Communication	2	2	1	1
680	KARASUW A	KORTONI PRIMARY SCHOOL	470	5	94	5	12	7	0	Good Lesson Plan	2	2	1	2
681	KARASUW A	KAGUMSUWA PRIMARY SCHOOL	451	1	451	1	11	10	0	Classroom Management	3	3	2	2
682	KARASUW A	FALIMARAM PRIMARY SCHOOL	629	6	105	6	16	10	0	Good Communication	3	3	2	2
683	KARASUW A	GARIN HARU PRIMARY SCHOOL	512	2	256	2	13	11	0	Good Lesson Plan	2	3	3	3
684	KARASUW A	KALGIDI PRIMARY SCHOOL	479	2	240	2	12	10	0	Classroom Management	2	2	3	3
685	KARASUW A	KONKAMMA PRIMARY SCHOOL	518	5	104	5	13	8	0	Good Communication	2	2	2	2
686	KARASUW A	TAUNA NORMADIC PRI. SCHOOL	297	2	149	2	7	5	0	Good Lesson Plan	1	1	2	1
687	KARASUW A	KUKAYASKU PRIMARY SCHOOL	381	2	191	2	10	8	0	Classroom Management	2	2	2	2
688	KARASUW A	LAMISU PRIMARY SCHOOL	363	5	73	5	9	4	1	Good Communication	1	1	1	1
689	KARASUW A	GARANDA PRIMARY SCHOOL	615	6	103	6	15	9	0	Good Lesson Plan	2	2	3	2
690	KARASUW A	KABARU PRIMARY SCHOOL	343	2	172	2	9	7	0	Classroom Management	2	1	2	2
691	KARASUW A	GOKI PRIMARY SCHOOL	363	4	91	4	9	5	0	Good Communication	1	1	2	1
692	KARASUW A	CENTRAL PRIMARY SCHOOL	1701	24	71	24	43	19	0	Good Lesson Plan	5	4	5	5
693	KARASUW A	BOLO PRIMARY SCHOOL	2296	29	79	29	57	28	0	Classroom Management	7	7	7	7
694	KARASUW A	HAUSARI PRIMARY SCHOOL	557	8	70	8	14	6	0	Good Communication	0	2	2	2
695	KARASUW A	KORI PRIMARY SCHOOL	1196	19	63	19	30	11	0	Good Lesson Plan	3	2	3	3
696	KARASUW A	MAI BUKAR M. S. B. PRI. SCHOOL	409	8	51	8	10	2	0	Classroom Management	0	1	0	1
697	KARASUW A	GIRL CHILD PRIMARY SCHOOL	233	5	47	5	6	1	1	Good Communication	1	0	0	0
698	KARASUW A	NURSARY PRIMARY SCHOOL	292	3	97	3	7	4	0	Good Lesson Plan	1	1	1	1
699	KARASUW A	NURUL ISLAM PRIMARY SCHOOL	639	8	80	8	16	8	2	Classroom Management	2	2	2	2
700	KARASUW A	MASKANDARE PRIMARY SCHOOL	597	5	119	5	15	10	0	Good Communication	3	3	2	2

701	KARASUW A	KANGARWA PRIMARY SCHOOL	567	4	142	4	14	10	0	Good Lesson Plan	3	3	2	2
702	KARASUW A	GHANA PRIMARY SCHOOL	571	4	143	4	14	10	0	Classroom Management	3	2	2	3
703	KARASUW A	YALAUWA PRIMARY SCHOOL	514	7	73	7	13	6	0	Good Communication	1	1	2	2
704	KARASUW A	TAGANAMA PRIMARY SCHOOL	311	5	62	5	8	3	0	Good Lesson Plan	1	1	0	1
705	KARASUW A	DUGUNUMI PRIMARY SCHOOL	485	3	162	3	12	9	0	Classroom Management	2	3	2	2
706	NANGERE	Dawasa Primary School	721	8	90	8	18	10	0	Classroom Management	2	2	3	3
707	NANGERE	Tarajim Primary School	211	4	53	4	5	1	0	Good Communication	0	1	0	0
708	NANGERE	Biriri Primary School	162	3	54	3	4	1	0	Good Lesson Plan	0	1	0	0
709	NANGERE	G/Keri Primary School	84	2	42	2	2	0	0	Classroom Management	0	0	0	0
710	NANGERE	G/Chiroma Primary School	196	4	49	4	5	1	0	Good Communication	1	0	0	0
711	NANGERE	Amayi Primary School	188	3	63	3	5	2	0	Good Lesson Plan	1	0	0	1
712	NANGERE	G/Kolo Primary School	104	2	52	2	3	1	1	Classroom Management	1	0	0	0
713	NANGERE	Dakido Primary School	257	2	129	2	6	4	0	Good Communication	1	1	1	1
714	NANGERE	G/Gabako Primary School	245	2	123	2	6	4	0	Good Lesson Plan	1	1	1	1
715	NANGERE	Chukuriwa Primary School	269	3	90	3	7	4	2	Classroom Management	1	1	1	1
716	NANGERE	Kambiya Primary School	146	3	49	3	4	1	0	Good Communication	0	1	0	0
717	NANGERE	Baibako Primary School	96	2	48	2	2	0	1	Good Lesson Plan	0	0	0	0
718	NANGERE	Mandawa Primary School	197	4	49	4	5	1	1	Classroom Management	0	0	1	0
719	NANGERE	Dazigau Primary School	686	9	76	9	17	8	0	Classroom Management	2	2	2	2
720	NANGERE	Watinani Primary School	304	5	61	5	8	3	0	Good Communication	1	0	1	1
721	NANGERE	Kukar Awu Primary School	334	6	56	6	8	2	0	Good Lesson Plan	1	0	0	1
722	NANGERE	Chilariye Primary School	332	3	111	3	8	5	0	Classroom Management	1	1	2	1
723	NANGERE	G/Tozo Primary School	230	3	77	3	6	3	0	Good Communication	0	1	1	1
724	NANGERE	G/Jado Primary School	272	5	54	5	7	2	0	Good Lesson Plan	0	1	0	1
725	NANGERE	Daniski Primary School	380	4	95	4	10	6	0	Classroom	2	2	1	1

										Management				
726	NANGERE	Magume Primary School	214	5	43	5	5	0	0	Good Communication	0	0	0	0
727	NANGERE	Gabarum Primary School	163	2	82	2	4	2	0	Good Lesson Plan	1	1	0	0
728	NANGERE	Lelawari Primary School	285	4	71	4	7	3	0	Classroom Management	1	0	1	1
729	NANGERE	Sabon Layi Primary School	169	4	42	4	4	0	0	Good Communication	0	0	0	0
730	NANGERE	Yaru Primary School	167	2	84	2	4	2	1	Good Lesson Plan	0	0	1	1
731	NANGERE	Daiba Primary School	261	4	65	4	7	3	0	Classroom Management	0	1	1	1
732	NANGERE	G/Gaye Primary School	294	3	98	3	7	4	0	Good Communication	1	1	1	1
733	NANGERE	G/Kachallah	118	2	59	2	3	1	0	Good Lesson Plan	1	0	0	0
734	NANGERE	Dagare Primary School	1077	14	77	14	27	13	4	Classroom Management	4	3	3	3
735	NANGERE	Fadawa Primary School	216	1	216	1	5	4	0	Good Communication	1	1	1	1
736	NANGERE	Chalunno Primary School	625	4	156	4	16	12	0	Good Lesson Plan	3	3	3	3
737	NANGERE	Lakwaya Primary School	180	2	90	2	5	3	0	Classroom Management	1	0	1	1
738	NANGERE	Degubi Primary School	982	10	98	10	25	15	2	Good Communication	4	3	4	4
739	NANGERE	Mbela Primary School	106	3	35	3	3	0	0	Good Lesson Plan	0	0	0	0
740	NANGERE	Lule Primary School	125	2	63	2	3	1	1	Classroom Management	0	0	1	0
741	NANGERE	Gwosko Primary School	240	4	60	4	6	2	0	Good Communication	1	1	0	0
742	NANGERE	Dawa Primary School	201	7	29	7	5	-2	0	Good Lesson Plan	-1	-1		
743	NANGERE	D/Langawa Primary School	142	1	142	1	4	3	0	Classroom Management	1	0	1	1
744	NANGERE	D/Mamadi Primary School	231	4	58	4	6	2	0	Good Communication	1	1	0	0
745	NANGERE	Gabur Primary School	235	3	78	3	6	3	0	Good Lesson Plan	0	1	1	1
746	NANGERE	Darin Primary School	345	3	115	3	9	6	0	Classroom Management	2	2	1	1
747	NANGERE	Duddaye Primary School	519	7	74	7	13	6	1	Classroom Management	2	2	1	1
748	NANGERE	Dangwara Primary School	166	4	42	4	4	0	1	Good Communication	0	0	0	0
749	NANGERE	Dallari Primary School	232	3	77	3	6	3	0	Good Lesson Plan	1	0	1	1
750	NANGERE	G/Gambo Primary School	639	8	80	8	16	8	1	Classroom	2	2	2	2

										Management				
751	NANGERE	Borno Kichi Primary School	216	2	108	2	5	3	0	Good Communication	1	1	0	1
752	NANGERE	Barbawa Primary School	228	2	114	2	6	4	0	Good Lesson Plan	1	1	1	1
753	NANGERE	Gaina Fulani Primary School	234	4	59	4	6	2	0	Classroom Management	1	1	0	0
754	NANGERE	Mutum Biyu Primary School	192	1	192	1	5	4	0	Good Communication	1	1	1	1
755	NANGERE	Katsira Primary School	218	3	73	3	5	2	0	Good Lesson Plan	1	1	0	0
756	NANGERE	Dugum Primary School	182	2	91	2	5	3	2	Classroom Management	0	1	1	1
757	NANGERE	Majirga Primary School	147	2	74	2	4	2	0	Good Communication	1	1	0	0
758	NANGERE	Baran Iya Primary School	223	4	56	4	6	2	0	Good Lesson Plan	0	0	1	1
759	NANGERE	G/Buzu Primary School	211	4	53	4	5	1	0	Classroom Management	0	1	0	0
760	NANGERE	Nzada Primary School	254	2	127	2	6	4	0	Good Communication	1	1	1	1
761	NANGERE	Kukuri Primary School	941	10	94	10	24	14	1	Classroom Management	4	3	3	4
762	NANGERE	Mohd Chole Primary School	447	5	89	5	11	6	0	Good Communication	2	2	1	1
763	NANGERE	G/Baba Primary School	197	2	99	2	5	3	0	Good Lesson Plan	1	0	1	1
764	NANGERE	Dadiso Primary School	451	4	113	4	11	7	0	Classroom Management	1	2	2	2
765	NANGERE	G/Zango Primary School	210	2	105	2	5	3	0	Good Communication	1	0	1	1
766	NANGERE	Barde Yero Primary School	436	4	109	4	11	7	0	Good Lesson Plan	2	1	2	2
767	NANGERE	Gwala Primary School	310	2	155	2	8	6	1	Classroom Management	2	2	1	1
768	NANGERE	Haram Primary School	138	1	138	1	3	2	0	Good Communication	1	1	0	0
769	NANGERE	Alhajeri Primary School	164	1	164	1	4	3	0	Good Lesson Plan	1	1	1	0
770	NANGERE	Lemari Primary School	368	3	123	3	9	6	0	Classroom Management	2	2	1	1
771	NANGERE	G/Masau Primary School	123	2	62	2	3	1	0	Good Communication	1	0	0	0
772	NANGERE	G/Kadai Primary School	380	3	127	3	10	7	0	Good Lesson Plan	2	2	2	1
773	NANGERE	G/Kariya Primary School	156	2	78	2	4	2	0	Classroom Management	1	1	0	0
774	NANGERE	S/Gari Primary School	987	13	76	13	25	12	2	Classroom Management	3	3	3	3

775	NANGERE	Tikau Primary School	685	12	57	12	17	5	0	Good Communication	1	2	1	1
776	NANGERE	S/Gari Jakade Primary School	961	10	96	10	24	14	0	Good Lesson Plan	4	4	3	3
777	NANGERE	Nangere Primary School	879	8	110	8	22	14	1	Classroom Management	4	4	3	3
778	NANGERE	G/Jata Primary School	231	2	116	2	6	4	1	Good Communication	1	1	1	1
779	NANGERE	Gamarum Yerima Primary School	176	2	88	2	4	2	4	Good Lesson Plan	1	1	0	0
780	NANGERE	Fakarau Primary School	262	3	87	3	7	4	1	Classroom Management	1	1	1	1
781	NANGERE	Gamarum Nomadic Primary School	163	1	163	1	4	3	0	Good Communication	1	1	1	0
782	NANGERE	Dagazurwa Primary School	213	4	53	4	5	1	0	Good Lesson Plan	0	1	0	0
783	NANGERE	Gara-Ganya Primary School	176	2	88	2	4	2	0	Classroom Management	0	0	1	1
784	NANGERE	Shebuwa Primary School	214	4	54	4	5	1	0	Good Communication	1	0	0	0
785	NANGERE	Tudun Wada Primary School	319	3	106	3	8	5	0	Good Lesson Plan	1	2	1	1
786	NANGERE	Ka'el Primary School	435	3	145	3	11	8	0	Classroom Management	2	2	2	2
787	NANGERE	Dawasa Primary School	721	9	80	9	18	9	0	Classroom Management	2	3	2	2
788	NANGERE	Tarajim Primary School	211	3	70	3	5	2	0	Good Communication	1	0	0	1
789	NANGERE	Biriri Primary School	162	2	81	2	4	2	0	Good Lesson Plan	1	1	0	0
790	NANGERE	G/Keri Primary School	84	2	42	2	2	0	0	Classroom Management	0	0	0	0
791	NGURU	Central Primary School	3194	26	123	26	80	54	0	Good Communication	14	13	14	13
792	NGURU	Bulabulin Primary School	543	13	42	13	14	1	2	Good Lesson Plan	1	0	0	0
793	NGURU	S.G Kanuri 1 Primary Sch	1430	22	65	22	36	14	0	Classroom Management	4	3	3	4
794	NGURU	Dumsai Primary School	579	6	97	6	14	8	1	Good Communication	2	2	2	2
795	NGURU	Al-Hikmatu Pri Sch	478	7	68	7	12	5	4	Good Lesson Plan	1	2	1	1
796	NGURU	Yamdugo Pri Sch	317	6	53	6	8	2	1	Classroom Management	1	0	0	1
797	NGURU	Ihyauddeen Pri Sch	320	6	53	6	8	2	1	Good Communication	0	0	1	1
798	NGURU	Hausari Primary School	2642	33	80	33	66	33	1	Good Lesson Plan	8	9	8	8
799	NGURU	Shuwari Primary School	1211	17	71	17	30	13	1	Classroom Management	3	4	3	3

800	NGURU	AM Gumi Pri Sch	423	5	85	5	11	6	0	Good Communication	2	1	1	2
801	NGURU	Al-Irshad Pri School	610	8	76	8	15	7	0	Good Lesson Plan	2	2	2	1
802	NGURU	Railway Primary School	1625	29	56	29	41	12	2	Classroom Management	3	3	3	3
803	NGURU	Bombori Primary School	456	7	65	7	11	4	3	Good Communication	1	1	1	1
804	NGURU	Girgiri Primary School	1628	24	68	24	41	17	1	Good Lesson Plan	4	4	5	4
805	NGURU	Galadima Kyari Primary School	973	14	70	14	24	10	0	Classroom Management	3	3	2	2
806	NGURU	Anwarul Primary Sch	434	9	48	9	11	2	0	Good Communication	1	1	0	0
807	NGURU	Nurul Aulad Pri Sch	457	6	76	6	11	5	2	Good Lesson Plan	1	1	2	1
808	NGURU	Ruhuddeen Pri Sch	460	5	92	5	12	7	2	Classroom Management	2	2	2	1
809	NGURU	Aliyu Primary School	579	6	97	6	14	8	0	Good Communication	2	2	2	2
810	NGURU	Ngilewa Primary School	3804	38	100	38	95	57	2	Good Lesson Plan	14	14	15	14
811	NGURU	Ansaru Primary School	884	13	68	13	22	9	0	Classroom Management	2	2	3	2
812	NGURU	Girl Child Centre	51	3	17	3	1	-2	0	Good Communication	-1	-1		
813	NGURU	SG Kanuri II Pri Sch	1142	24	48	24	29	5	5	Good Lesson Plan	2	1	1	1
814	NGURU	Nujumu Aulad Pri Sch	972	10	97	10	24	14	1	Classroom Management	4	3	4	3
815	NGURU	Sheikh Ngibrima Tsangaya Model Sch	86	1	86	1	2	1	0	Good Communication	1	0	0	0
816	NGURU	Nawairuddeen Primary School	1147	16	72	16	29	13	0	Good Lesson Plan	4	3	3	3
817	NGURU	Khadija Pri School	332	5	66	5	8	3	0	Classroom Management	1	1	1	0
818	NGURU	Kasugula Primary School	559	8	70	8	14	6	1	Good Communication	2	1	1	2
819	NGURU	Afunori Primary School	205	3	68	3	5	2	1	Good Lesson Plan	1	1	0	0
820	NGURU	Salo Primary School	168	2	84	2	4	2	1	Classroom Management	1	1	0	0
821	NGURU	Majakura Primary School	245	4	61	4	6	2	0	Good Communication	0	0	1	1
822	NGURU	Bulanguwa Primary Sch	454	3	151	3	11	8	1	Good Lesson Plan	2	2	2	2
823	NGURU	Ulumuddeen Pri Sch	182	2	91	2	5	3	0	Classroom Management	1	1	1	0
824	NGURU	Dogon Kuka Nomadic	136	2	68	2	3	1	0	Good Communication	0	0	1	0

825	NGURU	Dumar Primary School	130	1	130	1	3	2	0	Good Lesson Plan	1	0	0	1
826	NGURU	Dabule Primary School	202	4	51	4	5	1	0	Classroom Management	0	1	0	0
827	NGURU	Wadai Primary School	165	2	83	2	4	2	0	Good Communication	1	1	0	0
828	NGURU	Golgole Primary School	180	3	60	3	5	2	1	Good Lesson Plan	1	0	1	0
829	NGURU	Garin Mamman Pri Sch	172	2	86	2	4	2	0	Classroom Management	0	0	1	1
830	NGURU	Malam Baba Pri Sch	160	2	80	2	4	2	0	Good Communication	0	0	1	1
831	NGURU	Jabu Nomadic	154	3	51	3	4	1	0	Good Lesson Plan	1	0	0	0
832	NGURU	Kallari I Pri School	172	2	86	2	4	2	0	Classroom Management	1	0	0	1
833	NGURU	Nurul Islam Pri Sch	196	4	49	4	5	1	1	Good Communication	1	0	0	0
834	NGURU	Karambari Pri School	186	2	93	2	5	3	0	Good Lesson Plan	1	1	1	0
835	NGURU	Hadari Primary School	161	2	81	2	4	2	0	Classroom Management	1	0	0	1
836	NGURU	Kurnawa Primary School	253	2	127	2	6	4	0	Good Communication	1	1	1	1
837	NGURU	Lawanti Primary School	169	2	85	2	4	2	0	Good Lesson Plan	1	0	1	0
838	NGURU	Yakubari Primary School	210	3	70	3	5	2	0	Classroom Management	1	1	0	0
839	NGURU	Bisari Primary School	236	3	79	3	6	3	0	Good Communication	1	1	1	0
840	NGURU	Kachallari Pri School	256	4	64	4	6	2	0	Good Lesson Plan	1	0	0	1
841	NGURU	Misilli Primary School	199	3	66	3	5	2	0	Classroom Management	1	0	0	1
842	NGURU	Dagirari Primary School	265	2	133	2	7	5	0	Good Communication	1	2	1	1
843	NGURU	Nucheski Nomadic Pri Sch	176	3	59	3	4	1	0	Good Lesson Plan	0	1	0	0
844	NGURU	Kakori Primary School	292	4	73	4	7	3	0	Classroom Management	1	1	1	0
845	NGURU	Maidashi Primary School	205	2	103	2	5	3	0	Good Communication	1	0	1	1
846	NGURU	Kallari II Primary School	182	2	91	2	5	3	0	Good Lesson Plan	0	1	1	1
847	NGURU	Army Children Pri Sch	216	4	54	4	5	1	0	Classroom Management	1	0	0	0
848	NGURU	Galadima Maidunoma Mega Pri Sch	605	10	61	10	15	5	0	Good Communication	1	2	1	1
849	NGURU	Lawan Ngoma Mega Pri Sch	524	8	66	8	13	5	1	Good Lesson Plan	2	1	1	1
850	NGURU	Bonegaral Pri School	169	2	85	2	4	2	0	Classroom	0	0	1	1

										Management				
851	POTISKUM	G/BABUR	351	3	117	3	9	6	0	Good Lesson Plan	2	1	2	1
852	POTISKUM	MAKWAI S/N	232	4	58	4	6	2	0	Classroom Management	1	1	0	0
853	POTISKUM	YARO GAMBO	2,830	3	943	3	71	68	2	Good Communication	17	17	17	17
854	POTISKUM	DAMATAR	317	3	106	3	8	5	1	Good Lesson Plan	1	1	2	1
855	POTISKUM	B/NDAGAYA	443	3	148	3	11	8	0	Classroom Management	2	2	2	2
856	POTISKUM	G/BINGEL	778	8	97	8	19	11	0	Good Communication	3	2	3	3
857	POTISKUM	YINDISKI	3,167	25	127	25	79	54	3	Good Lesson Plan	14	14	13	13
858	POTISKUM	G/ABBA	393	4	98	4	10	6	0	Classroom Management	1	2	2	1
859	POTISKUM	G/CHI-CHI	195	3	65	3	5	2	1	Good Communication	0	0	1	1
860	POTISKUM	ARJALI	254	1	254	1	6	5	1	Good Lesson Plan	2	1	1	1
861	POTISKUM	MOI ABALI	12,384	46	269	46	310	264	14	Classroom Management	66	66	66	66
862	POTISKUM	BOGOCHO	236	3	79	3	6	3	0	Good Communication	1	1	1	0
863	POTISKUM	G/DAYE	270	2	135	2	7	5	1	Good Lesson Plan	2	1	1	1
864	POTISKUM	BULA	1,390	11	126	11	35	24	1	Classroom Management	6	6	6	6
865	POTISKUM	ATYIYAYE	3,196	18	178	18	80	62	1	Good Communication	16	15	16	15
866	POTISKUM	MACHAMA	467	3	156	3	12	9	0	Good Lesson Plan	2	3	2	2
867	POTISKUM	MAZAGANE	329	4	82	4	8	4	0	Classroom Management	1	1	1	1
868	POTISKUM	CHADI	3,487	24	145	24	87	63	3	Good Communication	16	16	15	16
869	POTISKUM	ARIKIME	20,015	45	445	45	500	455	5	Good Lesson Plan	114	114	113	114
870	POTISKUM	NGOJIN	382	3	127	3	10	7	2	Classroom Management	2	2	1	2
871	POTISKUM	DAKASKU	888	14	63	14	22	8	1	Good Communication	2	2	2	2
872	POTISKUM	ALIYU IBN IBRAHIM	2,278	14	163	14	57	43	0	Good Lesson Plan	11	11	10	11
873	POTISKUM	FARA-FARA	352	3	117	3	9	6	2	Classroom Management	2	2	1	1
874	POTISKUM	DORAWA	5,996	29	207	29	150	121	4	Good Communication	30	31	30	30
875	POTISKUM	HELMA SALEH	1,647	17	97	17	41	24	2	Good Lesson Plan	6	6	6	6

876	POTISKUM	MAI-ADIKO	3,383	28	121	28	85	57	2	Classroom Management	14	15	14	14
877	POTISKUM	BADEJO	876	10	88	10	22	12	0	Good Communication	3	3	3	3
878	POTISKUM	MALALE	309	2	155	2	8	6	0	Good Lesson Plan	2	1	1	2
879	POTISKUM	BURAIMA	3,782	27	140	27	95	68	1	Classroom Management	17	17	17	17
880	POTISKUM	JUMMA'A	1,732	9	192	9	43	34	1	Good Communication	9	8	8	9
881	POTISKUM	GARBAWA	2,226	21	106	21	56	35	0	Good Lesson Plan	9	9	8	9
882	POTISKUM	ZAGAM	681	7	97	7	17	10	0	Classroom Management	3	2	2	3
883	POTISKUM	KWATA	4,666	32	146	32	117	85	4	Good Communication	21	21	22	21
884	POTISKUM	GAMAWA	232	6	39	6	6	0	0	Good Lesson Plan	0	0	0	0
885	POTISKUM	R/COURSE	6,343	31	205	31	159	128	6	Classroom Management	32	32	32	32
886	POTISKUM	MOI MUHD ABALI	1,080	29	37	29	27	-2	0	Good Communication	-1	-1		
887	POTISKUM	G/MAJE	535	5	107	5	13	8	0	Good Lesson Plan	2	2	2	2
888	POTISKUM	DAMBOA	3,409	21	162	21	85	64	3	Classroom Management	16	16	16	16
889	POTISKUM	B/ AURA	448	7	64	7	11	4	0	Good Communication	1	1	1	1
890	POTISKUM	B/ BATABA	612	5	122	5	15	10	0	Good Lesson Plan	3	2	3	2
891	POTISKUM	SABON LAYI	7,308	35	209	35	183	148	3	Classroom Management	37	37	37	37
892	POTISKUM	P/ DUMBULWA	598	8	75	8	15	7	0	Good Communication	2	2	1	2
893	POTISKUM	S/ GARI	2,304	26	89	26	58	32	3	Good Lesson Plan	8	8	8	8
894	POTISKUM	MAI- JARMA	296	4	74	4	7	3	1	Classroom Management	0	1	1	1
895	POTISKUM	TSANGAYA	2,384	18	132	18	60	42	0	Good Communication	11	10	11	10
896	POTISKUM	BABUT	2,503	29	86	29	63	34	1	Good Lesson Plan	8	8	9	9
897	POTISKUM	JIGAWA	218	3	73	3	5	2	1	Classroom Management	0	0	1	1
898	POTISKUM	ALARABA	278	3	93	3	7	4	0	Good Communication	1	1	1	1
899	POTISKUM	K/SPECIAL	88	2	44	2	2	0	0	Good Lesson Plan	0	0	0	0
900	POTISKUM	LAMPADE	326	2	163	2	8	6	0	Classroom Management	2	1	1	2

901	POTISKUM	ADAYA	409	3	136	3	10	7	1	Good Communication	1	2	2	2
902	POTISKUM	MAMUDO	2,403	13	185	13	60	47	1	Good Lesson Plan	12	11	12	12
903	POTISKUM	DANCHUA	887	6	148	6	22	16	1	Classroom Management	4	4	4	4
904	POTISKUM	NAHUTA	2,988	24	125	24	75	51	0	Good Communication	13	12	13	13
905	POTISKUM	MAIRA AISA	1,242	15	83	15	31	16	0	Good Lesson Plan	4	4	4	4
906	POTISKUM	ADAMU BAZUWA	688	8	86	8	17	9	2	Classroom Management	2	2	3	2
907	POTISKUM	MAJEWAWA	795	8	99	8	20	12	2	Good Communication	3	3	3	3
908	POTISKUM	CENTRAL	8,709	39	223	39	218	179	4	Good Lesson Plan	45	45	44	45
909	POTISKUM	K/BAUYA	2,716	15	181	15	68	53	2	Classroom Management	13	14	13	13
910	POTISKUM	B/ GAKOKO	277	3	92	3	7	4	0	Good Communication	1	1	1	1
911	POTISKUM	B/MAKWAI	382	4	96	4	10	6	1	Good Lesson Plan	2	2	1	1
912	POTISKUM	MAI-UMAR	9,889	34	291	34	247	213	8	Classroom Management	53	53	54	53
913	POTISKUM	LAGO	678	9	75	9	17	8	0	Good Communication	2	2	2	2
914	POTISKUM	GID GID	245	3	82	3	6	3	0	Good Lesson Plan	1	1	0	1
915	POTISKUM	G/BABUR	351	3	117	3	9	6	0	Classroom Management	2	2	1	1
916	TARMUWA	B/GIDA CENTRAL	2,296	19	121	19	57	38	0	Classroom Management	10	9	9	10
917	TARMUWA	B/GIDA 2	339	3	113	3	8	5	0	Good Communication	1	1	2	1
918	TARMUWA	LAMORDE	2,228	11	203	11	56	45	0	Good Lesson Plan	11	11	12	11
919	TARMUWA	DAIBATU	375	3	125	3	9	6	0	Classroom Management	2	1	1	2
920	TARMUWA	MONGUNO	44	2	22	2	1	-1	0	Good Communication	0	0	-1	0
921	TARMUWA	SIDINGO	70	2	35	2	2	0	1	Good Lesson Plan	0	0	0	0
922	TARMUWA	BIRIRI	248	4	62	4	6	2	0	Classroom Management	1	1	0	0
923	TARMUWA	TASHAN FULANI	184	4	46	4	5	1	0	Good Communication	0	0	1	0
924	TARMUWA	DOLKOI	46	2	23	2	1	-1	0	Good Lesson Plan	0	0	-1	0
925	TARMUWA	GALADIMAWA	141	3	47	3	4	1	0	Classroom Management	1	0	0	0

926	TARMUWA	TASHAN BIRI	62	2	31	2	2	0	0	Good Communication	0	0	0	0
927	TARMUWA	SUROKUSKO	368	4	92	4	9	5	0	Good Lesson Plan	2	1	1	1
928	TARMUWA	GARAJI	95	2	48	2	2	0	0	Classroom Management	0	0	0	0
929	TARMUWA	KORIYEL	488	5	98	5	12	7	0	Good Communication	2	2	1	2
930	TARMUWA	GARGA	126	3	42	3	3	0	0	Good Lesson Plan	0	0	0	0
931	TARMUWA	KAILO	41	2	21	2	1	-1	0	Classroom Management	0	0	-1	0
932	TARMUWA	NGABOBI	96	2	48	2	2	0	0	Good Communication	0	0	0	0
933	TARMUWA	MANDADA'A	460	2	230	2	12	10	0	Good Lesson Plan	3	2	4	1
934	TARMUWA	GIJAGIRI	50	2	25	2	1	-1	1	Classroom Management	0	0	-1	0
935	TARMUWA	KOROMARI	96	2	48	2	2	0	0	Good Communication	0	0	0	0
936	TARMUWA	KOLI GOTEL	53	1	53	1	1	0	0	Good Lesson Plan	0	0	0	0
937	TARMUWA	SHUWAL WANGO	101	2	51	2	3	1	2	Classroom Management	0	1	0	0
938	TARMUWA	DANDAL ASKWARI	47	1	47	1	1	0	0	Good Communication	0	0	0	0
939	TARMUWA	LANTEWA	194	4	49	4	5	1	0	Good Lesson Plan	1	0	0	0
940	TARMUWA	KALIYARI	123	4	31	4	3	-1	1	Classroom Management	-1	0	0	0
941	TARMUWA	SIMINTIYA	41	1	41	1	1	0	0	Good Communication	0	0	0	0
942	TARMUWA	JUMBAM	1,072	8	134	8	27	19	0	Good Lesson Plan	4	5	5	5
943	TARMUWA	KISKA	55	2	28	2	1	-1	0	Classroom Management	-1	0	0	0
944	TARMUWA	KORSORI	71	1	71	1	2	1	0	Good Communication	0	1	0	0
945	TARMUWA	KADASHE	51	1	51	1	1	0	0	Good Lesson Plan	0	0	0	0
946	TARMUWA	MATTARI	31	1	31	1	1	0	0	Classroom Management	0	0	0	0
947	TARMUWA	ABBARI	28	1	28	1	1	0	0	Good Communication	0	0	0	0
948	TARMUWA	GADURI	57	1	57	1	1	0	0	Good Lesson Plan	0	0	0	0
949	TARMUWA	SHEKAU	306	2	153	2	8	6	0	Classroom Management	2	1	1	2
950	TARMUWA	KICHI NGUDUWA	48	1	48	1	1	0	0	Good Communication	0	0	0	0

951	YUNUSARI	ALIWADIMARI PRIMARY SCHOOL	522	7	75	7	13	6	1	Good Communication	2	2	1	1
952	YUNUSARI	BAIRI PRIMARY SCHOOL	117	1	117	1	3	2	0	Good Lesson Plan	1	1	0	0
953	YUNUSARI	BUKARMIDI PRIMARY SCHOOL	235	3	78	3	6	3	0	Classroom Management	0	1	1	1
954	YUNUSARI	BUKARTI PRIMARY SCHOOL	515	6	86	6	13	7	2	Good Communication	1	2	2	2
955	YUNUSARI	DALARI PRIMARY SCHOOL	215	1	215	1	5	4	0	Good Lesson Plan	1	1	1	1
956	YUNUSARI	DAMA PRIMARY SCHOOL	250	4	63	4	6	2	0	Classroom Management	1	1	0	0
957	YUNUSARI	DARA PRIMARY SCHOOL	227	2	114	2	6	4	0	Good Communication	1	1	1	1
958	YUNUSARI	DILALA PRIMARY SCHOOL	214	3	71	3	5	2	0	Good Lesson Plan	1	1	0	0
959	YUNUSARI	DUMBOL PRIMARY SCHOOL	276	2	138	2	7	5	0	Classroom Management	1	2	1	1
960	YUNUSARI	FAYA-KAFIYA PRIMARY SCHOOL	162	3	54	3	4	1	0	Good Communication	0	1	0	0
961	YUNUSARI	GAMACHIKI PRIMARY SCHOOL	287	3	96	3	7	4	0	Good Lesson Plan	1	1	1	1
962	YUNUSARI	GARAU PRIMARY SCHOOL	117	2	59	2	3	1	0	Classroom Management	1	0	0	0
963	YUNUSARI	GARIN GADA PRIMARY SCHOOL	250	3	83	3	6	3	0	Good Communication	0	1	1	1
964	YUNUSARI	GARIN GAWO PRIMARY SCHOOL	257	4	64	4	6	2	0	Good Lesson Plan	1	1	0	0
965	YUNUSARI	GONI-LAWANTI PRIMARY SCHOOL	311	2	156	2	8	6	0	Classroom Management	2	1	2	1
966	YUNUSARI	GONIRI PRIMARY SCHOOL	240	5	48	5	6	1	0	Good Communication	0	0	1	0
967	YUNUSARI	GREMADI NGRABO PRIMARY SCHOOL	268	3	89	3	7	4	0	Good Lesson Plan	1	1	1	1
968	YUNUSARI	GREMADI WADI PRIMARY SCHOOL	284	3	95	3	7	4	0	Classroom Management	1	1	1	1
969	YUNUSARI	GURSULU PRIMARY SCHOOL	109	1	109	1	3	2	0	Good Communication	0	0	1	1
970	YUNUSARI	KAFIYA PRIMARY SCHOOL	320	2	160	2	8	6	0	Good Lesson Plan	1	1	2	2
971	YUNUSARI	KALGI PRIMARY SCHOOL	289	3	96	3	7	4	0	Classroom Management	1	1	1	1
972	YUNUSARI	KANTUKULUWA PRIMARY SCHOOL	179	2	90	2	4	2	0	Good Communication	1	0	0	1
973	YUNUSARI	KILBUKIMEYA PRIMARY SCHOOL	234	5	47	5	6	1	0	Good Lesson Plan	1	0	0	0
974	YUNUSARI	KIRIZUL PRIMARY SCHOOL	272	4	68	4	7	3	0	Classroom Management	1	0	1	1
975	YUNUSARI	KUJARI PRIMARY SCHOOL	286	4	72	4	7	3	1	Good Communication	1	0	1	1

976	YUNUSARI	KASULUWARAM PRIMARY SCHOOL	255	2	128	2	6	4	0	Good Lesson Plan	1	1	1	1
977	YUNUSARI	LARGAM PRIMARY SCHOOL	267	2	134	2	7	5	0	Classroom Management	1	1	2	1
978	YUNUSARI	MAI-AUDU NOMADIC PRIMARY SCHOOL	250	2	125	2	6	4	1	Good Communication	1	1	1	1
979	YUNUSARI	MAINE KILBU PRIMARY SCHOOL	262	3	87	3	7	4	0	Good Lesson Plan	1	1	1	1
980	YUNUSARI	MAIRARI PRIMARY SCHOOL	275	2	138	2	7	5	1	Classroom Management	2	1	1	1
981	YUNUSARI	MANAWAJI PRIMARY SCHOOL	282	2	141	2	7	5	1	Good Communication	1	1	2	1
982	YUNUSARI	MANDAMARI PRIMARY SCHOOL	231	2	116	2	6	4	0	Good Lesson Plan	1	1	1	1
983	YUNUSARI	MOZOGUN PRIMARY SCHOOL	269	3	90	3	7	4	0	Classroom Management	1	1	1	1
984	YUNUSARI	TOSHIA PRIMARY SCHOOL	385	6	64	6	10	4	2	Good Communication	1	1	1	1
985	YUNUSARI	WADI PRIMARY SCHOOL	232	3	77	3	6	3	0	Good Lesson Plan	1	0	1	1
986	YUNUSARI	WULIBARI PRIMARY SCHOOL	264	2	132	2	7	5	0	Classroom Management	2	1	1	1
987	YUNUSARI	YAWLE PRIMARY SCHOOL	204	2	102	2	5	3	0	Good Communication	1	0	1	1
988	YUNUSARI	YUNUSARI CENTRAL PRIMARY SCHOOL	1635	27	61	27	41	14	0	Good Lesson Plan	4	3	3	4
989	YUNUSARI	ZAI-LAWANTI PRIMARY SCHOOL	285	3	95	3	7	4	0	Classroom Management	1	1	1	1
990	YUNUSARI	ZAJIBIRI PRIMARY SCHOOL	265	2	133	2	7	5	0	Good Communication	1	2	1	1
991	YUNUSARI	ZIGINDIMI PRIMARY SCHOOL	261	1	261	1	7	6	0	Good Lesson Plan	2	1	2	1
992	YUNUSARI	MAIGARI BUKARTI II PRIMARY SCHOOL	237	4	59	4	6	2	1	Classroom Management	1	1	0	0
993	YUNUSARI	KANAMMA CENTRAL PRIMARY SCHOOL	1631	16	102	16	41	25	2	Good Communication	6	7	6	6
994	YUNUSARI	ALIWADIMARI PRIMARY SCHOOL	522	7	75	7	13	6	0	Good Lesson Plan	1	2	1	2
995	YUSUFARI	Abatura Primary School	398	4	100	4	10	6	0	Classroom Management	1	1	2	2
996	YUSUFARI	Alarachi Primary School	512	4	128	4	13	9	0	Good Communication	3	2	2	2
997	YUSUFARI	Bono Islamiya Primary School	440	2	220	2	11	9	0	Good Lesson Plan	2	3	2	2
998	YUSUFARI	Buladabube Primary School	523	4	131	4	13	9	0	Classroom Management	2	3	2	2
999	YUSUFARI	Bulajaji Primary School	425	4	106	4	11	7	0	Good Communication	1	2	2	2
1000	YUSUFARI	Bulatura Primary School	378	4	95	4	9	5	0	Good Lesson Plan	1	1	2	1

1001	YUSUFARI	Bulazulu Primary School	427	6	71	6	11	5	0	Classroom Management	1	2	1	1
1002	YUSUFARI	Bula Kura Primary School	287	1	287	1	7	6	0	Good Communication	2	1	1	2
1003	YUSUFARI	Buzizi Primary School	510	2	255	2	13	11	0	Good Lesson Plan	3	3	2	3
1004	YUSUFARI	Bula Ngibiya Primary School	527	3	176	3	13	10	0	Classroom Management	3	3	2	2
1005	YUSUFARI	Bula Kulo Primary School	483	1	483	1	12	11	1	Good Communication	3	3	2	3
1006	YUSUFARI	Bonegral Primary School	542	5	108	5	14	9	0	Good Lesson Plan	3	2	2	2
1007	YUSUFARI	Dunari Primary School	547	6	91	6	14	8	0	Classroom Management	2	2	2	2
1008	YUSUFARI	Fantameri Primary School	374	4	94	4	9	5	0	Good Communication	1	2	1	1
1009	YUSUFARI	Fulameri Primary School	712	7	102	7	18	11	1	Good Lesson Plan	3	2	3	3
1010	YUSUFARI	Garin Tsangai Primary School	480	5	96	5	12	7	0	Classroom Management	1	2	2	2
1011	YUSUFARI	Gakore Nomadic Primary School	473	6	79	6	12	6	4	Good Communication	1	2	1	2
1012	YUSUFARI	Gorsel Primary School	466	5	93	5	12	7	0	Good Lesson Plan	2	1	2	2
1013	YUSUFARI	Gremari Pri. Schoo	469	3	156	3	12	9	0	Classroom Management	2	3	2	2
1014	YUSUFARI	Gumshi Primary School	399	2	200	2	10	8	1	Good Communication	2	2	2	2
1015	YUSUFARI	Guya Primary School	466	6	78	6	12	6	1	Good Lesson Plan	1	2	1	2
1016	YUSUFARI	Guyamari Primary School	766	5	153	5	19	14	1	Classroom Management	4	4	2	4
1017	YUSUFARI	Garin Idi Primary School	496	3	165	3	12	9	0	Good Communication	3	2	2	2
1018	YUSUFARI	Hassan Bin Thabit Islamiya Primary	442	2	221	2	11	9	0	Good Lesson Plan	3	2	2	2
1019	YUSUFARI	Jebuwa Primary School	494	4	124	4	12	8	1	Good Lesson Plan	2	2	2	2
1020	YUSUFARI	Kachallahri Primary School	513	7	73	7	13	6	0	Classroom Management	2	2	1	1
1021	YUSUFARI	Kafi-Kura Primary School	791	8	99	8	20	12	0	Good Communication	3	3	3	3
1022	YUSUFARI	Kajimaram Primary School	443	2	222	2	11	9	0	Good Lesson Plan	2	3	2	2
1023	YUSUFARI	Kaluwa Primary School	577	3	192	3	14	11	0	Classroom Management	2	3	3	3
1024	YUSUFARI	Kayaka Primary School	485	4	121	4	12	8	0	Good Communication	2	2	2	2
1025	YUSUFARI	Kadairi Primary School	428	5	86	5	11	6	0	Good Lesson Plan	2	2	1	1
1026	YUSUFARI	Kankare Primary School	484	4	121	4	12	8	0	Classroom	2	2	2	2

										Management				
1027	YUSUFARI	Kaska Primary School	511	6	85	6	13	7	2	Good Communication	2	1	2	2
1028	YUSUFARI	Kirigini Primary School	511	7	73	7	13	6	1	Good Lesson Plan	2	2	1	1
1029	YUSUFARI	Kiriram Primary School	423	4	106	4	11	7	0	Classroom Management	2	1	2	2
1030	YUSUFARI	Kumagannam Primary School	671	6	112	6	17	11	0	Good Communication	3	2	3	3
1031	YUSUFARI	Kumagannam Islamiya Primary School	593	8	74	8	15	7	0	Good Lesson Plan	2	1	2	2
1032	YUSUFARI	Lamido Dume Nomadic	450	7	64	7	11	4	0	Classroom Management	1	1	1	1
1033	YUSUFARI	Lamido Kabo Nomadic Primary School	664	3	221	3	17	14	0	Good Communication	4	4	4	2
1034	YUSUFARI	Lamido Iliyasu Nomadic Primary School	575	4	144	4	14	10	0	Good Lesson Plan	3	3	2	2
1035	YUSUFARI	Lawanti Primary School	1032	22	47	22	26	4	0	Classroom Management	1	1	1	1
1036	YUSUFARI	Ligalidi Primary School	346	2	173	2	9	7	0	Good Communication	2	2	1	2
1037	YUSUFARI	Mahad Islamiyya Primary School	399	3	133	3	10	7	0	Good Lesson Plan	2	2	1	2
1038	YUSUFARI	Maibugori Primary School	514	7	73	7	13	6	1	Classroom Management	2	2	1	1
1039	YUSUFARI	Maimalari Primary School	661	8	83	8	17	9	4	Good Communication	2	3	2	2
1040	YUSUFARI	Mainiya Primary School	434	1	434	1	11	10	0	Good Lesson Plan	3	3	2	2
1041	YUSUFARI	Masassara Primary School	582	6	97	6	15	9	0	Classroom Management	2	2	3	2
1042	YUSUFARI	Mayori Boarding Primary School	610	5	122	5	15	10	0	Good Communication	3	3	2	2
1043	YUSUFARI	Mayori Primary School	425	5	85	5	11	6	3	Good Lesson Plan	2	1	1	2
1044	YUSUFARI	Mayori Islamiya Primary School	754	11	69	11	19	8	1	Classroom Management	2	2	2	2
1045	YUSUFARI	Meleri Primary School	498	5	100	5	12	7	0	Good Communication	2	2	1	2
1046	YUSUFARI	Mellari Primary School	343	3	114	3	9	6	0	Good Lesson Plan	1	1	2	2
1047	YUSUFARI	Mutawakil Islamiyya Primary School	495	4	124	4	12	8	0	Classroom Management	2	2	2	2
1048	YUSUFARI	Model Primary School Yusufari	1520	19	80	19	38	19	0	Good Communication	5	4	5	5
1049	YUSUFARI	Nganawa Primary School	540	7	77	7	14	7	0	Good Lesson Plan	1	2	2	2
1050	YUSUFARI	Ngererewa Primary School	415	3	138	3	10	7	0	Classroom Management	2	1	2	2

1051	YUSUFARI	Njikimewa Primary School	532	5	106	5	13	8	0	Good Communication	2	2	2	2
1052	YUSUFARI	Sabilul Falahi Islamiyya Primary School	352	2	176	2	9	7	0	Good Lesson Plan	2	2	1	2
1053	YUSUFARI	Sherifuri Primary School	364	2	182	2	9	7	0	Classroom Management	2	2	1	2
1054	YUSUFARI	Sunomari Primary School	764	6	127	6	19	13	0	Good Communication	3	3	4	3
1055	YUSUFARI	Sumbar Primary School	653	8	82	8	16	8	0	Good Lesson Plan	2	2	2	2
1056	YUSUFARI	Tulotulo Primary School	481	2	241	2	12	10	2	Classroom Management	2	2	3	3
1057	YUSUFARI	Yamiya Primary School	697	6	116	6	17	11	1	Good Communication	3	3	2	3
1058	YUSUFARI	Yusufari Boarding Primary School	975	10	98	10	24	14	0	Good Lesson Plan	3	3	4	4
1059	YUSUFARI	Zoro Primary School	480	2	240	2	12	10	1	Classroom Management	2	2	3	3
1060	YUSUFARI	Zakariya Islamiya Primary School	503	6	84	6	13	7	1	Good Communication	2	2	1	2
1061	YUSUFARI	Zakkari Nomadic Primary School	505	5	101	5	13	8	0	Good Lesson Plan	2	2	2	2
1062	YUSUFARI	Zumugu Primary School	422	3	141	3	11	8	0	Classroom Management	2	2	2	2
1063	YUSUFARI	Garin Gurgu Primary School	515	7	74	7	13	6	0	Good Communication	2	1	1	2
1064	GEIDAM	CENTRAL PRIMARY SCHOOL	5929	31	191	31	148	117	1	Good Lesson Plan	29	30	29	29
1065	GEIDAM	KAFELA PRI SCH	7093	29	245	29	177	148	2	Classroom Management	37	37	37	37
1066	GEIDAM	LAWAN KOLORI	3660	22	166	22	92	70	2	Good Communication	18	18	17	17
1067	GEIDAM	NGADALA PRI SCH	4388	19	231	19	110	91	1	Good Lesson Plan	23	22	23	23
1068	GEIDAM	LAWAN KAWURI PRI SCH	2182	18	121	18	55	37	1	Classroom Management	9	10	9	9
1069	GEIDAM	HAUSARI PRI SCH	2036	23	89	23	51	28	1	Good Communication	7	7	7	7
1070	GEIDAM	BOARDING PRI SCH	1126	13	87	13	28	15	3	Good Lesson Plan	3	4	4	4
1071	GEIDAM	LOW-COST PRI SCH	1951	28	70	28	49	21	5	Classroom Management	5	6	5	5
1072	GEIDAM	ISLAMIYYA PRI SCH	1446	28	52	28	36	8	0	Good Communication	2	2	2	2
1073	GEIDAM	MODEL BOARDING PRI SCH	1103	21	53	21	28	7	1	Good Lesson Plan	1	2	2	2
1074	GEIDAM	KALGERI PRI SCH	1482	34	44	34	37	3	2	Classroom Management	0	1	1	1
1075	GEIDAM	KELLURI PRI SCH	2175	41	53	41	54	13	1	Good Communication	3	4	3	3

1076	GEIDAM	BALLE PRI SCH	1226	29	42	29	31	2	0	Good Communication	1	1	0	0
1077	GEIDAM	MA ANNA PRI SCH	1165	31	38	31	29	-2	0	Good Lesson Plan	-1	-1		
1078	GEIDAM	GONIRI KUKAWA PRI SCH	954	9	106	9	24	15	1	Classroom Management	3	4	4	4
1079	GEIDAM	GIRL CHILD	717	11	65	11	18	7	0	Good Communication	2	2	1	2
1080	GEIDAM	GEIDAM SPECIAL SCHOOL	409	5	82	5	10	5	0	Good Communication	1	2	1	1
1081	GEIDAM	BULA BULIN PRI SCH	772	10	77	10	19	9	0	Good Lesson Plan	2	3	2	2
1082	GEIDAM	SHAME KURA	1263	33	38	33	32	-1	0	Classroom Management	0	0	-1	0
1083	GEIDAM	CHIROMARI PRI SCH	682	16	43	16	17	1	0	Good Communication	0	1	0	0
1084	GEIDAM	LAWAN BUKARTI	1616	27	60	27	40	13	1	Good Communication	3	4	3	3
1085	GEIDAM	GALLABA PRI SCH	900	19	47	19	23	4	0	Good Lesson Plan	1	1	1	1
1086	GEIDAM	MOBARTI PRI SCH	602	9	67	9	15	6	0	Classroom Management	2	2	1	1
1087	GEIDAM	AJIRI BULIN PRI SCH	877	10	88	10	22	12	0	Good Communication	3	3	3	3
1088	GEIDAM	BALLARA PRI SCH	212	3	71	3	5	2	0	Good Communication	1	1	0	0
1089	GEIDAM	SHAME MERI	206	2	103	2	5	3	0	Good Lesson Plan	1	1	0	1
1090	GEIDAM	DAMBARAM	270	2	135	2	7	5	0	Classroom Management	1	1	2	1
1091	GEIDAM	KUKAWA BARE	361	8	45	8	9	1	0	Good Communication	0	0	1	0
1092	GEIDAM	GUMSA PRI SCH	596	10	60	10	15	5	2	Good Communication	2	1	1	1
1093	GEIDAM	GUMZUGUNI	198	2	99	2	5	3	1	Good Lesson Plan	1	1	0	1
1094	GEIDAM	DAGAMBI	259	4	65	4	6	2	0	Classroom Management	1	0	0	1
1095	GEIDAM	DAMAKARWA	299	6	50	6	7	1	0	Good Communication	0	1	0	0
1096	GEIDAM	DAMATAR	145	3	48	3	4	1	1	Classroom Management	0	0	1	0
1097	GEIDAM	MADIKADAWA	221	4	55	4	6	2	4	Good Communication	0	0	1	1
1098	GEIDAM	KUSUR	143	3	48	3	4	1	0	Good Communication	1	0	0	0
1099	GEIDAM	KUKA INDI	331	4	83	4	8	4	0	Good Lesson Plan	1	1	1	1
1100	GEIDAM	FANNAMIRI	140	4	35	4	4	-1	0	Classroom Management	0	-1	0	0

1101	GEIDAM	FANNARAM	78	1	78	1	2	1	0	Good Communication	1	0	0	0
1102	GEIDAM	MALAWANGO	113	1	113	1	3	2	0	Good Communication	0	0	1	1
1103	GEIDAM	MAKINTARI	82	1	82	1	2	1	0	Good Lesson Plan	0	1	0	0
1104	GEIDAM	MATAKUSKUM	217	1	217	1	5	4	0	Classroom Management	1	1	1	1
1105	GEIDAM	ALHAJIRI PRI SCH	149	2	75	2	4	2	0	Good Communication	1	1	0	0
1106	GEIDAM	NGALARIYA	91	2	46	2	2	0	0	Good Communication	0	0	0	0
1107	GEIDAM	FUTCHIMERAM	426	6	71	6	11	5	0	Good Lesson Plan	1	2	1	1
1108	GEIDAM	BORKO	438	5	88	5	11	6	0	Classroom Management	2	2	1	1
1109	GEIDAM	DEJINA	424	4	106	4	11	7	1	Good Communication	2	1	2	2
1110	GEIDAM	FUKURTI KASUWA	439	6	73	6	11	5	0	Classroom Management	2	1	1	1
1111	GEIDAM	FUKURTI LAWANTI	415	7	59	7	10	3	0	Good Communication	1	1	0	1
1112	GEIDAM	JILLI PRI SCH	431	5	86	5	11	6	0	Good Communication	2	1	1	2
1113	GEIDAM	DILAWA	335	4	84	4	8	4	0	Good Lesson Plan	1	1	1	1
1114	GEIDAM	JORORO 'A'	511	7	73	7	13	6	1	Classroom Management	1	1	2	2
1115	GEIDAM	JORORO 'B'	83	1	83	1	2	1	1	Good Communication	1	0	0	0
1116	GEIDAM	BURUMMA	75	1	75	1	2	1	0	Good Communication	0	1	0	0
1117	GEIDAM	MEGA PRI SCH	3447	41	84	41	86	45	0	Good Lesson Plan	11	11	12	11
1118	GEIDAM	K Z MODEL	1659	19	87	19	41	22	1	Classroom Management	5	6	5	6
1119	GEIDAM	KORIYA PRI SCH	515	7	74	7	13	6	0	Good Communication	2	1	1	2
			<b>693,075</b>	<b>7494</b>	<b>92</b>	<b>7494</b>	<b>17,327</b>	<b>9,833</b>	<b>687</b>		<b>2,523</b>	<b>2,457</b>	<b>2,418</b>	<b>2,453</b>

**Appendix: 5 Staffing Gap, Recruitment Plant by Government Day Junior Secondary School (GDJSS)**

S/ N	LGA	NAME OF SCHOOL	PUPIL ENROLME NT	NO. OF TEACHE RS	PUPIL/TEAC HER RATIO	QUALIFI ED TEACHE RS	NO. OF TEACHE RS REQUIR ED IN SCHOOL	NO. OF TEACHE RS TO BE RECRUIT ED	EXPECTE D TEACHER S TO RETIRED IN THE NEXT 4YEARS	BASIC SKILLS	Recruitment/Deployment Plan			
											202 5	202 6	202 7	202 8
1	BADE	GDJSS RAMAT	1,583	32	49	32	40	8	0	Classroom Management	2	2	2	2
2	BADE	GDJSS BABUJE	1,653	18	92	18	41	23	1	Good Communication	6	6	6	6
3	BADE	GGDJSS ZANGO I	527	9	59	9	13	4	1	Good Lesson Plan	1	1	1	1
4	BADE	GDJSS UMAR SULEIMAN	2,352	23	102	23	59	36	0	Classroom Management	9	9	9	9
5	BADE	GDJSS AZAM-KURA	157	2	79	2	4	2	0	Good Communication	0	0	0	0
6	BADE	GDJSS DAGONA	359	4	90	4	9	5	0	Good Lesson Plan	1	1	1	1
7	BADE	GDJSS BIZI	364	6	61	6	9	3	1	Classroom Management	1	1	1	1
8	BADE	GDJSS DAWAYO	135	2	68	2	3	1	1	Good Communication	0	0	0	0
9	BADE	GDJSS TAGALI	224	4	56	4	6	2	1	Good Lesson Plan	0	0	0	0
10	BADE	GDJSS USUR	183	4	46	4	5	1	1	Classroom Management	0	0	0	0
11	BADE	GDJSS SUGUM	290	2	145	2	7	5	0	Good Communication	1	1	1	1
12	BADE	GDJSS KATUZU	1090	24	45	24	27	3	3	Good Lesson Plan	1	1	1	1
13	BADE	GDJSS MUSA KAZIR	457	6	76	6	11	5	1	Classroom Management	1	1	1	1
14	BADE	GDJSS NEW MEGA	1,235	28	44	28	31	3	0	Good Communication	1	1	1	1
15	BADE	GDJSS DALAH	249	4	62	4	6	2	0	Good Lesson Plan	1	1	0	0
16	BADE	GDJSS GABARWA	249	4	62	4	6	2	0	Classroom Management	1	1	0	0
17	BADE	GDJSS MAKOSHE	48	2	24	2	1	0	0	Good Communication	0	0	0	0
18	BADE	GDJSS ZANGO II	452	5	90	5	11	6	0	Good Lesson Plan	2	2	0	2

19	BADE	GDJSS LAMIDO MUSA	828	9	92	9	21	12	1	Classroom Management	3	3	3	3
20	BADE	GDJSS GWIO KURA	186	5	37	5	5	0	0	Good Communication	0	0	0	0
21	BADE	GDJSS RAMAT	1,583	27	59	27	40	13	1	Good Lesson Plan	3	3	3	3
22	BURSARI	GDJSS DAPCHI	869	18	48	18	22	4	0	Good Communication	1	1	1	1
23	BURSARI	GDJSS BAYAMARI	250	4	63	4	6	2	0	Good Lesson Plan	0	0	1	1
24	BURSARI	GDJSS GARIN ALKALI	663	5	133	5	17	12	1	Classroom Management	3	3	3	3
25	BURSARI	GDJSS KALIYARI	162	3	54	3	4	1	1	Good Communication	0	0	0	0
26	BURSARI	GDJSS DUMBURI	120	3	40	3	3	0	0	Good Lesson Plan	0	0	0	0
27	BURSARI	GDJSS MASABA	319	4	80	4	8	4	1	Classroom Management	1	1	1	1
28	BURSARI	GDJSS JULLURI	38	5	8	5	1	-2	0	Good Communication	-1	-1	-1	-1
29	DAMATU RU	GDJSS BUNDUGARI	4023	21	192	21	101	80	1	Good Communication	20	20	20	20
30	DAMATU RU	GDJSS ALIMARAMI	2386	29	82	29	60	31	0	Good Lesson Plan	8	8	8	8
31	DAMATU RU	GDJSS BUKAR ALI	1896	25	76	25	47	22	2	Classroom Management	6	6	4	6
32	DAMATU RU	GDJSS W/IBRAHIM	1408	19	74	19	35	16	0	Good Communication	4	4	4	4
33	DAMATU RU	GDJSS NAYINAWA	3882	35	111	35	97	62	8	Good Lesson Plan	16	14	16	16
34	DAMATU RU	GDJSS KALALLAWA	103	5	21	5	3	-1	0	Classroom Management	0	0	0	0
35	DAMATU RU	GDJSS KUKARETA	65	5	13	5	2	-2	0	Good Communication	-1	-1	-1	-1
36	DAMATU RU	GDJSS MURFA	63	5	13	5	2	-2	0	Good Lesson Plan	-1	-1	-1	-1
37	DAMATU RU	GGDJSS DAMATURU	1119	11	102	11	28	17	0	Classroom Management	4	4	4	4
38	DAMATU RU	GDJSS CENTRAL	521	4	130	4	13	9	2	Good Communication	2	2	2	2
39	DAMATU RU	GDJSS NJIWAJI	518	4	130	4	13	9	0	Good Lesson Plan	2	2	2	2
40	DAMATU RU	GDJSS MODEL	219	3	73	3	5	2	0	Classroom Management	1	0	0	1
41	DAMATU RU	GDJSS POMPOMMARI	215	3	72	3	5	2	0	Good Communication	1	0	0	1
42	DAMATU RU	GDJSS DON ETEBET	209	4	52	4	5	1	0	Good Lesson Plan	0	0	0	0

43	DAMATU RU	GDJSS MADORI	202	4	51	4	5	1	0	Classroom Management	0	0	0	0
44	DAMATU RU	GDJSS MAISANDARI	169	4	42	4	4	0	0	Good Communication	0	0	0	0
45	DAMATU RU	GDJSS AHMAD SANI YERIMA BAKURA	121	4	30	4	3	0	0	Good Lesson Plan	0	0	0	0
46	DAMATU RU	GDJSS MEGA SCHOOL	748	8	94	8	19	11	0	Classroom Management	3	3	3	3
47	DAMATU RU	GDJSS HON. MAI MALA BUNI MODEL	652	8	82	8	16	8	0	Good Communication	2	2	2	2
48	DAMATU RU	GDJSS MODU MUSTPHA	580	5	116	5	15	10	3	Good Lesson Plan	2	2	2	2
49	DAMATU RU	GDJSS DIKUMARI	226	4	57	4	6	2	0	Classroom Management	0	0	0	0
50	GUJBA	G.D.J.S BUNI YADI	629	10	63	10	16	6	0	Classroom Management	1	1	1	1
51	GUJBA	G.D.J.S.S BUNI GARI	283	4	71	4	7	3	0	Good Communication	1	1	1	1
52	GUJBA	G.D.J.S.S GUJBA	101	4	25	4	3	-1	0	Good Lesson Plan	0	0	0	0
53	GUJBA	G.D.J.S.S GONIRI	120	2	60	2	3	1	0	Classroom Management	0	0	0	0
54	GUJBA	G.D.J.S.S WAGIR	125	2	63	2	3	1	0	Good Communication	0	0	0	0
55	GUJBA	G.D.J.S.S KUKUWA TASHA	56	4	14	4	1	0	0	Good Lesson Plan	0	0	0	0
56	GUJBA	G.D.J.S.S KATARKO	75	4	19	4	2	1	0	Classroom Management	0	0	0	0
57	GUJBA	MEGA I G.D.J.S.S BUNI YADI	456	6	76	6	11	5	0	Good Communication	1	1	1	1
58	GUJBA	MALAH BUKAR MEGA G.D.J.S.S BUNI YADI	350	7	50	7	9	2	0	Good Lesson Plan	0	0	0	0
59	GULANI	GDJSS Bara	372	6	62	6	9	3	0	Classroom Management	1	1	1	1
60	GULANI	GDJSS Bularafa	666	11	61	11	17	6	0	Good Communication	1	1	1	1
61	GULANI	GDJSS Bumsa	391	4	98	4	10	6	0	Good Lesson Plan	1	1	1	1
62	GULANI	GDJSS Njibulwa	208	3	69	3	5	2	0	Classroom Management	1	0	0	1
63	GULANI	GDJSS Gulani	499	6	83	6	12	6	1	Good Communication	2	2	0	2
64	GULANI	GDJSS Tetteba	171	3	57	3	4	1	1	Good Lesson Plan	0	0	0	0
65	GULANI	GDJSS Dokshi	311	9	35	9	8	-1	0	Classroom Management	0	0	0	0
66	GULANI	GDJSS Kukuwa	420	8	53	8	11	3	0	Good Communication	1	1	1	0
67	KARASU	GDJSS MAI BUKAR	444	9	49	9	11	2	0	Good Lesson Plan	1	1	1	1

	WA														
68	KARASU WA	GDJSS CENTRAL	500	10	50	10	13	3	0	Classroom Management	1	1	1	1	
69	KARASU WA	GDJSS DOLE	303	4	76	4	8	4	0	Good Communication	1	1	1	1	
70	KARASU WA	GDJSS FALMARAM	239	4	60	4	6	2	0	Good Lesson Plan	0	0	0	0	
71	KARASU WA	GDJSS GARANDA	308	3	103	3	8	5	1	Classroom Management	1	1	1	1	
72	KARASU WA	BOGO PRIMARY SCHOOL	638	5	128	5	16	11	0	Good Communication	3	3	3	3	
139	MACHINA	GDJSS MAI BUKAR	444	13	34	13	11	-2	0	Good Communication	-1	-1	-1	-1	
140	MACHINA	GDJSS CENTRAL	500	13	38	13	13	-1	0	Good Lesson Plan	0	0	0	0	
141	MACHINA	GDJSS DOLE	303	2	152	2	8	6	0	Classroom Management	1	1	1	1	
142	MACHINA	GDJSS FALMARAM	239	1	239	1	6	5	0	Good Communication	1	1	1	1	
143	MACHINA	GDJSS GARANDA	308	1	308	1	8	7	1	Good Lesson Plan	2	2	2	2	
73	NANGER E	Gov't Day Junior Sec Sch Dawasa	199	3	66	3	5	2	0	Good Lesson Plan	0	0	0	0	
74	NANGER E	Gov't Day Junior Sec Sch Chukuriwa	94	3	31	3	2	-1	0	Classroom Management	0	0	0	0	
75	NANGER E	Gov't Day Junior Sec Sch Dazigau	490	13	38	13	12	-1	0	Good Communication	0	0	0	0	
76	NANGER E	Gov't Day Junior Sec Sch Lelawari	84	2	42	2	2	0	0	Good Lesson Plan	0	0	0	0	
77	NANGER E	GDJSS Chalinno	276	2	138	2	7	5	0	Classroom Management	1	1	1	1	
78	NANGER E	GDJSS Dagare	361	6	60	6	9	3	0	Good Communication	1	1	1	1	
79	NANGER E	GDJSS Degubi	440	8	55	8	11	3	0	Good Lesson Plan	1	1	1	1	
80	NANGER E	Gov't Day Junior Sec Sch Duddaye	174	1	174	1	4	3	1	Classroom Management	1	1	1	1	
81	NANGER E	Gov't Day Junior Sec Sch G/Gambo	47	1	47	1	1	0	0	Good Communication	0	0	0	0	
82	NANGER E	Gov't Day Model Junior Sec Sch Kukuri	396	3	132	3	10	7	0	Good Lesson Plan	2	2	2	2	
83	NANGER E	Gov't Day Junior Sec Sch S/Gari	815	11	74	11	20	9	0	Classroom Management	2	2	2	2	
84	NANGER E	Gov't Day Junior Sec Sch Tikau	413	2	207	2	10	8	0	Good Communication	2	2	2	2	
85	NANGER E	Gov't Day Junior Sec Sch Dawasa	199	4	50	4	5	1	0	Good Lesson Plan	0	0	0	0	

86	NANGER E	Gov't Day Junior Sec Sch Chukuriwa	94	1	94	1	2	1	0	Classroom Management	0	0	0	0
87	NGURU	GDJSS Central	1055	32	33	32	26	-6	0	Good Communication	-2	-2	-2	-2
88	NGURU	GDJSS Girgiri	1127	28	40	28	28	0	2	Good Lesson Plan	0	0	0	0
89	NGURU	GDJSS Hausari	587	7	84	7	15	8	0	Classroom Management	2	2	2	2
90	NGURU	GDJSS Ngilewa	502	10	50	10	13	3	0	Good Communication	1	1	1	1
91	NGURU	GDJSS Nguru	215	5	43	5	5	0	1	Good Lesson Plan	0	0	0	0
92	NGURU	GDJSS Railway	544	8	68	8	14	6	0	Classroom Management	1	1	1	1
93	NGURU	GDJSS Dumsai	321	2	161	2	8	6	0	Good Communication	2	2	2	2
94	NGURU	GDJSS Majakura	208	3	69	3	5	2	1	Good Lesson Plan	1	1	1	1
95	NGURU	GDJSS Bulanguwa	315	1	315	1	8	7	0	Classroom Management	2	2	2	2
96	NGURU	GDJSS Afunori	206	3	69	3	5	2	1	Good Communication	1	1	1	1
97	NGURU	GDJSS Shuwari	225	3	75	3	6	3	0	Good Lesson Plan	1	1	1	1
98	NGURU	Galadima Maidunoma GDJSS Mega	555	8	69	8	14	6	1	Classroom Management	1	1	1	1
99	NGURU	GDJSS S.G KANURI I	190	3	63	3	5	2	0	Good Communication	0	0	0	0
100	NGURU	GDJSS ARMY BARRACK	164	4	41	4	4	0	0	Good Lesson Plan	0	0	0	0
101	NGURU	GDJSS LAWAN NGOMA	210	3	70	3	5	2	0	Classroom Management	1	1	1	1
102	NGURU	MODEL II SMART SCHOOL GDJSS	175	2	88	2	4	2	1	Good Communication	1	1	1	1
103	NGURU	MODEL II SMART SCHOOL PRIMARY	188	2	94	2	5	3	0	Good Lesson Plan	1	1	1	1
104	NGURU	MODEL II SMART SCHOOL NURSERY	62	1	62	1	2	1	0	Classroom Management	0	0	0	0
105	NGURU	GALADIMA KYARI NURSERY	150	4	38	4	4	0	3	Good Communication	0	0	0	0
106	POTISKU M	GDJSS BAZUWA	1563	27	58	27	39	12	0	Good Lesson Plan	3	3	3	3
107	POTISKU M	GDJSS BADEJO	1394	21	66	21	35	14	0	Classroom Management	3	3	3	3
108	POTISKU M	GDJSS JUMAA	463	4	116	4	12	8	0	Good Communication	2	2	2	2
109	POTISKU M	GDJSS GARBAWA	1845	13	142	13	46	33	0	Good Lesson Plan	8	8	8	8
11	POTISKU	GDJSS BULA	676	3	225	3	17	14	0	Classroom	3	3	3	3

0	M									Management				
11	POTISKU M	GDJBSVS	1345	30	45	30	34	4	0	Good Communication	1	1	1	1
11	POTISKU M	GDJSS DAKASKU	168	1	168	1	4	3	0	Good Communication	1	1	1	1
11	POTISKU M	GDJSS CENTRAL	3254	26	125	26	81	55	0	Good Lesson Plan	14	14	14	14
11	POTISKU M	GDJSS ARIKIME	3357	32	105	32	84	52	0	Classroom Management	13	13	13	13
11	POTISKU M	GDJSS CHADI	3416	33	104	33	85	52	1	Good Communication	13	13	13	13
11	POTISKU M	GDJSS DORAWA	4948	25	198	25	124	99	0	Good Lesson Plan	25	25	25	25
11	POTISKU M	GDJSS G. MAJE	293	4	73	4	7	3	0	Classroom Management	1	1	1	1
11	POTISKU M	GDJSS ATIYAYE	1150	17	68	17	29	12	0	Good Communication	3	3	3	3
11	POTISKU M	GDJSS MAIRA ISA	1484	18	82	18	37	19	0	Good Lesson Plan	5	5	5	5
12	POTISKU M	GD4JSS G. ABBA	866	9	96	9	22	13	0	Classroom Management	3	3	3	3
12	POTISKU M	GDJSS YERMARAM	6250	36	174	36	156	120	0	Good Communication	30	30	30	30
12	POTISKU M	GDJSS KARA	3841	42	91	42	96	54	0	Good Lesson Plan	14	14	14	14
12	POTISKU M	GDJSS DANBOA	755	9	84	9	19	10	0	Classroom Management	2	2	2	2
12	POTISKU M	GDJSS BURAIMA	1630	31	53	31	41	10	0	Good Communication	2	2	2	2
12	POTISKU M	GDJSS MAMUDO	1324	19	70	19	33	14	0	Good Lesson Plan	4	4	4	4
12	POTISKU M	GDJSS KWATA	1145	29	39	29	29	0	1	Classroom Management	0	0	0	0
12	POTISKU M	GDJSS NAHUTA	1499	14	107	14	37	23	0	Good Communication	6	6	6	6
12	POTISKU M	GDJSS MOI MUHD ABALÉ	1645	28	59	28	41	13	0	Good Lesson Plan	3	3	3	3
12	POTISKU M	GDJSS SABON G. LAYI	1786	21	85	21	45	24	0	Classroom Management	6	6	6	6
13	POTISKU M	GDJSS RACE-COUSE	1742	14	124	14	44	30	1	Good Communication	7	7	7	7
13	POTISKU M	GDJSS HELMA	593	11	54	11	15	4	0	Good Lesson Plan	1	1	1	1
13	TARMUW A	KICHI NGUDUWA	48	1	48	1	1	0	0	Classroom Management	0	0	0	0
13	TARMUW A	GDJSS BABBANGIDA	884	9	98	9	22	13	0	Good Communication	3	3	3	3

134	TARMUWA	GDJSS JUMBAM	221	4	55	4	6	2	1	Good Lesson Plan	0	0	0	0
135	TARMUWA	GDJSS LANTEWA	262	2	131	2	7	5	0	Classroom Management	1	1	1	1
136	TARMUWA	GDJSS BIRIRI	135	2	68	2	3	1	0	Good Communication	0	0	0	0
137	TARMUWA	GDJSS SUROKUSKO	123	2	62	2	3	1	0	Good Lesson Plan	0	0	0	0
138	YUNUSARI	GDJSS YUNUSARI	140	2	70	2	4	2	0	Classroom Management	0	0	0	0
139	YUNUSARI	GDJSS KANAMMA	124	2	62	2	3	1	0	Good Communication	0	0	0	0
140	YUNUSARI	GDJSS BUKARTI	41	1	41	1	1	0	1	Good Lesson Plan	0	0	0	0
141	YUNUSARI	GDJSS TOSHIA	57	1	57	1	1	0	0	Classroom Management	0	0	0	0
142	YUNUSARI	GDJSS GARINGADA	38	1	38	1	1	0	0	Good Communication	0	0	0	0
143	YUNUSARI	GDJSS DILALA	42	1	42	1	1	0	0	Good Lesson Plan	0	0	0	0
144	YUSUFARI	G.D.J.S.S Maimalari	427	1	427	1	11	10	2	GOOD	2	2	2	2
145	YUSUFARI	G.D.J.S.S Mayori	420	3	140	3	11	8	0	GOOD LESSON PLAN	2	2	2	2
146	YUSUFARI	G.D.J.S.S Lawanti	1375	29	47	29	34	5	0	Good Communication	1	1	1	1
147	YUSUFARI	G.D.J.S.S Kumagannam	397	5	79	5	10	5	0	Good Lesson Plan	1	1	1	1
148	YUSUFARI	G.D.J.S.S. Tulotulo	507	6	85	6	13	7	0	Classroom Management	2	2	2	2
149	KARASUWA	GDJSS JAJIMAJI	547	8	68	8	14	6	0	Good Communication	1	1	1	1
150	KARASUWA	GDJSS GASMA	377	2	189	2	9	7	0	Good Lesson Plan	2	2	2	2
151	KARASUWA	GDJSS BUKARTI	223	2	112	2	6	4	0	Good Communication	1	1	1	1
152	KARASUWA	GDJSS KARASUWA	262	3	87	3	7	4	0	Good Lesson Plan	1	1	1	1
153	KARASUWA	GDJSS WACHAKAL	469	9	52	9	12	3	0	Good Lesson Plan	1	1	1	1
154	JAKUSKO	GDJSS KARAGE	390	7	56	7	10	3	1	Good Communication	1	1	1	1
155	JAKUSKO	GDJSS DUMBARI	443	4	111	4	11	7	0	Good Lesson Plan	2	2	2	2
156	JAKUSKO	GDJSS JAKUSKO	2331	25	93	25	58	33	0	Good Communication	8	8	8	8
15	JAKUSKO	GDJSS GID GID	368	9	41	9	9	0	0	Good Lesson Plan	0	0	0	0

7														
15 8	JAKUSKO	GDJSS GWAYO	349	9	39	9	9	0	0	Good Communication	0	0	0	0
15 9	JAKUSKO	GDJSS MUGURAM	342	5	68	5	9	4	0	Good Lesson Plan	1	1	1	1
16 0	JAKUSKO	GDJSS DAMASA	225	3	75	3	6	3	0	Classroom Management	1	1	1	1
16 1	JAKUSKO	GDJSS ARFANI	150	1	150	1	4	3	0	Good Communication	1	1	1	1
16 2	JAKUSKO	GDJSS KATAMMA	225	4	56	4	6	2	0	Good Lesson Plan	0	0	0	0
16 3	JAKUSKO	GDJSS AMSHI	300	5	60	5	8	3	0	Classroom Management	1	1	1	1
16 4	JAKUSKO	GDJSS BUDUWA	239	5	48	5	6	1	0	Good Communication	0	0	0	0
16 5	JAKUSKO	GDJSS GAUYA	45	1	45	1	1	0	0	Good Lesson Plan	0	0	0	0
16 6	JAKUSKO	GDJSS KURKUSHE	170	3	57	3	4	1	0	Classroom Management	0	0	0	0
16 7	JAKUSKO	GDJSS GUYIK	176	2	88	2	4	2	0	Good Communication	1	1	1	1
16 8	JAKUSKO	GDJSS AGANA	170	2	85	2	4	2	1	Good Lesson Plan	1	1	1	1
16 9	JAKUSKO	GDJSS LAFIYA LOI LOI	238	4	60	4	6	2	0	Classroom Management	0	0	0	0
17 0	JAKUSKO	GDJSS TAJUWA	50	1	50	1	1	0	0	Good Communication	0	0	0	0
17 1	JAKUSKO	GDJSS GOGARAM	115	1	115	1	3	2	0	Good Lesson Plan	0	0	0	0
17 2	JAKUSKO	GDJSS YIM	315	2	158	2	8	6	1	Classroom Management	1	1	1	1
17 3	JAKUSKO	GDJSS JABA	60	1	60	1	2	1	3	Good Communication	0	0	0	0
17 4	JAKUSKO	GDJSS GASAMU	261	2	131	2	7	5	1	Good Lesson Plan	1	1	1	1
17 5	JAKUSKO	GDJSS DACHIA	366	4	92	4	9	5	1	Classroom Management	1	1	1	1
17 6	FUNE	GDJSS DAMAGUM II	3350	29	116	29	84	55	1	Good Communication	14	14	14	14
17 7	FUNE	GDJSS GABA TASHA	160	2	80	2	4	2	0	Good Lesson Plan	1	1	1	1
17 8	FUNE	GDJSS GUBANA	424	4	106	4	11	7	0	Classroom Management	2	2	2	2
17 9	FUNE	GDJSS VOCATIONAL	333	5	67	5	8	3	1	Good Communication	1	1	1	1
18 0	FUNE	GDJSS DOGON KUKA "A"	610	7	87	7	15	8	1	Good Lesson Plan	2	2	2	2

18 1	FUNE	GDJSS NGELZARMA	965	14	69	14	24	10	1	Classroom Management	3	3	3	3
18 2	FUNE	GDJSS NGELSHENGELE	135	2	68	2	3	1	0	Classroom Management	0	0	0	0
18 3	FUNE	GDJSS DAURA	227	5	45	5	6	1	0	Good Communication	0	0	0	0
18 4	FUNE	GDJSS DUBBOL	545	8	68	8	14	6	1	Good Lesson Plan	1	1	1	1
18 5	FUNE	GDJSS MASHIO	293	6	49	6	7	1	0	Classroom Management	0	0	0	0
18 6	FUNE	GDJSS JAJERE	760	12	63	12	19	7	0	Good Communication	2	2	2	2
18 7	FUNE	GDJSS DOGON KUKA "B"	192	5	38	5	5	-1	2	Good Lesson Plan	0	0	0	0
18 8	FUNE	GDJSS KAYERI	197	6	33	6	5	-1	1	Classroom Management	0	0	0	0
18 9	FUNE	GDJSS MARMARI	108	2	54	2	3	1	0	Good Communication	0	0	0	0
19 0	FUNE	GDJSS BINDIGI	192	4	48	4	5	1	3	Good Lesson Plan	0	0	0	0
19 1	FUNE	GDJSS KOLLERE	158	4	40	4	4	0	0	Classroom Management	0	0	0	0
19 2	FIKA	GDJSS MOI MAMA	1052	24	44	24	26	2	1	Good Communication	1	1	1	1
19 3	FIKA	GDJSS GADAKA	1743	32	54	32	44	12	0	Good Communication	3	3	3	3
19 4	FIKA	GDJSS NGALDA	330	5	66	5	8	3	1	Good Lesson Plan	1	1	1	1
19 5	FIKA	GDJSS GODOWOLI	525	9	58	9	13	4	0	Classroom Management	1	1	1	1
19 6	FIKA	GDJSS DAYA	571	4	143	4	14	10	0	Good Communication	3	3	3	3
19 7	FIKA	GDJSS MALURI	227	2	114	2	6	4	0	Good Lesson Plan	1	1	1	1
19 8	FIKA	GDJSS GASHAKA	1269	29	44	29	32	3	0	Classroom Management	1	1	1	1
19 9	FIKA	GDJSS CHANA	193	3	64	3	5	2	0	Good Communication	0	0	0	0
20 0	FIKA	GDJSS GARIN GOGÉ	736	9	82	9	18	9	3	Good Lesson Plan	2	2	2	2
20 1	FIKA	GDJSS JANGA DOLE	244	5	49	5	6	1	0	Classroom Management	0	0	0	0
20 2	FIKA	GDJSS SIMINTI	505	8	63	8	13	5	1	Good Communication	1	1	1	1
20 3	FIKA	GDJSS KURMI	208	4	52	4	5	1	0	Good Communication	0	0	0	0
20	FIKA	GDJSS JANGA SIRI	142	4	36	4	4	0	0	Good	0	0	0	0

4										Communication				
20 5	FIKA	GDJSS FIKA CENTRAL	367	6	61	6	9	3	3	Good Communication	1	1	1	1
20 6	FIKA	GDJSS GADANA	195	3	65	3	5	2	0	Good Communication	0	0	0	0
20 7	FIKA	GDJSS DUMBULWA	195	3	65	3	5	2	0	Good Communication	0	0	0	0
20 8	FIKA	GDJSS GARIN GAMJI	327	5	65	5	8	3	0	Good Communication	1	1	1	1
20 9	FIKA	GDJSS BABAJI MODEL	113	2	57	2	3	1	0	Good Communication	0	0	0	0
21 0	FIKA	GDJSS SABON LAYI GADAKA	809	10	81	10	20	10	1	Good Communication	3	3	3	3
21 1	FIKA	GDJSS KUKAR GADU	535	8	67	8	13	5	1	Good Communication	1	1	1	1
21 2	FIKA	GDJSS GARIN ABA	378	7	54	7	9	2	0	Good Communication	1	1	1	1
21 3	FIKA	GDJSS GASHINGE	274	5	55	5	7	2	0	Good Communication	0	0	0	0
21 4	FIKA	GDJSS MUBI FUSAMI	162	3	54	3	4	1	0	Good Communication	0	0	0	0
21 5	FIKA	GDJSS MAIDUWA	125	2	63	2	3	1	0	Good Communication	0	0	0	0
21 6	FIKA	GDJSS ZAMBA	78	1	78	1	2	1	0	Good Communication	0	0	0	0
21 7	FIKA	GDJSS NAHUTA GALAMO	200	2	100	2	5	3	1	Good Communication	1	1	1	1
21 8	FIKA	GDJSS DOGO ABARE	316	7	45	7	8	1	0	Good Communication	0	0	0	0
21 9	FIKA	GDJSS DADE DINKIRI	73	2	37	2	2	0	0	Good Communication	0	0	0	0
22 0	FIKA	GDJSS DAMAZAI	134	4	34	4	3	-1	0	Good Communication	0	0	0	0
22 1	GEIDA M	GDJSS KAFELA (BOYS)	1162	17	68	17	29	12	1	Good Communication	3	3	3	3
22 2	GEIDA M	GDJSS KAFELA (GIRLS)	2148	15	143	15	54	39	1	Good Communication	10	10	10	10
22 3	GEIDA M	GDJSS LAWAN KAWURI	1186	6	198	6	30	24	0	Good Communication	6	6	6	6
22 4	GEIDA M	GDJSS KELLURI	542	5	108	5	14	9	2	Good Communication	2	2	2	2

22 5	GEIDA M	GDJSS BALLE	448	3	149	3	11	8	0	Good Communication	2	2	2	2
22 6	GEIDA M	GDJSS MEGA	763	6	127	6	19	13	2	Good Communication	3	3	3	3
22 7	GEIDA M	GDJSS MODEL	547	5	109	5	14	9	1	Good Communication	2	2	2	2
22 8	GEIDA M	GDJSS LOW-COST	484	3	161	3	12	9	1	Good Communication	2	2	2	2
22 9	GEIDA M	GDJSS LAWAN KOLORI	391	4	98	4	10	6	0	Good Communication	1	1	1	1
			<b>147,715</b>	<b>1,919</b>	<b>77</b>	<b>1,919</b>	<b>3,693</b>	<b>1,788</b>	<b>92</b>		<b>447</b>	<b>447</b>	<b>447</b>	<b>447</b>

**Appendix: 6 Estimated Retirement from Primary and Junior Secondary School Workforce per Local Government (LGA)**

<b>LGA</b>	<b>PRIMARY</b>	<b>GDJSS</b>
BADE	75	12
BURSARI	37	3
DAMATURU	66	17
FIKA	122	12
FUNE	34	11
GUJBA	7	0
GULANI	27	2
GEIDAM	34	8
JAKUSKO	61	8
KARASUWA	18	0
MACHINA	4	1
NANGERE	29	1
NGURU	36	10
POTISKUM	91	3
TARMUWA	5	1
YUNUSARI	12	1
YUSUFARI	27	2
<b>TOTAL</b>	<b>685</b>	<b>92</b>